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1. Economics may best be defined as:

) the social science concerned with the efficient use of scarce resources to achieve maximum satisfaction

@ the. interaction between macro and micro considerations.
B

of economic wants.
C) the empirical testing of value judgments through the use of logic.
D) the use of policy to refute facts and hypotheses.

2. Which of the foliowing is @@e statement?
@}: The real domestic outpuf mcreased by 2.5 percent last year.
B} Unemployment was 6.8 percent of the labor force last year.

@ The price of personal computers declined fast year.
D} The general price level increased by 4 percent last year.

_¥ Which of the following is a normative staterment?
A) The temperature is high foday.
The humidity is high today.
@) 1t is too hot 1o play temnis today.
D) It will cool off later this evening.

4. The money payments made to owners of i@ labor, capitel, and entrepreneurial ability are:
A) interest, wages, rent, and profits respectively (sl =),
Bl rent, wages, dividends, and interest respectively.
rent, profits, wages, and interest respectively.
@ rent, wages, interest, and profits respectively.

5. The production possibilities curve illustrates the basic principle that:

A) the production of more of any one good will in time require smaller and smaller sacrifices of other

goods,
J) an cconomy will automatically obtain full employment of its resources.

@ if all the resources of an economy are in use, more of one good can be produced onjy if less of another

good is produced.
D) an economy's capacify to produce increases in proportion to its population size.

6. Which of the following will pof produce an outward shift of the production possibilities curve?
A) an upgrading of the quality of a nation’s human resources
B) the reduction of unemployment
} an increase in the quantity of a society's labor force
- D) the improvement of a society's technological knowiedge

7. Anation's production possibilities curve is "bowed out” from the origin because:
resources are not equally efficient in producing every good.
B} the originator of the idea drew it this way and modern economnists follow this conyention,
© C) tesolirces dfe scarce. ' o
D) wants are virtually unlimited.

Use the following to answer questions 8-10:

Answer the next guestion(s} on the basis of the data given in the following production possibilities table:

Produnction possibilifies {alternatives)
- C .. — D E

E

12 14 ]

Capital goods

Al
3
Consumer goods 0

hy -F-Fw
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5.

10.

Refer to the above table. A total output @knitg of capital goods a @upits of consumer goods:
A) s Irrelevant because the economy is tapable of producing a Jarge:iotal output.
will result in the maximum rate of growth available to this economy.
@ would involve an inefficient use of the economy's scarce resources.
D) is unobtainable in this economy.

Refer to the above table. For this economy to produce a total output of 3 units of capital goods and 13 units
of consumer goods it must:

A) achieve economic growth.

B) use its resources more efficiently thag the data in the table now indicate.

C) allocate its available resources most efficiently among alternative uses.

@ achisve the full employment of available resources.

Refer to the above table. For these data the law of increasing opportunity costs is reflected in the fact that:

A) the amount of consumer goods that must be sacrificed to get more capital goods diminishes beyond &
point.
larger and larger amounts of capital goods must be sacrificed to get additional units of consumer goods.
the production possibilities data would graph as a straight downsloping line.

D) the economy's resources are presumed to be scarce.

——F>  Use the following to answer questions 11-12:
At

11

Capital goods

o Consumer goods

Refer to the above diagram. Other things equal, this economy will achieve the most rapld rate of growth ift
A) the ratio of capital to consumer goods is mimimized.
B) it chooses point C.

it ckooses point B.
@ it chooses point 4.

Refer to the above diagram. This economy will experience unemployment if 1t produces at point:
Ay A
BY B

C) C
©5

When the price of a product increases, a consumer is able to buy less of it with a given money income. This
describes:
A) the cost effect.
B) the inflationary effect.
@ the income effect.
D) the substitution effect.
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4. In presentino the idea of a demand curve economists presume that the most important variable in
ermining the quantity demanded is: '
é} the price of the product itself.
B} consumer income.
C) the prices of related goods.
D) consumer tastes.

15. Aniperease in the price of a product will reduce the amount of if purchased because:
A) supply curves are upsloping.
B} the higher price means that real incomes have risen.
C) consumers will substitute other products for the one whose prxce has risen.
consumers substitute relatively high-priced for relatively low-priced products.

16. Which of the following will nof cause the demand for product K to change?
A) achange in the price of close-substitute product J
B) an increase in consumer incomes
C) a change in the price of K
D) achange in consumer tastes

17.  An economist for a bicycle company predicts that, other things equal, a rise in consumer incomes will
increase the demand for bicycles. This prediction is based on the assumption that:
A) there are many goods that are substitutes for hicycles.
B) there are many goods that are complementary to bicycles.
() there are few goods that are substitutes for bicycies.
@ bicycles are normal goods,

I8, A rightward shifl in the demand curve for product C might be caused by:
A{ an increase in income if C is an inferior good. ™
a decrease in income if C is a pormal good.
a decrease in the price of a product that is a close substitute for C.
a decrease in the price of a product that is complementary 1o C.

will:

-[-..__4

19. Ifthe price @’Hechnes the demand curve for the complementary product
(4 shifi to the left
B) decrease.
shift to the right.
D) remain unchanged.

'20. By an "increase in demand” we mean that :
product price has falien so consumers move down to a new point on the demand curve.
} the quantity demanded at each price in a set of prices is greater.
) the quantity demanded at each: price in a set of prices is smaliler.
r@ a leftward shif of the demand curve has cccurred.
Y
21. A leftward shift of a product supplv/ourve might be caused by:
an improvemetit in the relevant technique of production.
élﬁ a decline in the prices of needed inputs.

2\ an increase in consumer incomes,
% some firms Jeaving an industry.
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Use the following to answer questions 22-24:

Supply
S0 -~
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22. Refer to the zbove diagram. A price of $252)in this market will result in;
A) ashortage of 50 units.
B) asurpius of 50 units.

a surplus of 100 units.
2 a shortage of 100 units.

23. Refer to the above diagram. The highest price that buyers will be willing and able to pay for {00 units of
this produect is: =
A) §30.

$60.

Ty $40.

@ $20.

24. Refer to the above diagram. If this is a competitive market, price and quantity will mave toward:
A} $60 and 100 respectively.
560 and 200 respectively.
$£40 and 150 respectively.
~Dy-$20-and 150 Tespectively.

35, Aneffective price floor on wheat will:
A) force otherwise profitable farmers out of business.
result in a shortage of wheat.
6 result in a sutplus of wheat.
D) ciear the market for wheat.
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26. The larger the positive cross elasticity coefficient of demand between products X and Y, the:
A) stronger their complementariness.
B)) greater their substitutability.
smaller the price elasticity of demand for both products.
D) the less sensitive purchases of each are fo increases in income.

) a 10 percent increase in income will increase the plrchase of toys oy 20 percent.

) a 10 percent increase in income will increase the purchase of toys by 2 percent.
C) a 10 percent increase in income will decrease the purchase of toys by 2 percent.
D) toys are an inferior good.

27. ()E)pose the income elasticity of demand for toys is @ This means that:
A

28, Suppose that the price of produc@ﬁses b@percent and the quantity supplied of X increases by IS\Xf
percent. The coefficient of price elasticity of supply for good X is: T
A) negative and therefore X is an inferior good.
B) positive and therefore X 1s a normal good.
“3Y less than ! and therefore supply is inelastic.
@ more than 1 and therefore supply is elastic.

29. Suppose the supply of product X is perfectly inelastic. If there is an increase in the demand for this product,
equilibrium price: —
A) wili decrease but equilibrium guantity will Increase.
B} and quantity will both decrease.
C) will merease but equilibrium quantity will decline.
@ will merease but equilibrimm quaniity will be unchanged.

30. The main determinant of elasticity of supply is the:
number of close substitutes for the product available to consumers.
B)) amount of time the producer has to adjust mputs in response to a price change.
urgency of consumer wants for the product.
D) number of uses for the product.

31. Price elasticity of demand is generally:
@ greater in the long run than in the short run.
B) greater in the short run than in the long run.
_C) _the same in both the short min and the long.run. .

D} greater for "necessities" than it is for "luxuries.”

[S%)
I~

Which of the following is correct?
. - —_— . - - .
tf demand is elastic, an increase in price will increase total revenue.
B, If demand is elastic, a decrease in price will decrease total revenue,
[ C) If demand is elastic, a decrease in price will increase total revenue.
D) If demand is inefastic, an increase in price will decrease total revenue.
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Suppose the price elasticity of demand for bread :@ Ifthe price of bread falls by 10 percent, the
quantity demanded will increase by:
A) 2 percent and total expenditures on bread will rise.
)\ 2 percent and total expenditures on bread will fall. .~
Y} 20 percent and total expenditures on bread will fall ,/
20 percent and total expenditures on bread will rise,

)
(U8 )

w ) yi
34. Suppose the price slasticity coefficients of demand are 1.43 @ 1.11, anq 0.29 fér products W, X, Y, and
Z respectively. A | percent decrease in price wiil increase total revenue in thé Case(s) oft
A} Wand Y.
B) Yand 7.

@ X and 7.
Y Zand W.
oD

When the percentage change in price is cTeater than the resulting percentage change in quantity demanded:
A) adecrease in price will increase ease total revente.
) demand may be either elastic or inelastic,
an increase in price will increase total revenue.
DY demand is elastic.

i
P S

(VS
L

D
I
< |
36. The price elasticity of demand for beef is about 0.607 Other things equal, this means that a 20 percent
- increase in the price of beef will cause the guantity of beef demanded to:
A))} increase by approximately 12 percent.
decrease by approximately 12 percent.
C) decrease by approximately 32 percent.
D) decrease by approximaicly 26 percent.

Q} 2 e
e
37. Suppose we find that the price elasticity of demand for a product is 3.5 when its price is increased by 2
rcent. We can conclude that quantity demanded: T
@ increased by 7 percent.
B) decreased by 7 percent.
C) decreased by 9 percent.
D} decreased by 12 percent.

~ s/
; ﬂv /\P ’
38. The pruz{ f product X is reduced ﬁ’om@ 1§90 and, as a result, the quantity demanded increases from 1
N é/, 50 to 60 units. Theréfore demand for X in thxs pnce range |
o~ 7 A).has declined. L v . . . . B
B) is of unit elasticity.

15 melastic.
is elastic.

39. The price elasticity of demand of a straight-line demand curve is:
AY elastic in high-price ranges and inelastic on low-price ranges.
B) elastic, but does not change at various peints on the curve.
C) inelastic, but does not change at various points on the curve.
D) 1 atail points on the curve,

Page 6




40.

41.

44,

The price elasticity of demand for widgets is 0.80. Assuming no change in the dernand curve for widgets, a
16 percent increase in sales implies a: I E T
A) 1 percent reduction in price.

B) 12 percent reduction in price.

(C_Z 40 percent reduction in price.

D/)) 20 percent reduction in price.

A perfectlynelagti t? demand schedule:
A) rises upward and to the right, but has a constant slope.
Y can be represented by a line parallelic the vertical axis.
C) cannot be shown on a two-dimensional graph.
D) can be representegl_ by a line parallel to the horizontal axis.
~
VY ., ¥
If a firm can sell 3, 000 dmits ofproduct Aal O7per unit and 5,000 af $8, then:
A) the price elastizity of demand is 3.3. T T
B) A is a complementary good.
CY the price elasticity of demand is 2.25.
D) A 1is an inferior good.

If the demand for product X @, a 4 percent increase in the price of X -will:
A) decrease the quantity of anded by more than 4 percent.

@ decrease the quantity of X demanded by less than 4 percent, -
C} increase the quantity of X demanded by more than 4 percent.
1Y increase the quantity of X demanded by less than 4 percent.

Ifthe price elasticity of demand for a product 1@ then Mto $1.80)will:

A) increase the quantity demanded by about 2.5 percent,

B) decreasc the quantity demanded by about 2.5 percent.
increase the quantity demanded by about 25 percent.

D) increase the guantity demanded by about 250 percent.

@ Assuming competitive markets with typical SBERy and demnand cur curves, which of the foliowing statements

is correct?
) An increase in supply with a decrease in demand will result in an increase in price.
A) Anincrease in supply with no change in demand will result in an increase in pricex

: 6‘\) An increase-in supply with nochange in demand will resull in a decline in sales.¥
%))

46.

e

An increase in demand with no change in supply will resuit in an mcrease in sales.

Ifthe supply of a product decrea: decreases and the demand for that product simuitangously increases, then
/_quzhbnum T
i price must rise, but equilibrium gquantity may either rise, fall, or remain unchanged.
‘\B/) price must rise and equilibrium quantity must fall.
) price and equilibrium quantiry must both increase.
D} price and equilibrium gquantity must both decline.
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Multiple-Choice: Choose the best answer and mark your answer on the answering sheet!

1. Ahmad sold gold coins for $1000 that he bought a year ago for $1000. He says, "At least I
didn't lose any money on my financial investment.” His economist friend points out that in effect
he did iose money, because he could have received a 5 percent return on the $1000 if he had
bought a bank certificate of deposit instead of the coins. The economist's analysis incorporates
the ideaof: |

{ A¥opportunity costs

(B) marginzl benefits that exceed marginal costs.

C) imperfect information,
D} nermative economics.
2. Mongy is not an economic resource because:

maoney, as such, 18 not productive.
} idle money balances do not earn interest income.
(C) the terms of trade can be determined in nonmonetary terms.

(D) money is not a free gift of nature.

/5. The production possibilities curve illustrates the basic principle that:
(A) the production of more of any one good will in time require smaller and smalier sacrifices
of other goods.
(B) an economy will automatically cbtain full employment of its resources.
»if all the resources of an economy are in use, more of one good can be produced only if
less of another good is produced,
{D) an economy's capacity to produce increases in proportion to its population size.

4, Which of the following will not produce an outward shift of the production possibilities curve?
(A) an upgrading of the quality of a mation’s human resources
@; the reduction of unemployment
(CY an increase in the guantity of a society's labor torce
(D) the improvement of a society's technological knowledge
Answer the next five questions {5-9) on the basis of the data given in the following production
possibilities table:
| | Production Possibilities |

:

B A | B C | D F
Capital goods 5 4 3 2 i 0 |
Consumption goods | 0 3 9 2 | 14 15 ]

5. Refer to the above table. If the economy is producing at.production alternative C, the

" opportutiity cost of the tenth unit of consumer goods will be: \
(A) 4 units of capital geods. : fg b e
(B) 2 units of capital goods. aﬁ &

{C} 3 units of capital goods.
@1/3 of a unit of capital goods.

6. Refer to the above table. As compared to production alternative D, the choice of alternative C
would:

@’tend to generate a more rapid growth rate,

(B) be unattainable

(C) entail unemployment.

(D) tend to generate a slower growth rate.

=




7. Refer to the above tabie. A total output of 3 units of capital goods and 4 units of consumer
goods: :
(A} is irrelevan? because the economy is capable of producing a larger total output
(B) will result in the maximum rate of growth available to this economy.
would involve an inefficient use of the economy's scarce resources.
{D) is unobtainable in this economy.

8. Refer to the above table. For this économy to produce a total output of 3 units of capital goods
and 13 units of consumer goods it must:
achieve economic growth.
{B) use its resources more efficiently than the data in the table now indicate.
(C) allocate its available resources most efficiently among alternative uses.
(D) achieve the full employment of available resources. '

9. Refer to the above table. For these data the law of increasing opportunity costs is reflected in
the fact that:

(A) the amount of consumer goods that must be sacrificed to get more capital goods

~ diminishes beyond a point.
@ larger and larger amounts of capital goods must be sacrificed to get addztlonal units of
consumer goods.
(C) the production possibilities data would graph as a straight downward-sloping line.
(D) the economy's resources are presumed o be scarce,

A0, When entering a building, Samar diverts her path to go through an open door rather than
make the physical effort to open the closed door that is directly in her path. This is an example of:
{(A) irrational behavior,
(B) a lazy person.
marginal benelit-marginal cost analvsis,
{D) programmed learning.

11, The study of economics is primarily concerned with:
{A) keeping private businesses from losing money.
(B) demonstrating that capitalistic economies are superior to socialistic ecenomies.
@choices that are made in seeking to use scarce resources etficiently.
(D) determining the most equitable distribution of society's output.

/19 Mal ginal costs exist because:
the decision to produce more of sorne product means the sacrm(,e ot other products.
(B) wants are scarce relative to resources, :
(C) households and businesses make rational decisions.
(D)-mest decisions-do not involve sacrifices 6t tradsotTs.

3. Economic theories:
(A) are useless because they are not based on laboratory experimentation.
which are true for individual econemic units are never true for the economy as a whoied
;)\ re generalizations based on a careful observation of facts.
(D) are abstractions and therefore of no application to real situations. ]

14, Which of the following is a normative statement’?
{A) The temperature is high today.
(B) The humidity is high today.
T} It is too hot to play tennis today.
(D) It will cool off later this evening.

%
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15. "If you leave a football game at the end of the third quarter, you will avoid traffic and get
home more quickly. Therefore, everyone should leave the game early " This illustrates the:
(A) moral hazard problem.
(B) adverse selection problem.
(C) faliacy of limited decisions.
fallacy of composition.

16. The concept of economic efficiency is primarily concerned with:
(A) the limited wants-unlimited resources dilemma.
(B} considerations of equity in the distribution of wealth.
obtaining the maximum output from available resources.
) the conservation of irreplaceable natural résources:

17. An, "increase in efficiency” suggests that an economy:
has moved from a point outside of, to a point on, its production possibilities curve.
(B) has decided to produce more consumer geods and fewer capital goods. '
(C) has moved from a point on, to a point inside, its production possibilities curve.
@ is able to get more output from a given amount of inputs.

18. The process of producing and accurnulating capital goods is called:
(A) money capital.
(B) depreciation.
¥investment.
(D) consumnption,

19. A market:
(A) reflects upward sloping demand und downward sloping supply curves.
(B} entails the exchange of goods, but no1 services,
@ is an institution that brings togetler buyers and sellers.
(D) always entails face-to-face contact benween buyer and seller,

20. When the price of a product increases, a consumer is able to buy less of it with a given money
income. This describes:
{A} the cost effect.
B) the inflationary effect.
6the income effect.
(D) the substitution effect,

/2/1. An increase in the price of a product will reduce the amount of it purchased because:
(A) supply curves are upward sloping. e T v
- ~{B)-the-higher-price-means that real incomies have visen.”
@.consumers will substitute other p‘mduéﬁs for the one whose price has risen.
(D) consumers substitute relatively high-priced for refatively low-priced products.

%2?2. A rightward shift in the demand cupve for product C might be caused by:
(A) an increase in income it C is an inferior good. -
(B) a decrease in income iIf C 15 a normal good.
() a decrease in the price of a product that is a close substitute for C.
@a decrease in the price of a product that is complementary to C.

23. Which of the following will not cause the demand for product K to change?
{A) a change in the price of close-substitite product J
{B} an increase in consumer incomes
{O) a change in the price of K
(D) a change in consumer tastes
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24, "When the pmce of a product rises, consumers shift thelr puruhases to other _products whose
prices are now relatively lower." This statement describes:
(A) an inferior good.
(B) the rationing function of prices.
sthe substitution effect.
(D) the i income effect.

25 A recent study found Lhat dn iricrease in the sales tax on beer (and thus an increase in the price
of beer) would reduce the demand for cigarettes. We can conclude that:
(A) beer and cigarettes are substitute goods.
beer and cigarettes are complementary goods
(C) beer is an inferior good.
(1) cigarettes are an inferior good.

26. An economist for a bicycle company predicts that, other things equal, a rise in consumer
incomes will increase the demand for bicycles. This prediction is based on the assumption that:
(A) there are many goods that are substitutes for bicycles.
(B) there are many goods that are complementary to bicycles.
there are few goods that are substitutes for bicycles.
(%bicycles are normal goods.

7. "in 1994 Ford secld 500,000 Escorts at an average price of 57,200 per car; in 1995, 600,000

" Escorts were sold at an average price of $7,500 per car." These statements:

-

(A) suggest that the derand for Escorts decreased between 1994 and 1995.

(B} imply that Escorts are ai inferior good.

&) suggest that the demand for Escorts increased between 1994 and 15995,

(D) constitute an exception to the law of demzmd in that they suggest an upward sleping
demand curve,

{/Hi The law ol supply:
@ reflects the amounts that producers will want to otter at BdEh puce in a series of prices.
(B) is reflected in a downward sloping supply curve.
shows that the relationship between producer revenue and quantity supplied is negative.
(D) reflects the income and substitution effects of a price change. -

29, The relationship between quantity supplled and price is and the relationship between
quantity demanded and price is
irect, inverse
(B) inverse, direct
(C) inverse, inverse
(D} direct, direct

30, Piizylocation of the supply curve of a product depends on;
the technology used to produce it.
(B) the prices of resouirces used in its productxon
(C) the number of sellers in the market. .

@al of the above. .

31. The price elasticity of demand coefficient indicates:
O buyer responsiveness {o price changes.
(B) the extent to which a demand curve shifts as incomes change.
(C) the slope of the dernand curve.
@ow far business executives can stretch their fixed costs,




Bread

-0 1 2. 3 4
Tractors
32. Refer to the above diagram. This production possibilities curve is coustructed so that:
(A) resources are presumed to be perfectly shiftabie between bread and tractors.
{B) the opportunity cost of bread diminishes as more bread is produced.
(C) the opporturiity cost of tractors diminishes as more bread is produced.
@ the opportunity cost of both bread and tractors increases as more of each is produced.

33. Refer to the above diagram. Starting at point A, the opportunity cost of producing each
successive unit of tractors is:

{A) a constant 2 units of bread.

{872, 4, 6, and 8 units of bread.

{C) 8§, 5, 4, and 2 units of bread.

(D) the reciprocal of the output of tractors.

//34 Ifa_firm can sell 3,000 units of product A 2t $10 per unit and 5,000 at $8, then:

(A the price clasticity of demand is 0.44. 2¢ w»c . 5-/57
(B) ~\ isa mmplcamnmw nood e

(D) A is an mfanor good.

/5 If the price elasticity of demand for a product is 2.5, then a price cut hom $2 00 to $1.830 will:
@mcrease the quantity demanded by about 2.3 percent. e W
(B) decrease the quantity demanded by about 2.5 percent, v
(€] increase the quantity demanded by about 25 percent.
(2) increase the quantity demanded by about 250 percent.

/36. Price floors and ceiling prices:
(A) both cause shortages.
(B} both cause surpiuses ...... .
(C) cause the supply and demand curves to shift unt: ethbnum 15 estab 1shed
@ interfere with the ratlonmg function of pr1ces

37. An effective price floor will:
( A)'force some firms in this industry to go out of business.
Presult in a product surplius, :
(C) result in a product shortage,
(D) ciear the market.

38. Which of the following is a fundamental characteristic of the market system?
@propeny rights
(B) central planning by government
{C) altruistic behavior
(D) government-set wages and prices

-, 6



39. In which of the following mstances is the effect on equilibrium price mdetennmate that is,
dependent on the magmtude of the shifts in supply and demand'? :
demand rises and supply rises
(B) supply falls and demand rémains constant
(C) dernand rises and supply falls ,

{D) supply rises and demand falls o )( v -

40. Suppose the price elasticity coefficients of demand ar1.43; 0.67, 111, and 0.29 for products
W, X, Y, and Z respectively. A 1 percent decrease in price will increase total revenue in the |
case(s)of ‘ ' ‘ o

AYWand Y.

(B) Y and 7.

(Cy X and 7.

(D} Z and W.

41. If the money income of a consumer decreases and, as a result his or her demand for prodllct
X increases, product X is:

a normal good.

(B) a complementary good

(C) a substitute good.

{D) an inferior good.

(2. Assume the demand for a product is perfectly inelastic. If government establishes a price floor

that ig $2 above the equilibrium price, the resulting: '
(A) shortage wili be greater the more elastic the supply.
(B) shortage will be greater the less elastic the supply.
{C) surplus will be greater the more elastic the supply.
{17 surplus will be urcater the Jess efastic the supplv. -

43, Which of the tollowing is net characteristic of the demand for a commodity that 1s elastic?
(A) The relative change in quantity demanded is greater than the relative change in price.

(B} Buyers are relatively sensitive to price changes.
(C) Total revenue declines if price is increased. &
@The elasticity coefficient is less than one. T
Price (k) Demand {tennes per Supply (tonnes per 1
annumj annun)
1 1000 400
2 500 5003
3 200 500
1 T T p
5 &00 500
B 500 S0
7 403 100G
g 300 1100

7 44. In the table above what would be the new equilibrium price if the government imposed a tax
of £2 per unit on this good?
@) £4
(B) £5
(G g6

-
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z@ . If the income elasticity of demand for lard 1s -3.00, this means that:
(A) lard is a substitute for butter.
@& lard is a normal good.
"Ylard is an inferior good.
(D) more lard will be purchased when its price falls

46. The larger the pasitive cross elasticity coefﬁclent of demand between products X dnd Y, the
(A) stronger their complementariness.
greater their substitutability.
(C) smaller the price elasticity of demand for both products.
(D) the less sensitive purchases of each are to increases in income.

Total revenue

L2 3 4 5 6 7 8§
Quantity demanded
/;47 Suppose that the above total revenue curve is derwed from a pamcular linear demand curve.
That /demand curve must be:
inelastic for price declines that increase quantity demanded from 6 units to 7 units.
(B) elastic for price declines that increase quantity demanded from 6 units to 7 units. - o
{C)-inelastic for prlce increases that reduce quaritity démanded from 4 units to 3 units. |
(D) elastic for price increases that reduce quantity demanded from 8 units to 7 units, J

/{/8 The more time consumers have to adjust to a change in price:
Jthe smaller will be the price elasticity of demand.
@ the greater will be the price elasticity of demand.
(C) the more likely the product is a normal good,
{13} the more likely the product is an inferior good.

I'd

49. Which of'the following generalizations is not corvect?
(A) The larger an item is in one's budget, the greater the price elasticity of demand.
(B) The price elasticity of demand is greater for necessities than it is for luxuriess,
(C) The larger the number of close substitutes avaliable, the greater will be the price elasticity
of demand for a particular product.
(D) The price elasticity of demand is greater the longer the time period under consideration. ;

'




50. If quantity demanded is compietely unresponsive to price changes, demand is:
@/) perfectly inelastic
(B) perfectly elastic
(C) relatively inelastic
(D) relatively elastic

51. The main determinant of elasticity of supply is the;
(A) number of close substitutes for the product available to consumers.
B) amount of time the producer has to adjust inputs in response to a price change.
) urgency of consumer-wants for the product.
(D) number of uses for the product.

//52 If the demand for farm preducts is price m(—:!astic & good harvest will cause farm revenues to:
{43 increase, N kb
(B) decrease. i_:‘l S/ &
(C) be unchanged. '
{D) either increase or decrease, depending on what happens to supply.

. 53. The total-revenue test for elasticity:
(A)is equaliy applicable to both demand and supply.
(B} does not apply to demand because price and quantity are inversely related,
@ does not apply to supply because price and quantity are directly related.
{D) applies to the short-run supply curve, but not to the long-run supply curve.

/5_4. The elasticity of demand for a product is likely to be_greater;
(A) if the product is a necessity, rather than a luxury good.
(R) the greater the amount of time over which buvers adjust to & price change.
{C) the smaller the proportion of one’s income spent on the product.,
(DY the siabler the number of substitnie products oy siluble. 5.

33 We would expeet:
(A} the demand for Coca-Cola to be less elastic than the demand for soft drinks in general.
{® the demand for Coca-Cola to be more elastic than the demand for soft drinks in general.
(C) no relationship between the elasticity of demand for Coca-Cola and the elasticity of
demand for soft drinks in general.
(D) none of the above to hold true.

-l




Price

(Quantity

- 56. Refer to the above diagram. A government-set price floor is best illustrated by:
{A) price A.
{B) quantity E.

(Chprice C.

{D) price B.

57. Refer to the above diagram. A government-set maxinmum permissible interest rate is best
lustrated by:
"~ (A) price B.
{B) quantity E.
(C) price C.
@ price A

38, Refer w the ubove diagram. Rent controls are best ilustraied by:
{A)price A,
{B) quantity E.
(C) price C.
{D) price B.

59. Refer to the above diagram. A government price support program to aid farmers is best
llustrated by:
(A) quantity E.
price C.
o ©price A
(D) price B.

60. Refer to the above ciagram. A government-set price ceiling is best illustrated by:

(Apprice A.
(B) quantity E.
(C} price C.
(D) price B.

(Good Luck
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Part i Mmtspﬂe Choeices (2.5 points each)
Choose the one alternative that best completes the statement or answer the question.

1. Which one is not a factor of production:
(A) Labor
(B) land

) ] Moneyv”

(D) Capital

2. The two general types of economic systems that exist today are:
{A) Market systems and capitalism.
{B) Socialism and central planning.
arket systems and command svstems./
(D) Laissez faire systems and pure command systems.
3. If a price ﬂoom"e the equilibrium price is imposed (=i )by government in a market S|
(A) Shortages of the commodity (i=ba)will appear (Lekd)
(B} The guantity demanded will exceed () the quantity supplied
BE[\The quantity supplied will exceed the guantity demanded
(D} The free-market equitibrium price and quantity will be realized

4. Capital goods, as economists use the term
@15 the money the firm spends to hire resources
{B) refers to things that have already been produced that are in turn used to produce other goods and ser\ncest//
(C) refers to the process by which resources are transformed {J»3%) into useful forms
(D} is money the firm raises from selling stock

5. Asvyourincome decreased, the demand for X increasés, the Xis 1\ K
{(T&Y an inferior good v \b Cre 7/
{B} anormal good
(C) aluxury good
(D} an income-neutral good

6. When we move along the supply curye of good X,
(A} Price of good X changé only
(B) Quantity demand of goodX changes only ¢+
f'(jfhuahtity supply of goodX changes only
(D} Income does not change B

)/(7 Wthh of the following is a positive statement?
A) My economics class should last for tivo terms because it is my favorite class
(B) The government must lower the price of a pizza so that more students can afford to buy it {¢1o4l e i),
ng‘ he best level of taxation is zero percent because then people get to keep everything they earn.
@* n increase in tuition (fssdsdl o 0l will cause fewer students 1o apply to college.

&. The fundamenta!l problem of economics is:
(A) To establish a democratic political framework (L)) for the provision of social goods and services.
(B} The establishment of prices that accurately {(£x) reflect the relative scarcities of products and resources.
TCLThe scarcity of productive resources relative to economic wants.
{D) To achieve a more equitable distribution (U= & 357} of money income in order to mitigate poverty { s Je Ciisdll

Al




9.' The straight-line production possibilities curve implies
{A} Decreasing opportunity cosis
{B) Increasing opportunity costs
“{CH Constant opportunity costs

(D} None of the above is correct S
10. The absolute value ({ilkal Llly of the short-run elasticity of demand for bread has been estimated for 0§15. tts long-
run elasticity of demand is """"
(A} uncertain without more information
@more than 0.15
€) less than 0.15

(D} 0.15

11. A barber {3%>) raises the price of haircuts and finds that the volume of business declines. This indicates:
(A) A decrease in demand. ' :
(B} an increase in demand ,,
a decrease in quantity demanded
(D) an increase in quantity demanded

Al2. Which of the following statements about the priceLelasticitv of dem?mi? is true?
@long a linear demand curve, the price elasticity of demand increases as price falls
(B} Given a vertical demand curve, the price slasticity of demand is equal to infinity at every price.
(C) Given-a horizontal demand curve, the price elasticity of demand is equal to zero for every output,
{D) Along a linear demand curve, totai revenue is maximized when the price elasticity of demand equals 1.

+ 13. In the circular flow modei:
77& (A) Households are buyers of resources. -
Businesses are sellers of final products.
C) Households are sellers of final products.
@There are real flows of goods, services, and resources, but not money flows,

' 14. The branch of economics that examines the functioning of aggregate economy is
{A) positive economics T
- {B) normative economics
acroeconomics
(D) microeconomics

15. A decrease in demand for cameras would likely be caused by
(A) an increase in the price of a substitute good
(B} adecrease in the price of cameras
. n increase in the price of a complementary good *
(D) anincrease in the price of cameras '

16. The demand for textbooks is price inefastic. Which of the following would explain this? i
(A) Many alternative textbooks can Be used as substitutes. :
(B} Students have a {ot of time to adjust to price changes
(C) Textbook purchases consume a large portion of most students’ income, T

he good is a necessary good

]
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17. Suppose the supply curve of good X is perfectly elastic. If there is an increase in demand for good X, then the /’

_T

eqguilibrium price:

{A} The equilibrium price and quantity will both increase ﬂt\ / e
The equilibrium price will remain unchanged but equilibsium quantity wil_l'incréase , % Sl b

{C) The equilibrium price will increase but equilibrium guantity wiil unchanged /

(D) The equilibrium price and guantity will both decrease. = %,5

18. If the absolute value of the price elast1c1ty of demand for a product is equal ta 0.5, then a 10 percent decrease in
price will B
Increase quantity demanded by 5 percent & g > £ X
{B) Decrease quantity demanded by 5 percent ' O
{C) Increase quantity demanded by 0.5 percent
(D) Decrease quantity demanded by 0.5 percent : ' Ca

19. Refer to the figure; the production is currently operating at Point A. The hest expianatlon i
for this is that , .
(A) the economy has very poor technoiog\/
the economy's resources are being used inefficiently
(C) the economy has very few resources
(D} the economy operates as an efficient market

. Capital goods
7

e

20. Anincrease in excise taxes on cigarette will ‘ Consumer goods
{A) Increase the supply of cigarette through movement along the supply curve 1o the right
(B} Increase the supply of cigarette through shifting the supply curve to the right
C) Decrease the supply of cigarette through movement along the supply curve to the left
( (D)iEDecrease the supply of cigarette through shifting the supply curve to the left

Part B: Essay Questions (g guestions, 50 points in J: tal) -
- Write your answer in the paper provided. Show your calculations and justifications to your answer

Question #1 (6 points)

Starting from an equilibrium condition for fish, suppose that there is an announcement (=M=t} that fish decreases
cholesterol (J i J), Explain its effect on equilibrium price and quantity in the fish market. Draw a graph which
demonstrates {z=3) your answer,
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Question #2 (15 points)
Consider the market for Pizza. The figure below shows how many Pizza consumers demand and how many Pizzas firm

supply at different prices. Given this information, answer the following questions

’ D
Y T 7 VN # R0
R, Quantty A o
A. Determine the equilibrium pricé and q‘gantity? (2points) e

B. Suppose that government imposed a price ceiling of $7.5, would ther.e be a shortage or.a surplus at this
price? Why? How much is the size of this shortage or surplus? (4points)

.‘/&S\'\J/{‘“?z ok 5. 5., D camte. Qc?i} s-:%b\
ke 3\!\_.?4"{“%2»_.@

T’\f\-ﬁ.”«( W\\( b

C Calculate the mldpomt price elastacuty of demand (Ey) between the equiiibrium price and the price of $7’ 5.
s the demand efastic or inelastic? (Spoints)

32.‘:" o QL{Q ;;7-&(') TRt 4.2............:‘#
,,._-"“_'_'—__-_‘_—__-' \ —— . - - -
320 242 CFg = n ok elask'¢

D. Suppose that population growth increases then show its effect on demand, supply, equilibrium price, and

~ equilibrium q ua ntity of?@pomw)

Demand ;AQ rEASC

SUPply / P

Equ:hbnum price: ;Q CLEeS ¢ ©
%

* Equilibrium quant:ty




Question

Consider the following possible combinations of T-shirts and CDs that

could be produced per year. *’L A - - f?‘
: - R d ]
Alternative T-shirt CDs Opportunity i : iy
cost of one ot Bl { I e
more T-shirt - ' 5
= - JE o ; veeifdny Wi S G-I
A 0\ 105 N —
B 10 J, 100 Lyl =04 7 L R AL
C 20 | \ d - 1 // _ X Eranse
30 70\{r [ " N Aol A
D 230 € | oA\ 70¢ 4 - / | \‘\/ R w?
o ool d =7 e NS
F 50 W/ 0V "“i 7 R B e B A B o
T - fbd e b

: T "f.:? 75 3= Mas b
A. Draw the productlon possibility curve (PPC). Put T-shirt on the horlzcntal axis (Wl 52<) and CDs on the
vertical axis. (3 points)
B. Complete the above table by calculating the opportunity costs of producing more T-shirts. (4points)

C. If the society is currently producing at pomt E What is the opportumty cost of producing one more CDs?
LA
Show your answer (3points) -

& C D ?3"‘\"9

D. Suppose that the technology used in producing T-shirt improved, while {Liy) that of the CDs does not change.
Draw a possible new production possibility curve on the same picture showing the eﬁ‘ct of the change in
technology. (3points)

s ‘Nﬁvgg echaalz ;7 .- é?»‘.:a.wf»_.s.{. e NG
f}f@@jms‘;ﬁv ZO EXEN B Lo Ao et 4
3 SRRV Y A RV W \ff...C VoS

. p?é ") 1 "‘é’ S . » (s ; -
l.;.l:\v’{\:‘:%:l'll. R LR AL E "R RLTEY & CEPPIRT PRI RIYY, PETEYS /¥ CRPPFRLY -

E. Explain why the society cannot produce a combination of 40 T-shirts

4 70 CDs. (2points)

A Canse. FoXem k. (\‘4-“"‘. N £5 TRV PP Y e hahl ..o focseak.,. S Y T
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Question #4 (14 points)

Consider the following combinations of prices and quantities of shoes:

Price of shoes | Quantity of shoes | Total Revenue
T 20. /26 4525
L_B 40 N 22 g Ha
60 18 loR =

80 14 Tk
/100 [ 10 | o= o
W 120 s 6 - 20

A. Calculate the total revenue TR for each price level. (3 points) R '
B, Calculate the price eiastscvty of demand when the price of shoes increases from $20 to 540 (usmg point
© elasticity). (4 points) o _

A = BT L P, -0
RarA, Pz P,

O L SRR
0026 = da+2s S

C. Calculate the price elasticity of demand when the price of shoes increases from $100 to $120 Lus«mg pomt |
elasticity). (4 points) .

E—fj = @m““@\ A {)1’ ,ﬂ..p‘

> B 74 Do
Lg-«-;{. !2_1_{3‘
= £ - to L 2> —~ loo ol L o 0%
e -D.26 - ‘

L - 12 = i, y
6« » \2= ¢ (o= | : e LSt

D. What happens to total revenue as price increases? (3 points)
%f‘*\i prilce Tntrese from 25 k2 Us e "je“‘/i a s

tb‘\’e?('s‘-‘&'f‘-(_ S A/l f‘h{ p"r“:—( Jchese /E\ﬁ‘i‘ \'\C«rf——&!‘"(
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Use the following to answer question 1:

Total revenue

NN =

$20 \_‘""‘

18| " ‘

1 4 | )

’ \ W\ e.S L )

14 a)\

12 \\

. \

10 \\\

: é\

6 \ L= P S

V) \
4 TR
1 2 3 4 5 \‘6 7 8 _
Ny

Quantity demanded

curve must be:
A) inelastic for price declines that increase quantity demanded from 6 units to 7 units.

@ elastic for price declines that increase quantity demanded from 6 units to 7 units.
() inelastic for price increases that reduce quantity demanded from 4 units to 3 units.
D} elastic for price increases that redice guantity demanded from 8 units o 7 units,

PSupposc that the above total revenue curve is derived from a particular linear demand curve. That demand

2. Economics may best be defined as:
J A) the interaction{dJ=15) between macro and micre considerations.
B) the use of pelicy to refute facts(u=ay) and hypotheses.
C) the empirical testing of value judgments through the use of logic.
the social science concerned with the efficient use of scarce resources to achieve maximurmn satisfaction

of economic wants.
-
3. An hypothesis is:
v A) also known as a principle or law.
B) atentative(=#3<), untested statement of possible cause and effect.

€} the same as a normative statement.
- a fundamental truth that all economists accept.

The term "ceteris paribus” means: _
that if event A precedes(G:) event B, A has caused B.

g
(BY other things equal.

C) prosperity(Jla23l) inevitably(bda) follows recession.
D) that economics deals with facts, not values.
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5. Microeconomics:
A} is not concerned with details, but only with the overall "big picture” of the economy.

B) describes the aggregate flows of output and income. 7~
C) is the basis for the "after this, therefore because of this" fatlacy.
@ is concerned with individual econemic units and specific markets. gy

6. A normative statement is one which:
is based on value judgments,
B) is based on the !aw of averages,
C) pertains(w (-5} onfy to microecononiics.
D} pertains only to macroeconomics.

@ The "fallacy of compaosition" states that:
A) the anticipation(ed% of a particular event can affect the nature or compos;txon(uﬁ ) of that event

when it occurs.
B} because event A precedes event B, A is necessarily the cause of B.*-
C) what is true for the individual must necessarily be true for the group. A
because economic systems are comprised(«) of so many diverse economic units economic faws are

necessarily inexact.

8. An "increase in efficiency” suggests that an economy:
is able to get more output from a given amount of inputs.
B) has moved from a point outside of] to a point on, its production possibilities curve. I

C) has decided to produce more consumer goods and fewer capital goods 4
D)} has moved from a point on, to 2 point inside, its production possibilities curve. ™
’ er ¢ W et Q"\‘
. The money payments made to owners of land, labor, capital, and entrepreneunal ability are:
{_ A\ interest, wages, rent, and profits respectively(Assl).
y CE‘;)L/remt, profits, wages, and interest respectively.
Cl-rent, wages, interest, and profits respectively.
D} rent, wages, dividends, and interest respectively.

10. Unemployment and/or productive inefficiencies:
A) can exist at any point on a production possibilities curve. =

5} yare both illustrated(3=5 3=} by a point inside the production possibilities curve.c~
cause the production possibilities curve to shift outward. &~
D) are both illustrated by a point outside the production possibilities curve. &

Use the following to answer question 11

Answer the next question on the basis of the data given in the following production possibilities table:

Production possibilities (alternatives)
' E

A B €; D E
Capital goods 5 4 31 2 1 0
0 5 2 5

Consumer goods 9 14 1

_ Refer to the above table. If the economy is producing at production alternative C, the opportumty cost of
" the tenth unit of consumer goods will be: -

A) 4 units of capital goods. . 3 ~2
B) 2 units of capital goods. /J}_:_,__... — ——
€) /3 of a unit of capital goods. . \
@ 3 units of capital goods.
2o e o A
[ e



13.

The law of increasing opportunity costs is reflected in 2 pmductxon “pOSSJDl]ltIBS curve that is:

e R e

A) an upslopme strasght Titrer—

B} convex to the origin.

C) adownsloping straight line.
‘concave to the origin.

Ifan economy is operating inside its production possibilities curve for consumer goods and capital goods,

it;
A) can only produce more consurner goods by producing fewer capital goods. ¢
B) must improve its technology to produce more output. &
C) can only produce more capital goods by producing fewer consumer goodsy~
(87 can produce more of both consumer goods and capital goods by using its resources more efficiently,,

price and quantity demanded are inversely related. ¥~

14. The law of demand states that: ‘
y : ; . TN

5.

o

&)

i 4 .

18.
v

19.

B) consumers will buy more of a product a4 high prices than at low pricesf

C}) price and quantity demanded are directly related.
D) the larger the number of buyers in a market, the lower will be product price.

"When the price of a product rises, consumers shift their purchases to other products whose prices are now

rejatively lower." This statement describes:
A) the income effect.
B) aninferior good.

C) the rationing function of prices.
the substitution effect.

an increase in income if C is an infarior good.

a decrease i income if C is a normal good.
a decrease in the price of a produet that is complementary to C.

D} adecrease in the price of a product that is a close substitute for C.

&rwhtward shift in the demand curve for product C might bc causcd by:

Which of the following will »ot cause the demand for product K to change'r‘

A) achange in consumer tastes
a change in the price of K
C) achange in the price of close-substitute product J

D} an increase in consumer incomes

A normal good is one; 2
(A} the consumption of which varies directly with incomes.)”” ] \
B) whose demand curve will shift lefiward as incomes rise.S<_ f”—"-
Aan

C) whose amount demanded will increase as its price decreasesy.
D) whose amount demanded will increase as its price increases. &,

The law of supply indicates that:

A) producers will offer more of a product at low prices than they will at high prices.
producers will offer more ofa product at high prices than they will at low prices. L~

v - ; . ; .
C) consumers will purchase less of a good at high prices than they wiil at low prices.

20.

D) the product supply curve is downsloping.

An improvement in production technology will: Q
A) increase equilibrium price.~~ ]

B) shift the supply curve to the left, ™

C) shift the demand curve to the left™_

Page 3



V4 @ishiﬁ the supply curve to ihe right.

21

1N
|01

23.

25,

[f there is a shortage of product X:

(&P the price of the product will rise. 7

B} fewer rescurces will'be allocated to the production of this good 4~
C) the supply curve will shift to the left and the demand curve to the right, eliminating the shortage. Ao

D)) the price of the product will declinesk .

The basic formula for the price elastisity of demand coefficient is:
A} absolute decline in quantity demanded/absolute increase in price. ) N

B) percentage change in price/percentage change in quantity demanded. §
C) absolute decline in price/absolute increase in quantity demanded. /
/o

@ percentage change in quantity demanded/percentage change in price.

A perfectly inelastic demand schedute: - &0

Cﬁg can be represented by a line parallel(Jfs<) to the vertical axis.
B) cannot be shown on a two-dimensional graph?™
C) can be represented by a line parallel to the horizontal axis®
D) rises upward and to the right, but has a constant slopes

When the percentage change in price is greater than the resulting percentage change in quantity demanded:

A) demand may be either elastic or inelastic. 4% ~ - - 4
B) adecrease in price will increase total revenue.@ }M“ é G)\ “ar -/5'/

C) demand is elastic. %
an increase in price will increase total revenue.

Price elasticity of demand is generally:

A} greater for "necessities" than it is for "luxuries.” '
B) the same in both the short run and the long runyg.
@'grea’ter in the long rum than in the short runy”

D) greater in the short run than inthe long runﬁ(

Use the following to answer question 26:

26. The above diagram concerns supply adjustments to an increase in demand (D to D 3} in the immediate

w”

Price

Quantity

market period, the short run, and the long run. Supply curves Sy, So, and S5 apply to the:
A} short run, long run, and immediate market period respectively.

B) immediate market period, short run, and Jong run respectively.
2}~ tong run, short run, and immediate market period respectively.

D) immediate market period, fong run, and short run respectively.

Page 4



27. The larger the\EQSifive cross efasticity coefficient of demand between products X and Y, the: f
\/ A) the less sensitive purchases of each are to increases in income. £y -
B) smaller the price elasticity of demand for both products, !

C) stronger their complementaringss.
T greater their substitutability.

-28. Suppose that a 20 percent increase in the price of normal good Y causes a 10 percent decline i in the quantity
,\/ demanded of normal good X, The coefficient of cross elasticity of demand is:
@/posmve and therefore these goods are substifutes. b ; iy . y o' Lf
B) negative and therefore these goods are substitutes:4. V o k 7<‘- )
() positive and therefore these goods are complements.
@] negative and therefore these goods are complements. .

- X g5 a}»”/' 1
29. An effective price flopr on wheat will:
v/ A) force otherwise profitable farmers out of business.
‘~ B) clear the market for wheat. ™
} result in a shortage of wheat.

@resu!t in a surplus of wheat.

30 Which of the following generalizations is not correct?
AY The price elasticity of demand is greater for necessities than it is for luxuries.
B) The larger an item is in one's budget, the greater the price elasticity of f démand."
C) The price clasticity of demand is greater the longer the time period under consideration.#”
) The larger the number of close substitutes available, the greater will be the price elasticity of demand

for a particular product.

Part Two :( 40 points) ‘

For the following two cases, use a midpoints formula to calculate the coefficient for the
cross elasticity of demand and identify the type of relationship between the two products

{(show your work) (10 ponts) @~ o
2= %

\a) The quantity demand for product A increase from 30 to 40 as the price of product B
increases from $0.10 t IO to $0.20. .

Coefﬁment ?g Z E S Rei‘ationship:bluj/ bl

R~ %:wﬂm - T ® T o) J
Ty Oy~ O €. 0 7 2 '
U N CyIC k0 &30 - __L_ o 2 - ._._( > O J

(b} The quantity demand for product A remains 400 units as the price of product B
increases from $25 to §30. |

°. g j

Coefficient: () Relationship: tw el obed

- Page 5 1
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2. Given the following schedule for demand and supply of wheat per week: (10 points).

Price Quantity demanded thousands | Quantity supplied Surplus (+) of
of E—Uih-ds thousands of bushels shortage (-)

$1.50 210 40 % 20

1.40 15 35 4 7o

1.30 P20 30 L

(120 L Q5> 25 O
1.10 30, 20 ~ (0
1.00 W 35 15 - 20

shortage column.

ﬁQw ! Ef.u,_\.—\ ?f‘LL _&

i, 26

4. What is the equilibrium price? What is the equilibrium.quanti

@gilibriwm guakly - “L,E/‘\

b. Graph the demand and supply curves of wheat. Label the axes of your graph. Label
equilibrium price and quantity.

j nS‘D [~ EE &
ey, Y oy
i .)’Q -
iy
Volo ]

2

C.

(-5 wal e equd| Botisen pr e becorse ab W e RASIUNIE
Ve ot (;Lf_.,-..x[w\c\ 53 20 waiks

;K' ¥ ok chtwoamek 1§ gfeo-ter Trvan the,
Chose {Clee  Cosavol be the Q%u\\ibf |

=¥ swold imoe LLaw twe q,-qu\lﬁ\*

j {.ee ﬁf.r__\{"-'\f’fh i §;5L\Q (b‘ﬂe Lwak M_ q’
oS ¥ oy " i) 5

3. How would the following change in price affect total revenue? That is, would total
revenue increase, decline, or remain unchanged? (10 points) :

5 L\,&_%Ec"{)
[

a. Price falls and demand is inelastic.

o

b. Price rises and supply is elastic.

A o

s

ey U\ TRW(&Q

1 R/[\—:} tacy CogeE

Page 6

—

7Fill in the surplus —

Tg ‘ﬁmﬁd 'i—%c

i 4 | 1
o ¥ %e T T
Why will $ 1.50 not be the equilibrium price in this market? Why not $1.007

grarplus I,

\ a~a\ R T

pe |



c. Price risgafs\and demand is inelastic.
? q\ Q i T {\ﬁj "9"-\ (ﬁ‘.ux% Q\/\MQ:'EG‘L .
I = .
4. How will each of the following changes in demand and /or supply affect equilibrium
price and equilibrium quantity in a competitive market, that is, do price and guantity

rise, fall, or remai anged, or are the answers indeterminate because they depend on
the magnitudes of the shifts? Use supply and demand diagrams to verify your answers,
(10 points)
" S Skt ko
a. Supply decreases and demand is constant. . §'&w{> 9\3 Cofve wt sl
: e . -
Q\: e [‘E?’l" y ?f\(ﬂ% fse
R a t—m-m\*:\"‘f -2 Rall
Ve - ‘v‘;&-Q(\ L?\/':‘Q vl b VT ‘:\‘-‘b'f.‘-%‘\-
- ) /( es CL&.J&P\ T\’\t Q_qlu\ \-\Lh’ : WiA,
L_ b Oo - STUR L PR ES .
1 4§ demand is cohsta X $
b. Supply increases and demand is constant. R
. - \" o
o Supply CHVe shdt to The
Q r\\ \f\,\" 'a A- - 3 \\
— ’ | 4 t Pl > ? o .
P =N Q\’\G’\i\'_\\‘"\l’ > ﬁ Sa
[ I .
Z ol ANE 7 Re 5 Ran
T NG, \‘ » TRo cle
= e S0

®

c. Demand increases and supply is constant.

. Devaonal Cuvve shibbba 1 AN
?f\lt't";‘b (e
Ruasdey @\lS‘Q
Pe —> i8¢

? % R Q& ___By

d. Demand increases and supply decreases.

Devoud cove gLRE e fgwb
3‘49‘\\3 // 4y £y le Q-
Prl\c_:‘(i_-.-—-—? f9€ /

Ruadily > hee.
Page 7 ,
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BIRZEIT UNIVERSITY
ECONOMICS DEPARTMENT

First Hour Exam

Student Name: Yol o Bl A Student Nos Y0 7447 &

Section MNo.: 1)

FEconomics 131 /" < }{ ey 4 Dr. Mohamed Nasr
First Semester 200872009 7 Py L o Dr. Soid Haifa

/ i o Dr. Reyad Musa

( : o D Awad Matoria

, - Miss Shireen Bash
PART I: Multiple-choice questions (60 points).

Circle the best answer for each of the following questions:

1. Which of the following subjects (gals<) is most likety (il JEl to be studied in microeconomics?
a. The inflation (p5+=W) of the general price lovel,
b.” Unemployment in the economy,
c.  The growth rate of aggregate output (S zEYN,
@ The equilibrium price and guantity of shoes {(13s3)
“"e. The impact (i) of the total level of government spending (e 5~ 3E¥H) on the economy.

2. Quantity supplied will be increased (1.e. moving up along same supply curve) due to (i)
a. a fall in the cost of factors of production.
b. -afallin price

g¢) an increase in price.

d a fall in demand.

£. an increase in consumer's incomes.

3. Ifthe incoms elasticity of demand for a good is negative, this implies (i «Oani) that
a.  only the poor (¢ will buy the good.
(ﬁ/ as incomes rise, the demand for the good will fall.
¢. as incomes fall, less will be spent on the good.
d. the good is a hixury good (s dalu),
e. the geod does not obey (lds Gibiy Y)Y the law of demand.

4. All of the following would shift a country's production possibilities curve, except (M 1)
a. increase in the quantity of labor.
78, decrease in the amount of the capital stock.
technological progress.
decrease in the guantity of labor
€. decrease in the level of unemployment.

@

oo

5. The price elasticity of demand for a product tends to be large (more elastic)
//a_/.-‘ if peopie spend a large proportion of their income on the product.
“he” if the product is a necessary good.
e if few good substitutes for the praduct are avaiiable.
d. if many complementary products are available.

e. in the short run than in the long run.

6. Suppose you observe (£2230) that the equilibrium price and quantity of athletic shoes (124 431 has risen (ai )
ins the last year. A possible explanation (oSeat sl for this would be

/ a, A reduction in the cost of materials used in making this kind (g 58 13} of shocs

L7 ‘Anincrease in the price of other kinds of shoes,
Eanit N . o . . - . -
(¢ Anincrease in the cost of materials used in making this kind of showsy
d. An increase in wages of shoe factory workers,
e Anincrease iv the price of athlafic socks aod clotho rée b e il oy

3




7. OPEC (s Adls jnmal jUaYi Lakiia) countries try to increase the price of pelroleum because this increase in the
price wiil result in increase in their total revenues. This is true if the demand for petroleum is
a. unit elastic
b. elastic
@/"tinelastic
d, perfectly elastic
e. none of the above since there is no relationship between the price and total revenue.

48 AL d,ownwardvqiopmg straight line {pflea 23 Production Possibililies Curve represents
U the law of constant opportunity cost.
b. the law of increasing opportunity cost.
——y . .
Q the law of decreasing opportunity cost.
d. inefficient use of resources.
e

technological improvement.

£

9. A shift to the right in the demand curve for Product A can be explained (2 (543) by saying that
a. thesupply of Product A has increased because production costs have declined (<umasil),
b. the price of Product A has declined and, as a result, consumers want to purchase more of it.
c. theprice of Product A has increased and, as a result, consumers want to purchase less of it
d. consumer incomes have declined and they now want 1o buy less of Produet A at ench possible price.
(‘é‘ .consumer testes have changed in Tavor of Froduct A 5o that they now want to buy more af cach possible
e

price.
10.If a large percentage increase in the price of a good results in (4 o) a small percentage reduction in the
quantity demanded of that good, demand is said to he
a. unitary elastic.
b, relatively elastic.
(¢} ~ielatively inclastic,
d. perfectly elastic.
e. perfectly inelastic

j 11. Which of the following is NOT considered economic resources?
A; _a. _machines used by a factory {gleas) producing shirts.
i output produced by business firms.
workers employed by government.
d. oil deposits (=&l 05 332} located in a country,
C@D the professms of economics (SL=FY1 33ly at Birzeit University

12, Which of the following would NOT shift the supp! y curve of good X to the right?
a. Anincrease in the number of setlers of X.
b. A reduction in the taxes on producers of X.
e. A reduction in the price of resources used in producing X.
,/d}/,.«An increase in the price of X.
An improvement in technology affecting the production of X,

13; The quantity of fiew cars increases by 10 percent. I the ';Sricc“élaéthi.cily of demand for new cars is 2.0, the price of
a new car mush have 3 ‘

- i

g fallen by 20 percent. ¢ o
b. fallen by 10 percent. ‘
g "! fal{en by 5 percent.
~Tallen by 2 percent.
e. none ofthe above is true

14.In which of the following instances is the effect upan rguitibsivm price indeterminate {(33ae pé) that s
dependent upon the magnitude {poa Jo ainy) of the given shifts in supply and deman:?
a. demand rises and supply is constan{ {8)
supply falls and demand remains constant
supply rises and demand falis ~¢
dernand rises and supply falls
© demand rises and supply rises

o o



Part I1: {40 points} Answer each of the following questions in the space provided. SHOW YOUR WOR&

1 l {16 points)

The following table shows the different combinations af Food and Tractors that might be produced in a given

e country.
)
oy / Food
/f ©7 Combination {tons) Traclors ~ Tractors
O (SR = I —
T A 80 0 B
P " SV e a RN A A W
75 ! ) 1
B ," [ S = " - ,_L_‘
t , N R
C 63 2 i M. |
by - L.z —— [ —
/ i T
R R N A I N B ’
D 50 3 ; R
. T S NP RO
[
S WS, E 1 _\,‘j_,, ;\;-f -
E 30 4 i : \,
R R e I e R e
o N \; ﬁila, I
F 2 3
&1 Y e [’,-.(‘_-"-‘!._ Yo e Fooid

Answer the next questions based on the abgve nformation:

a.  Draw the Production Possibilities Curve (PPC) for this country in_the above space.

5 . . . - .
;£<b. Suppose this country is currently producing 2 Tractors and &35 tons of Food, and wants lo increase the
production of Food by one ton, what is the opportunity cost of this extra ton of Food? Show your work.

- 4 0 C Loeod Tiechar. - v L7
B . s ’ w \ AR R . i\ i Lo }_( { E "" T
= & v W (R S £
,_.,,-.. é (} :,\'\\ ‘/) :r) -/J ' - . (‘
., = ;7
- — K73
¢ Ifthis couniry is currently (W3 producing 2 Tractors and 50 tons of Food, and wants to produce one extra
Tractot, what is the opportunity cost of this exira Tractos? Explain! Is the current production efficient ov
_____ ¢ inefficient? Explain R,
I H ; 7 ; SR ER3 L B o B (O i F &
\ \‘\,\6 0({)0(}-”/1{.%% (Cf‘:‘(' W, (j',;fgj—('l K\DP_‘\’ “ L f ;\ r 1\~\.. K\“—‘-
4 e - . : e S I
v Yoat 5 fu] g i o k O ey (2N oA \\ib SwsVe e :,71 v e b Soesel G v

N

e Qothor Ny cont Lo ler 7 e
d.  Suppose that new technology allows this country to produce donble (_aebia oy the Tractors it can prodnes

with the available resource, what will happen to the PPC?

Explain and show that graphically on the same above grapl.

A1
P




E e,
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2 (12 points)

“AL-ARI Cinema reduced the prices of movie tickets (Ll S8 ety from $10 to $6,and got an increase in sale

e
R from 120 to 150 tickets per day. Sales of Pepsi also increased by 80%. Used this information to answer the
7.0/ loliowing questions:

a.  Caleulate’the midpoint (arc) elasticity of demand for movie tickets, Ts demand elastic, unitary clastic, o
inelastic? Why? .

\e =" -

NG

TOF

| R

- LS AL
T e —
N CATAT e
=g
[ARN S
b.  Calculate the midpoint cross elasticily of demand hebween Pepsi and maovie tickels. Are Pepsi and Hokets

inferior, nermal, substitute or complementary goods? {Choose one). Why?

: e A I |
gj' Yoy = B > . i H
" ol *

c.  Suppose that income of people in the area (2l 5y has increased, whaf is the cffect of this on the

following (write either; increase, decrease, or no change):

market demand for movie tickets: ¢ ~C 02 5 s

market supply of movie tickets:

equilibrium price of movie tickets: 1~ ig e -,

equilibrium quantity of movie tickets: = ©ie o

SHOW THE EFFECT OF THE INCREASE IN
oo INCOME GRAPHICALLY TN THE SPACE HERE

-4



:-‘/ \‘.",
! _;a {,ﬂ;‘ '3 ";}
JR
i » //
a.
b.
-
<.

Cousider the following demand and supply curves for chickens.

(12 points)

. SUPFLY

2

;;;;;

DAOLLARS PER TUNIT
b w

OUAWTITY
{per unit of hime)

o
What is the equilibrium price of chickens? = \}V

What is the equilibrium quantity of chickens? S U o, M

1f the price of chickens is fixed at $4 dollars per unit, would there be a shortage or surplus of chickens in

the market? _5 ¢ Pl o v IR .

How much?’ ,_(.) & Qj S L N = |
Show Your caleulation, | S i |

e e

Suppose that governiment gave s subsidy to chicken {armers (it = )52y, whai wonld be the effect of

that on the following {write: increase, decrease, or no change)

=  Demand for chickens: ~/e o Mo ae
IJ; o

= Supply of chickens:_-vwv b o

‘= Equilibrium price of chickens: Ae s Foe L

-
= Equilibrium quantity of chickens: ¢ s¢ o o v

SHOW THAT ON THE SAME GRAPH ABOVE,

-5
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First Semester 2008/2009 g’f F ~ ,,-*f  Dr. Said Haifa
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o ) Miss Shireen Bash
& ~ PART I: Multiple-choice guestions (60 points).

/o h
( } /\ " Circle the best answer for each of the following questions:

T 1. Which of the following subjects (gl sa)) is most likely (Ytint 358l) 0 be studied in microeconomics?
a. The inflation (as<=) of the general price level. T —
b. Unemployment in the economy.
c. The growth rate of aggregate output (IS8 zU),
@’ The equilibrium price and quantity of shoes (18=Y1)
v The impact (55) of the total level of government spending ((_;‘JS"][ GLiYY) on the economy.

2. Quantity supplied will be increased (i.e. moving up along same supply curve) due to {Lua) / Eh -

a. a fall in the cost of factors 6f production. "\-“\ , L
- fall in-price / f B
L{ an increase in pri *

d/ a fall in demand. \}
e. an increase in consumer's incomes. - ¢
7 D

/3’. Ifthe income elashc:ty of demand for a good is negative, this f;ﬁphes (t,,-w ‘u-ﬂw-ﬂ) that ¢ @
4 4
a, onlythe poor (=181 will buy the good. . Iy
ﬁ e c;__C) as incomes rise, the demand for the good will fall. A W
c. .asincomes fall, less will be spent on the good. P
d. the good is 2 luxury good (RahaS dadu), . \{f
e the good does not obey (Lede By V) the law of demand. N

4. All of the following would shift a country's product:on possibilities curve, except (lae L)
increase in the quantity of labo e
. decrease in the amount of the cegpﬁal sfock "'%«»-fw“
technological progress< N .
decrease in the quantity of [ahotee=s
_. decrease in the level of une

. " . ‘\'u.‘.
Phe pnce elast:cxg of deman f or a groduct tands to be iarge - /N_(‘J
if people spend a large proportion of their ineome on the product.
be” if the product is a necessary 20047, e/) /\T '

c. if few good substitutes for the product are available; A
if many complementary products are available.
e.  in the short run than i the long run.

. Suppose you ebserve (£=243) that the equilibrium price and quantity of athletic shoes (F2sl  43sl) has risen ft’-' ;l)
in the last year. A possible explanation (¢Set Jusii) for this would be
a. A reduction in the cost of materials used i in making this kind (¢ M ¥ 6T shoes.
B’ Anincrease in the price of other kinds of shoes. «
{_¢. Anincrease in the cost of materials used in mglk;ng ﬂns-kmd'qé.“.hows. p
d. Anincrease in wages of shoe faciory warkers. . 5@/
e. Anincrease i the price of athlatic sarfs il cothen (i oty i i)




7. OPEC (Js Al i nadl LIV Askiie) countries try to increase the price of petroleum becanse this increase in the
price will result in increase in their total revenues. This is true if the demand for petroleum js ﬂ\

& T~

a. unit elastic ' P ~ AN
b. elastic / S N \ \
g:}/"inelastic : s

d.

perfectly elastic
e. none of the above since there 1s no relationship between the price and total revenue.

, p
LA ward-slopinW_;hiM( Siwe 33} Preffluctinn Possibilities Curverepresents
$ézsthe law of constant opportunity cost. g - |
. the law of increasing opportunity cost. ,‘
@ the law of decreasing opporiunity cost: 1 .
d. l
e R

dt

o

inefficient use of rescurces.
technological improvement.

9. A shift {o the right in the demand curve for Product A can be explained (susi3 0S43) by saying that
the supply of Product A has increased becau%oduction costs have declined (<uniisl),

a.
b. the price of Product A has declined and, as a result, consumers want to purchase more of if.
c. the price of Product A has increased and, as a result, consumers want to purchase less of it,
d. consumer incomes have declined and they new want fo buy less of Product A at each possible price.
€% consumer tastes have changed in favang\f“lzmd.um_ilmsgthat they now want fo buy more al cach poasihle
—=" price. S~
10. If a large percentage increase in the price of a good resulls in {*i= z%) a small percentage reduction in the /
guantity demanded of that good, demand is said to be
a. unitary elastic, \/
b, relatively elastic.

(¢, -relatively ineiastic.
. perfectly elastic. :
e. perfectly inelastic |

11, Which of the following is NOT considered W?
a. , machines used by a factory (ges) producing shirts,

output produced-By business firms.
¢. “workers employed by government.
d. oil deposits (hiill 1y 35) located in a country. :
) the professors of economics (LB sl at Birzeit University i

£

N

12. Which of the following would N_O(_'!‘ shift the supply curve of good X to the right?

2. An increase in the number of sellers of X. ~
b. A reduction in the taxes on producers of X. ' J
¢. A reduction in the price of resources used’in producing X. i

@7' _-An increase in the price of X.
An improvement in (echnology affecting the production of X.

13. The quantity of new cars increases by 10 percent. If the price efasticily of demand for new cars is 2.0, the price of :
a new car mush have L .

. w7 - P
4G fallen by 20 percent. I ., \e q > Lo .ﬁf"”’
b. fal]gn by 10 percent. / / . 7 ff
@ fallen by 5 percen £ 2 mﬁ,«.s»‘““"ww v
fallen by 2 percent. \Z W)\n\w
e. none of the above is true U
P/f/ (f
14, In which of the following instances is the effect upon equilibriom price indeterminate (ds= n&), that is.

dependent upon the magnitude (355Gl 3du) of the given shifts in supply and demand?
demand rises and supply is constant (<)
supply falis and demand remains constant .
supply rises and demand fails ' /
demand rises and supply falls V
t demand rises and sup@wfﬁm

iMoo ow



If the supply of product X is perfectly elastic, an increase in the demand for it will:
C; increase both equilibrium quantity and equilibrium price.
increase equilibrium price but equilibrium quantity will be unchanged.
_increase equilibrium price but reduce equilibrium quantity.
L)‘L increase equilibriom quantity but equilibrium price will be unchanged.
increase equilibrium quantity but reduce equilibrivm:price.

16, The economic problem is concerned (=3 1 £3¢%) with
a. how society uses its limited resources to satisfy ils limited wants.
b. how society uses its unlimited resources to satisfy its limited wants.
¢.  how society uses its unhrHstcd resources to satisfy s unlimited wants.
CH” Jow society uses its limited resoyrces to satisfy its unlimited wants.
e,/ how to buy stocks (p¢) in the capital market (Rell ol 5 G yw),

17. We expect the cross elasticity of dernand between Pepsi-Cola and Coca-Cola 1o be

@) /posmve W o
negative. /,»1 7 L
c. Zero. -
d. infinity 2443 L,
e. can be negative, positive, or zero. .
18.1f the demand for a good is perfectly inelastic then the demand curve for that good is | _,f"”{
2. dpwnward-sloping. e
SAertical (5a3ee). v ,
7 horizontal (). | \
d. upward-sloping. i L .
e. concave {eid), T

19.4 sharp increase {Ma £i5,0) in the price of coffee (which isa substxtu}e for tea) will rcsult in -
Cg an ificrease in the demand of tea. . .
decrease in the demand of tea.
¢. an increase in the quantity demand of tea.
d. adecrease in the quantity demanded of tea. ‘
e. an increase in the quantity demanded of coifee.

20. Which of the following is a pormative economic statement about the cigarette market?
3. Taxing (o Ly uisy) cigarettes makes people buy fewer cigareties.
b. Taxing crgarettes will raise theprice of clgarettes

inelastic, o
d. Taxes on cigarettes will generate {£uad «f ) more revenve to government.
A'tax on cigarettes is a good idea (5 55%) becavse the government should discouraging (&3 «323) had

C /hablts {Mse ilale), V?")/




{12 points)

1Al-Ahli Cinema recuced the prices of movie tickets (Loee b 5105 Sy fram $10 to $6,and got an increase in sale

from 120 to 1350 tickets per day. Sales of Pepsi also increased by 80%. Used this information to answer the
following questions:

a.  Calculate the !11_1_@1321“_{ (arc) elasticity of demand for movie tickets. ts denand elastic, unilary clastie, o
inelastic? Why? .~

-~ e

d: ':‘\ __; N

= VSO~ AT
EOrESGE AR
e D
b.  Calculate the midpoint cross elasticity of demand hetween Pepsi and movie fickets, Are Pepsi and tickets S
inferior, normal, substitute or complementary goods? (Chonse one). Wiy~ . )
ST I S
n , PN e e
E-wr T ST GO B
T _‘/ Y. :'P----—-— —— et e mn e ,'
( . > A.(‘:y - g o l7A . /

¢.  Suppose that income of people in the area (iik:lt 3y has increased, what is the effect of this on the
following (write either: increase, decrease, or no change):

-,

market demand for movie tickets: ¢ A C {32 e 5, ¢

market supply of movie tickets: M2 cloetme,

equilibrium price of movie tickets: (A ¢iger -

equilibrium quantity of movie tickets: _* ~<. {<¢ . <

-

SHOW THE EFFECT OF THE INCREASE IN
INCOME GRAPHICALLY IN THE SPACE HERE

-

<t




Part I1: (40 points) Answer each of the following questions ia the space provided. SHOW YOUR WORK!

E] (16 points)

The following table shows the different combinations of Food and Tractors that might be produced in a given
.. country.

) Food
Combination {tons) Tractors Tractors
A 80 o ‘@4%
: n
LR NN M S A I
B s 1 i ]
o
g
E 30 4 TR e .
y L e A
e N A
ErEN AR Wi T S 7 Ml S Acrs ;o Food
bl0T0 e o s ko o 0o TY
- e S
iy
Answer the next questions based on the above information: /E‘; AL i

a,  Draw the Production Possibilities Curve (PPC) for this couniry in the above space.

;Q‘h Suppose this country is currently producing 2 Tracfors and 63 tons of Food, and wanls o increase the
production of Food by one ton, what is the opportunity cost of this extra ton of Food? Show your waork,

i_‘_;' C) ¢ “?—ﬂ' ‘-‘cl é‘: Lonekorge o ¢ 7
F R = ! A Z e ™y e e

ST ‘ (:.:’ é [ (p ' N o /) S ' NS
{ : L ety = 2.0

¢. I this country is currently (U>) producing 2 Tractors and 30 tons of Foud, and wants in produce one exira

Tractor, what is the opportunity cost of this extra Tractor? Explain! Is the current production efficient oy
¢ inefficient? Explain ' : L

The o Pochuaty conk . ZERC e we s piedece o e

\' war'y o ¢ Tractors DAY TP Np oasTT g ey A A ("";"?’”"L Se A
- Y K .
0"(\'()0(\”“‘1*?" coot oWl e, S O B i

d.  Suppose that new technology allows this country te produce donble ¢_seli=_5y the Tractars # can produne
with the available resource, what will happen to the PPC?

Explain and show that graphically on the same above graph.

i . t L
R (e fRE S - el Db nyghase b
\ \AL ? o '-'-‘7"’1 we o {1 55y i: L P T FER ' ! h ) ‘_- i
N } a Lol Needny
' ) 3 [ T [T cen e L )
c \“Pr‘khlk’\ &u.\ % 7‘:‘“"’7 . ‘1‘7.." “y Q’H . I o /

: AV PR N T T O \
";& EL“{\ _.\\\ f’*""-’;’c(—.‘“ % 3,“\‘%. (“-xn £% . “..,k\}
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Arswer Part I (the multipie-c(oicé questions) here. dydisin e S5 et aded Lo Lo

: lu\ Jul LS :wbl -d.vb-\i L..a-l_g.Ul ‘_.p).y-l‘j.n.c-(x): L.ai t.,._ﬂ
Put mark (X) on the letter that.corresponds to the best answer as in the fol lowing example:

Q. (a) (b) ¥ @ (e)

1. @) ® & @ (e)

/2 ' (2) @ ; " () @ (e)m“ e

-~
3 Te e @ el e
4 (a) (®) © @ o
5 (a) {b) (¢} dy} (e) \'

{c) (d) (e)

.
T



PART I: Multiple-choice questions (60 points)

Answer the ﬂ)llqwing multiple-choice questions on the attached answer sheet: 28 L a1 33, Ao el e A e

*#* Use the following production possibilities curve (PPC) 1o answer the next FOUR guestions.

11
.‘ / \. L —~ 10 1 :
i N % ? E N 2
£ 8 3 A
9 -7 ,‘ e L
g 61— — :
£ 511 e
g 411
S 3 ; S
g 9
0 + b ' ; § . Q)
1 "oy L{ ’
0 L 1

1 B

- Butter (tons)

1. 1f the economy is producing at point E, the opperunity cost of producing an additional ton of burter is

a. Y thousand guns. ) .
b. % thousand guns. -~ - Y- < - M-y ‘:_?__C:_\i‘i\_s._— -~ Y é o
€y 4thousand guns, - - - T B 2 bty C = |
d. 3 thousand guns. S T 3 -3

@ 1 thousand guns. ) P

2. Asthis economy produces more and more guns, the opportunity cost of guns

a. decreases. T '

(G increases ' o - T - §_ R )
c. 15 constant {(=ui5) — T ey
d. is zero 2
e. cannot be determined from the graph, \

Z-___3__.1 If the economy is producing at point A and wants to produce one thousand more guns} this economy must

a.  give up v ey 0o S0} 91008 ofburfer. ' o ¢ b“‘ 4 i &

give up 7 tons of butter. Dw ffe
... give up 2 fons of butter.

give up '4 tons of butter..
& give up Y% tans of butter.

s

4, 1If this economy is producing at point B, then:
a. the economy could produce more butter without giving up any guns.
b. the economy could produce more guns and more butier.
c. the economy could produce more guns without giving up any butter.
A the economy is not operating efficiently

all of the above N
' Sua it Lo :
5. prige of a good will tend to fall (L=tisi¥! N L) if
7 there is a surplus at the current (s} price. R,
b. the current price is above equilibriumm price. |
¢, the quantity supplied exceeds (0= 45 «3oF) the quantity demanded at the current price, o -
(@ all of the above. Ry el
e. none of the above. © : i //

- e

@ Suppose we observe (£a35) an jnerease in the price of oranges. Which of the following is NOT a possible reason?
a~  An increase in the wage of workers used in picking and transporting oranges (Ju_ Mt Jiiy wabdy - C e
A decrease in the price of apples (2 substitute)~ X .y é))\
¢. An increase in consumers income. e et S A 3
d. A scientific discovery (= .58t} that oranges will cure the common ecld {q=é ) gy,
€. A bad weather which destroved () large areas of orange product{on. .S e '

NN
~,
s

—




wy [

\J s
Q If the demand for specific medicine {¢!59) is periectly in ineslastic, and the government inereases taxes on this medicine
. P A
by %s, what happens to the equilibrium price and quantity of this medicine? ;
a ¢ Price will increase but auantity will remain the same.

f/ Price will remain the same but quantity will decrease,
) \ c. price will rise but quantity will fall.
.ﬁj d. price will fall but quantity wil} rise.
v e. price and guantity will both fail.
H) oA
J 8. Which of the following statements is discussed in matroecongmics rather than microceconmics couyse?
a. The profits of Pahel Co, (Y=Y 4S 15 has decreased this year.f""'Z (C } —
The price of apples increased due to cold weather (2 J&b), 10 <
(&2 inflation (=14} and unemployment are serious problems in all societies. ' 5
d. Tawwal Co. (Jie> 38 ,5) offers new brands of mobile telephones*% (/

e. An increase in the income of a consumers will increase his/her demand for some goods.
gt st Lannt

P
5. You spend 50% of your budget on housing (LA~), 30% on feod (pt=l), and 70% on cletmnu (o>, Based only _ g
thig, mfonnanon which would you expect 1o have the most elastic demand?. - & oo
-"a-. " Housing. N 7 }J
b. Food. _);_; [ \
c. Clothing. c _ [t g
d. They would all have the same price elasticity. A o ket ¥ ERRbe R AET
@ Not enough information to ell, =, -

ab et G NS r,idﬁ)

10. Assume thét the 'government Has mcreased y onl imported medicines (525 ‘LJ-"I) (which are substitutes to local
medicines). This wili cause — s AN Al T T
a. an increase in the supply of local medicines (Rl “-JJ-")
N/ an increase in the demand for local medicines.
‘? @ a rlecrease in the supply of local medicines.
d. adecrease in the price of Jocal medicines.
e. @ decrease in the demand for local medicines.

s ST
11 I?ﬁconsumers expect that the pnce of coffee will increase in the future, what wiil happen to equilibrium price and
uantlty of coftee now? .
b a, There will be no effect on price or quantity now.
‘¥ . % b Price will increase but quantity will decrease.
K c. Price will decrease but quantity wiil increase.
d. Both price and quantity will decrease.
& ‘Both price and quantity will increase.

12. One of the assumptions made i in the construction of a society's production poss'.ibximes citrve is that ) S
a. there may be underemployment of resources. o~ SN S
b. the state of technology is changing. X )
¢. there is an unlimited supply of resources to society. XUy,
d. goods can be produced in unlimited quantities. » A
@ there is full employment of resources.

v work if demand is
a. unitary elastic,
b. perfectly elastic.
inversely (\s-8=} refated to price.

‘ inelastic. '

e. elastic.

14. The current price of wheat is $1.00 per bushel (<5 «Ji55), and the price elasticity of demand for wheat is known to
¥~ he0.5). A bad harvest (520 Js==e) causes the supply of wheat to decrease, and as a result, the price of wheat rises
bv 20%. What will be the percentage decrease in the quantlw demanded of wheat due to this i increase in price?

194 . O

b 2% _
@ 10% - = ;
I o i

0% ST 1

Lt LR }

- i

e. none of the above o

S8}




@W’nen the demand curve isd straioht downward slr;)pmw tine, k'

a.
b.
c.
d.

&

demand is perfectly(inélastic a

demand is perfectly tastic

elasticity is.constant along this demand curve
elasticity increases as quantity increases -
elasticity decreases as quannw increases

LS

16. Which of the follawing is a normative, rather than positive, statement? 1 _
J government should give subsidy (45~) to farmer to help them to produce more food. LT e
b.  Unemployment rate in Palestine exceeded (Jsl>3) 25% last month. i
c. Interest rate has not changed during the last two years. ' " o
d. 1f the price of cigarette is increased, people would buy less of it. e
e. None of the above statements is normative; - :
17.1fXisa normal good, a decrease:in thecost of producing X with a decrease in houséhold income will tend to'cause

an ificrease inf the quantity of X, but the'change in.the price of X is uncertain. * FaE
an increase in the price of X, but the change in the quantity of X is uncertain. '
a decrease in the quantity of X, but the change. in the price of X is uncertain.
a decrease in the price of X, but the change in the quantity of X is uncertain.
a decrease in both the price and quantity of X.

18. Which of the following is/are NOT considered economic resgusces

‘1; b,
* ©

a.

[

19. productive or technical gfficiencymeans

a.

ﬁ\)
C.
d.
[

producing as much as possible with available resources. ¢~ -

workers employed by government ~  {u lren/
the teaching assistants ((es2S¥1 Gpaeludl) in the Economics Department at Birzeit University
output produced by business firms (-
oil deposits (4l 3 55) located in a country & ¥
machmes used by a factory (¢i==) producing shirts £ e\ s

s 1{\-
A S
e

%

higher standard of living. *

Lmv\:f:'""“‘“
Aot

J4 -
Lugs o

producing the goods and services that are needed by society. X
fair and just distribution {(J¥e 353 of goads and services produced in the economy.
stability of prices and employment

g
-

20. Technology improves, reducing the cost of producing computers. Which of the following shows the effect on the

computer market?

@

Price

Prico

- duant&t‘y ' C}ua-ﬁmy

Graph D
Graph C

. Graph B

Graph A D e By
MNone of the above.r e

)

4

LJ*‘"

o
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PART II: Essay Questions (40 Points)

Answer the following quesiions in the space provided. SHOW YOUR WORK WHEN NECESSARY!

{ i {18 points)

' Ay ¥ :
Consider a2 m arL et that.consists of 100 selers of chickens. Eachsylh’{s.the following supply schedule,

Price Quantiry supplied by () : /V
) each se]ier (tons) /7
6 1 \Ve© V% , 1/
5 10 \go? - - ~. / i
4 9 Q. o 0 = [y
; g oa 6 | fﬁ} ': e S —
2 7 (P> g
1 & GO0 %' /tt
7/

A Ak Ene

The market demand for chickens is given by the following schedule: G =

.
.
%]
m

Quantity, Demanded
. {tons)
300
600 2 g
900
1200

-—wuhmm@

a. Derive {write) the mirket supply for chickens in the following space.‘-"-,__}

et ST i,

b. Draw the market demand and supply of chickens in the same graph.
{LABEL YOUR GRAPH FULLY)

c. What is the equilibrium price of chic.....s? j LL /

and equilibriqm quantity? 90{2 /
d. 1f the government imposes ¢_» ) a price.ceifing of $2, weuld there be a -

shortage, a surpius, or equilibrium? M - {—eg,fj 2

How much? 2 Explain e C\\-kp\‘ﬂ A
pezore Ao A won HOET "'“W%e’j

CI300> -
1800 MarkefsupPly =
o

ﬂcilﬂﬁl‘?t( C-)Cst'!
PN @R_l’ﬂ(\ \’_)

Write market supply here

N

-

a—d
Price Qu_antity (ton)
6 oo
S jou@
) =
o qo O
$ go°
2 Joo
| ECO |

cl € m-ftc,/eo/ gj ‘i—'-Z )

e. Suppose that price of—chicken. feed (z 2 —iis) has increased, what happens to the the following: (Wrtie either _

L i

increase, decrease, or no change)

o Demandf’orchickenS' ¥l e QJ'LG/Z;?(’ /

e Supply of chickens: =lec Ceafe
s -Equilibriunr price. ofchlckens j ﬂﬁ,(ﬁg{ e /

+  Equilibrium quantity of chickens: e oS €




Q Vrﬂ o e e o - Y
™ (20 points) 2_ Q) © "'/""“:% , et
Al ' AL (o

For each of the following cases (1) Calculate the elasticity coefﬁc:sm for each prodhct and (2} indicate whether the
product{s) is/are: ¢lastic, inelastic, complements, substitutes, inferior, or normal. (CHOQSE ONEJ (3) explain why
(based in vour calclilation). 7 swmume— —— ot T .

The price of a commodity falls from §1] 1o $9 and the quantity demanded rises rrcm 95 to_105 tons. Calculaie the

e
midpSint price elasticity of demand. :
% - D] 4, P4l . s
e = DP s ' - 105 ~—-C{5/( (13
Qo * r\"z T .
e q — [l G5 4 (ol
T

' \ "'\Cath/\‘-\ { nelesh't Because ;5{\ "
. Ahmad's income inceases by 40% this his year. As a resuly, Ahmad decided to double (. isl=:) the numbeg%ft {ﬂ @ \
sandmc]:es he buys each we"k Calcuahe the income elastmtv of demand

i '{' Cr> 2 V& H
- w/c mptme e sl dsanpz(s
“"—CI»EQ T@ ]astu_l'y of demand between points B and C.
& pro”
_ Lol =2%, ftf
sp T TE -
@ C'Qz

(GG — 2 (042"
o (S

2 i
JLan Les ‘LL'{’L“‘J)

‘ %
d.’ The price of cement rises from $3.5 per ton to 54.3 per toma\d
increased by 30%, Calchlate the Tmdpoint price-efsticity-of 5

Es =pgy " X Py

P St e
C— 2 4 G
QKC‘»SJﬂ L Bec,q,...[rp g o =

“ Eg>\ﬂ@%$%ﬁ;@ﬁﬁ&;g //?go

e. "‘he price of Y mcreased by 20%, the quantity of X that Huda purchases increases b:rZ”SD% Calcuaite the cross
elasticity of demand between X and Y.

E ®o —_ -
et / 3
b % .
"‘-ﬁl‘m:w‘k.-“‘_'?:‘i 2,,:'J'M . LZ o ;/l —

:\\‘?«\S Y s, N J‘_ wte S% 2 eccou

“ Ay

?(35\‘ i" \'\}ff
‘fLL““?“" ’7"% IO”5K crc b Y wzel @ au h'&' [ Cres!
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PART ONE: Multiple choice (60 points)

1)The production possibility frontier is a graph that shows
A)all the combinations of goods and services that are consumed over time if all of society's resources are
used efficiently.
B)the amount of goods and services consumed at various average price levels.
C)the rate at which an economy's output will grow over time if all resources are used efficiently.

hl] the combinations of goods and services that can be produced if all of society's resources are used
etficiently.

2)During(d*s) the Iraq War($/=} < =) many of Iraq's oil refinerjes(fshis JUl) were destroyed(ls 5 o3, This
would best be represented by a

@movement down Irag's production possibility frontier.

B)movement off Iraq’s production possibility frontier to some point inside the frontier.

C)shift of Iraq’s production possibility frontier toward the origin.

D)movement up Iraq's production possibility frontier.

3)For an economy to preduce at a point beyond its current ppf, the economy must
Alwaste less.
@)be more efficient. '

C)reduce inputs. ' \ +

Dincrease its resource base,

~ 4,
4)A movement along the demand curve to the left may be caused by a ‘\%\ l.
Alrise in income. N
BYdecrease in supply.

é)\fall in the riumber of substitute goods.

D)fall in the price of inputs.

5) The government wants to protect consumers{(:Syhal £ from rising food prices. Therefore, price
restrictions(28) are imposed(u=_5) on lettuce growers prohibiting(=35) them from raising(s) the price of
lettuce{usd). This will cause

A)an excess supply of lettuce.

B)bn excess demand for lettuce.

Z)an increase in the demand for lettuce,
D)a decrease in the supply of lettuce.

6)In response( !l Lama¥l) to news reports(Ua uE) that taking aspirin daily (e cose! 341) can reduce
an individual's risk of a heart attack(%udll 4,54 there will most likely be a(n)
A)increase in the supply of aspirin.
B)decrease in the supply of aspirin.
S r e
Jipcrease in the demand for aspirin.
D)increase in the quantity demanded of aspirin.



7} The change in the price of a good leads to a change in __ , which leads to a _
@;_uantity supplied; movement along a supply curve

B)quantity supplied; shift of the supply curve

C)supply; movement along a supply curve

D)supply; shift of the supply curve

Refer to the information provided in Figure 1 below S0 answer the guestions that follow.

(MM)
PR FIt] I 7
E 9y
By
=2
]
=

i) 40 Al 8

Plasma telovisions

Figure 1

8)Relfer to Figure 1. The economy is currently at Point A. The opportunity cost of moving from Point
A to Point B is the
AY90 LCD televisions that must be forgone to produce 20 additional plasma televisions.
,@}30 LCD televisions that must be forgone to produce 60 additional plasma televisions.
C)120 LCD televisions that must be forgone to produce 40 additional plasma televisions.
13)30 LCD televisions that must be forgone to produce 20 additional plasma televisions.

b Sk
NRefer to Figure 1. The extra marginal cost in moving from Point A to Point B is ( Lfgﬁ:ﬁ”q o)
A)-2/3.
B)-1.5.

C‘,EB.

G0,

10)The basic coordinating mechanism in a free market system is
A)quantity.

B)price.

a central government authority.
Jihe corporation.

11} For inferior goods, an increase in income will cause the T
A)quantity demanded to fall. ~
Bidemand to increase,

@demand to fall,
)

quantity demanded io increase.

~J
A ———

12)‘\Demand for one item goes down when the price of another item goes up. These items must be
@5ubstitutes.
B)complements.



Cinormal goods.
Djinferior goods.

Refer to the information provided in Table 2. below to answer the quesiions that follow.

Tabie 2.
Quantity

Price per Demanded (Pizzas Quantity Supplied
Pizza per Month) (Pizzas per Monthy)
£3 1,200 600

b 1,000 700

9 800 800

12 600 900

15 400 1,000

13)Retfer to Table 2. If the price per pizza is $12, the price will
Ajremain constant because the market is in equilibrium#
B)increase because there is an excess demand in the market”
Cdecreass because there is an excess demand in the market.
@ecxease because there is an excess supply in the market.

14)Refer to Table 2. If the price per pizza is $6, there is an excess
@%&emand of 300 pizzas.

B)demand of 600 pizzas.

C)supply of 700 pizzas.

D)supply of 1,000 pizzas.

15}Refer to Table 2. In this market there will be an excess demand of 300 pizzas at a price of
AJS6.

B)$9.

)12

D)§15.

16)if improvements in technology have reduced the cost of producing personal computars, you
accurately predict{e3 £5) that in the market for personal computers, there will be a{n)

J Alincrease in the quantity suppliesd of personat computers, a reduction in the price, and an increase in
the quantity demanded.

Blincrease in the supply of personal computers, a decrease in the price, and an increase in the quantity
demanded.

"
@Z}increase in the supply of personal computers, a reduction in the price, and an increase in the demand.
gD)decrease in the supply of personal computers, an increase in the price, and a decrease in the demand.

\ Aeilf C th

§p P



17) I you own(<ld) a building and you decide to use that building to open a book store(<SS¥ ¢ 3w,
A) there is no opportunity cost of using this building for a book store because you own it.
@here is an opportunity cost of using this building for a book store because it could have been used in
other ways.
Cithere are no sunk costs involved in this decision.
Djthe only cost relevant(iks ) to this decision is the price you paid for the building,

18)Inflation and unemployment
Alare the focus of normative economics.
Blare a focus of microeconomics.
C)are a focus of positive economics.
re a focus of macroeconomics.

19)Which of the following is a positive question?

&)Wl the level of teenage unemployment(isldl g 3 Ukl increase if the minimum wage(Ls>V1) is
increased?

BjShould the minimum wage be set at one-half the average manufacturing wage to guarantee(gs-)

individuals a decent(ds#) standard of living(fa 1g.ske)?

C)Wouldn't it be more equitable(dse) if the minimum wage increased automatically with the cost of
living?

D)Wouldn't it be better to try to increase people’s wages through job-training programs rather than by
requiring emyployers to pay minimum wages?

Refer to the information provided in Figure 3 below to answer the questions that follow.

Hybrid cars

i

Matorcyeles
Figure 3
20yAccording to Figure 3 the point where only motorcycles are produced is
AJA.
B)B.
CyC.

21)According to Figure 3, a decrease in unemployment may be represented by the movement from
A)B to A.

B)B to D.
C)C to D.

DAt C.



22)Refer to Figure 3. The economy moves from Point A to Point D. This could be explained by
Aja reduction(u=tsily in unemployment.

B)an improvement in technology.

Can increase in economic growth.

@ change in society's preferences for motorcycles versus hybrid cars.

23) Which of the following is an example of a normative statement?
The unemployment rate is six percent.
B)There should be no unemployment in an advanced industrial society.
C)Higher prices cause consumers to buy less.
D)Equilibrium price implies(./ <) that quantity demanded equals quantity supplied.

24)Suppose you are deciding whether to spend your tax rebate check on a new iPod player or a new
digital camera. You are dealing with the concept of
A)diminishing marginal returns.
B)comparative advantage.
opportunity costs.
Dithe fatlacy of composition.

25)Froduction inefficiency occurs

Aonty when an economy produces underneath(s%) its production possibility frontier.

Bjonly when an economy produces at the wrong point on the production possibility frontier.

@:ither when an economy produces underneath the production possibility frontier or when the economy
producing the wrong combination of goods on the production possibility frontier,

D)only when the econemy produces outside the production possibility froniier.

26)If resources are combined efficiently in production, then the society
Adis producing at the most-desirable point on the production possibility frantier.

is producing at a point on the production possibitity frontier but not necessarily at the most-desirable
point.
C)is producing at a point outside the production possibility frontier.
D)is experiencing economic growth.

v o vy )3»:5 PILYE)

27)Wh‘en there is an excess' supply of a product in an unregulated maiket, the tendency is for
A)price to rise.

price to decrease.

uantity supplied to increase.
Jquantity demanded to decrease.

I}ff: 2

28)The price of mozzarella cheese, which is used in making pizza, increases. In the market for pizza you
would expect that
¥A)ihe demand for pizza would increase and the price of pizza would increase.
o/ B)the demand for pizza would decrease and the price of pizza would fall.
@the supply of pizza would decrease and the price of pizza would increase,
Djthe supply of pizza would increase and the price of pizza would decrease,



29)Health insurance{s=l 0:li) should be provided(sxs35 &) to every citizen (Gbis<) in a wealthy
nation such as the United States. This statement is best described as
(AJa positive statement.
B}a normative statement,
C)a descriptive economics statement.
D)an implication of an efficient market.

30)To isolate(d = i) the impact of one single factor, economists invoke the assumption of
Adinductive reasoning.
B)Ockham's razar,

ETyeteris paribus.
D)post hoc, ergo proempter hoc.



PART TWO

Question One: (14points)

How would the following changes in price affect total revenue write increase, decline, or remain
unchange

a- Price rises and demand is inelasti
Total revenue will 1&\’@5
b- Price Falls and demand is u nit raelasuc

Total revenue will GLydhen

c- Price falls and supply is elas{c.
Total revenue will dc’(\( Y

d- Price falls and supply is meiast:c
Total revenue will_qf eLye

g- Pricerises and demand is elastlr
Total revenue will ffﬂ‘(\f

f- Price falls and demand is elast:c
Total revenue will \\’\L\(@O 4

g- Pricerises and demand is {ur:;iyéstlmty
Total revenue will eyl (e i,

Question Two (13 points)

a- State the major determinants of prl;eefytl_xy of demand:

7. lime
- ‘(’WC(K&W;@«WJ{@O’-;: %oo(/

X/?’) . Nomale gl yCame (.

b- Use those determinates and your own reasoning in judging whether demand for each of the

following products is probably elastic or inelastic:
1. Tooth paste (ObuY O sana)

Demand is_ {dambicly (_s-f{g}/ because 4=fmz2) J4 15 S0 \O)%JM? OL!((J“
2. Crest tooth paste {Gse S sVl G sana) e

Demand is gkl / hecause | 0 I} 1 price sad _‘./'(
3. Diamond bracelet?{bﬁn“ 8l ) "*‘J P e¥chal ¢ —’j,&(\

Demand is -&faildlq | YWMS!IL hecause IJ) § et [QJJ (.u’\}; A
4, Microsoft operating system

Demand is o\ dsdie / because_1¥! ylece S,%Mﬁm/,

s lrwdf‘”’f"‘-‘/?("RQ



Question Three (8 points)

How will each of the following changes in demand and/or supply affect equilibrium price and
equiliprium guantity in a competition market{iudlial 3 5.,

Write in the space increase, fall, or remain unchanged or the answers are indeterminate.

- Supply increases and demWases
Equitibrium price_cd e Y0 "

Equilibrium quantity N CEY}S}'

- Supply decreases and demand ingsdase
Equilibrium price_ ALY €t P
Equitibrium quantity [_Ay‘\(,o,-'./i//g ¢

- Demand increases and suppli‘i’/ncvéase
Equilibrium price__(4 (e v _bdiv)

Equitibrium guantity QY eYCepic

- Supply decrease and demandki%es
Equilibrium price_,n (e ¥ jat Vv a

Equilibrium quantity YD ochPﬁiiff' /

/\'uigﬂf o

d‘ ey e

L,(M_CP VJ’aH"
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PART ONE: Multiple choice (60 points)

/I)The production possibility frontier is a graph thatshows
A)all the combinations of goods and services that are consumed over time if all of society's resources are
used efficiently, ' ' . )
B)the amount of goods and services consumed at various average price levels,
C)the rate at which an economy's output will grow over time if all resources are used efficiently.
Jall the combinations of goods and segvices that can be produced if all of society's resources are used
efficiently. )

YDuring(d3s) the Traq War(di = < =) many of Iraq’s oil refineries(3hi JUl) were destroyed(ls s &3, This
would best be represented by a -
@'novement down Irag's production possibility frontier.«
BJmovement off Iraq’s prodﬁction possibility frontier to some point inside.the frontier.
C)shift of Iraq's produgtion possibility frontier toward the origin.
D)movement up Iraq's production possibility frontier,

_3for an economy to produce at a peint beyond its current ppf, the economy must
7 A)waste less. : o
B)be more efficient.
Cyreduce inputs.
increase its resource base,

4}A movement along the demand curve to the left may be caused by a
Adrise in income.
Bidecraznse in suppiy./
@fail in the number of substitute goods.
DHfall in the price of inputs.

e

%) The government wants t¢ protect consumers(csSlgieat ias) from rising food prices. Therefore, price
restrictions(2.58) are imposed(is,%) on lettuce growers prohibiting(ai<) them from raising(sb) the price of
lettuce{c=a1), This will cause ' ' '
Alan excess supply of lettuce.
(BiAn excess demand for lettuce.
n increase in the demand for lettuce.
D)a decrease in the supply of lettuce.

6)In response(J LaiuYl) to news reports(Jua¥! W) that taking aspirin datly(Les 0¥ 381) can reduce
an individual's risk of a heart attack(%:8 353, there will most likely be a(n)
A)increase in the supply of aspirin, )
B)decrease in the supply of aspirin.

(Ciincrease in the demand for aspirin.
D)increase in the quantity demanded of aspirin.




juantity supplied; movement along a supply curve
quant1ty supplied; shift of the supply curve
Cysupply; movement along a supply curve
D)supply; shift of the supply curve

/7) The change in the price of a good leads to a change in , which leads to a .

Refer to the information provided in Figure 1 below to answer the questions that follow.

A
w2
5 =

LCD televisions

; '{) ax -
0 :m 6{:1 ‘m § é’ o — o

Plasma celevisions — M o
: # _}.27 = - 2 F-Z—?A
Figure 1 — ke . N

o

2 &‘5 L
8)Refer to.Figure 1. The economy is currently at Point A, The oppormmty cost of movmg from Pomt

A to Point B is the : e S

A)90 LCD televisions that must be forgone to produce 20 additional plasma televisions.
B)30 LCD televisions that must be forgone to produce 60 additional plasma televisions.
C)IEG LCD televisions that must be forgone to produce 40 additional plasma televisions.
u LD televisions that must be forgone to produce 20 additional plasma televisions.

9)Refer to Figure 1. The extra marginai cost in moving from Point A to Point B is
A)2/3. ‘
©E)1.5.

C)-3.

D}-30.

/lO)The basic coordinating mechanism in a free market system is
A)quantity.
B)price.
C)a central government authority.
D)the corporation.

11) For inferior goods, an increase in income will cause the
A)quantity demanded to fall.
B)demand to increase,

emand to fall.

Diquantity demanded to increase.
1l— W

12)Demand for one item goes down when the price of another item goes up. These itermns must be
A)substitutes.

@omplements.



Cinormal goods.
D)inferior goods.

Refer to the information provided in Table 2. below to answer the questions that follotw.

Table 2,
Quantity

Price per Demanded (Pizzas Quantity Supplied
Pizza per Month) {Pizzas per Month)
$3 1,200 . 600

6 1,000 B 700 .

9 800 800

12 - 600 . 900 *

15 400 1,000

' /B}Refm to Table 2. If the price per pizza is $12, the price will
A)remain constant because the market is in equitibrium.
B)mcrease because there is an excess demand in the'market.
4 ;9- ecrease because there is an excess demand in the market.
decrease because there is an excess supply in the market,

14 Refer to Table 2. If the price per pizza is $6, there is an excess
Addemand of 300 pizzas.

B)demand of 600 pizzas.

Cysupply of 700 pizzas.

D)supply of 1,000 pizzas.

15)Refer to Tabie 2. In this market there will be an excess demand of 300 pizzas at a price of

Es.
B)$9.
O)%12.
D)$15.

16)If improvements in technology have reduced the cost of producmg personal computers, you
accurately predict{Es3) that in the market for personai computers, there wili bé a(n)

Alincrease in the quantlty supplied of personal computers, a reduction in the price, and an increase in

N
the guantity demanded. o=

@mcrease in the supply of perscma! computers, a decrease in the _price,-and an increase in the quantity

i —— TR e

emanded.
Clincrease in the supply of personal computers, a reduction in the price, and an increase in the demand.

D}decrease in the supply of personal computers, an increase in the price, and a decrease in the demand.



17) If you own(<lis) a building and you decide to use that building to open a book store(<5! ( j8=),
A) there is no opportunity cost of using this building for a book store because you own it.
here is an opportunity cost of using this building for a book store because it could have been used in

other ways,
(C)there are no sunk costs involved in this decision,
Djthe only cost relevant(as ) to this decision is the price you paid for the building.

18)Inflation and unemployment
A)are the focus of normative economics.
B)are a focus of microeconomics.
C)are a focus of positive economics.
are a focus of macroeconoz;xvﬁcs.
f}.”‘
19)Which of the following is a positivexquestion?
AYWIill the level of teenage unemployment(dis) sall 8 A increase if the minimum wage(ussY)) is

+

increased? .
B)Should the minimum wage be set at one-half the average manufacturing wage to guarantee((a-=)

individuals a decent{ds) standard of living(ska o siee)?
CyWouldn't it be more equitable(Jsle) if the minimum wage increased automatically with the cost of

£

living?
DyWouldn't it be better to try to increase people’s wages through job-training programs rather than by

requiring employers to pay minimur wages?

Refer to the information provided in Figure 3 below to answer the gquestions that follow.

ia
o Muotorcyeles
Figure 3 , :
20)According to Figure 3 the point where only motorcycles are produced is
A)A. '
B)B. .
Q)C. . ’

21)According to Figure 3, a decrease in ur}gm@l&ment may be répresented by the movement from
A)B to A.
B)B to D.

@Cto D,
D)A to C.




.c)\\,\_c?gﬁfp\o e _Eﬁ o o , w(‘%\’\ ‘/((__C-Ui k/% ‘)) &L:, '(J_ak .1
-?fé —( (C\__J = 2 5

ﬂ&\ & Gl A eQQ\C:ﬁ:kfc_ I~ . :"?&%
. . /—‘
masr s, 7 %9 RSN

22)Refer to Figure 3. The economy moves from Point A to Point D. This could be explained by
Ada reduction(ualiadl) in unemployment.
Blan improvement in technology.

Clan increase in economic growth.
@ change in society's preferences for motorcycles versus hybrid cars.

23) Which of the following is an example of a normative statement?

A)The unemployment rate is six percent,

(B¥Fhere should be no unemployment in an advanced industrial society.

C)Higher prices cause consumers to buy less.

D) Equilibrium price implies(,s+5) that quantity demanded equals quantity supplied.

24)Suppose you are deciding whether to spend your tax rebate check on a new iPod player or 2 new
digital camera. You are dealing with the concept of

A)diminishing marginal returns.

Bjcomparative advantage.

@pportunity costs.

D)the fallacy of composition.

5Production inefficiency occurs
g when an econpmy produces underneath(<=3} its production possibility frontieg.
only when an economy produces at the wrong point on the production possibility frontiersL
ither when an economy produces underngath the production possibility frontier or when the economy

is producing the wrong combination of goods on the productionpossibility frontier. N
! (B}oﬁiy when the econviny produces outsids the production possibility fronticr.st

™
26)If resources are combined efficiently in production, then the society

Alis producing at the mos’t—desfi‘rable point on the production possibility frontier. e
s producing at a point on the production possibility frontier but not necassarity at the most-desirable -!
e e e T T T T T e e T e
point, 7 o T ’

Clis producing at a point outside the production paossibility frontiery

D}is experiencing economic growth,

27)When there is an excess suppliy-of a product in an unregulated market, the tendency is for |

& @)ﬁiceto decrease.; . S _' D “

)quantity supplied to increasesg, .. -
D)quantity demanded to decreaseg,

e

JThe price of mozzarella cheese; which is used in making pizza, increases. In the market for pizza you

28
/vould expect that -
A)the demand for pizza would increase and the price of pizza would increase.

B)the demand for pizza would decrease and the price of pizza would fall.
JiRe supply of pizza would decrease and the price of pizza would increase.
D)the supply of pizza would increase and the price of pizza would decrease,




29)Health insurance(s>=ll 2l should be provided(>xs3i 24} to every citizen (5!} in a wealthy
nation such as the United States. ThfS statement is best described as
G positive statement. ®
Bla normative statement.
C)a descriptive economics statement,/\
D)an implication of an efficient market.£

30)To isolate(U = ix} the impact of one single factor, economists mvoke the assumption of
@nductlve reasoning, B

B)Ockham's razor.

Ciceteris paribus,

Dipost hoc, ergo prompter hoc,




PART TWO

Question One: {(14points)

How would the following changes in price affect total revenue wrlte increase, decline, or remain
unchange )

;a- Price rises and demand ESW
I Total revenue will_{ ae¥ 7
/ b- Price Falls and demand is upit inelastic,~
' Total revenue will _\" ¢/ "x‘“j[(/
¢~ Price falls and supply is elastic. _
Total revenue will M{;C’/\‘E‘:/
d- Price falls and supply is inelastic.
Total revenue will 0/\%’\‘\”\/

e- Price rises and demandjeiast:
Total revenue will 4 A :

- Price falls and demand is elastm‘/
Total revenue will_y weVge

. g~ Pricerises and demand is of unity elagticity

Total revenue will L/‘\’\ﬁ/\ 2
7 A

Question Two (12 ooints)

d- State the major determinants of price elasticity of demand:

/, @wwwhﬂJ§me@j§§;&w\g |
@—{LL @MC_,MQ%QJ QM,‘W% (N ‘goﬁ.s g i ’7%5}; )Qé(\u%gw
(D \Rwre of A hey G Clor et bl &) oay
. /, 5 n

\ @‘Hwe, s

b- Use those determinates and your.own reasoning in judging whether demand for each of thie

following products is probably elastic or inelastic:
1. Tooth paste (O () saa)

Dermand is_ 1A M“‘H‘éﬁ because f‘*—a'l%:"“’“‘ﬁ% P"r“'“‘ {ncor %Q&Uf s j
2. Crest tooth paste (Cuw S o\\ﬁ\ﬂ L sna) 4 : ‘
Demand is @,\"‘Qdflp\/ because aVx o (bt oy pf}uf ‘z::m/,fSH
3. Diamond bracelets (etals i s
Demand is _eNoef C / because \m/“w"/]/ el Py ped

4. Microsoft operating system

Demand is | v* {«\W(-h/ becausezva»\,. V ou ﬁ gg L.r&c-{%ﬂf ‘
JEAYEY \QQ/J SN ?g‘@)




Question Three {8 points)

How will each of the following changes in demand and/or supply affect equilibrium price and
equilibrium quantity in a competition market(Rudiadl 3 su).

Write in the space increase, fall, or remain unchanged or the answers are indeterminate.

- Supply increases and demand decreaSes

Equilibrium price_ﬁi‘cu“
Equilibrium guantity :%‘"m i /

- Supply decreases and demand“inj?{
Equilibrium price_{ WeF waf,
Equilibrium quantity (neseay /

L]

- Demand increases and supply increase

Equilibrium price JEneErre

Equilibrium quantity o4 % o { e

- Supply decrease.and ‘demand decreases
Equilibrium price_ el 2af o @
Equilibrium quantity O/.Q_,C"(éﬂtf I

' e
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1. Economics S may best be defined as:
the intéraction between macro and micro considerations.
L/@@ﬁ’: social science concerned with the efficient use of scarce resources to achieve maximum satisfaction
of economic wants.

C) the empirical testing of value judgments through the use of logic.
D) the use of policy te refute facts and hypotheses.

2. Which of the following is. ﬁl;—eco\& [OmY statezient?
AY The real domestic outpW2 5 percent last year. -
B} Unemployment was 6.8 percent of the labor force lasty
The price of personal computers declined last year,
D} The general price level increased by 4 percent last year.
_¥ Which of the following is a normative statement?
A) The temperature is highToday.
The humidity is high foday.
It is foo hot to play tennis foday.
D) It will cool off later this evening.

4. The money payments made to owners ofl ]abor capital, and entreprcneunal ability are:
A) interest, wages, rent, and profits respectively (gl‘m)
B), rent, wages, dividends, and interest respectively.
rent, Brofits wages, and interest respectively.
@reng waues mter;st and profiis respcctlveiy
o

5. The production possibilities curve Hllustrates the basic principle that:
A) the production of more of any one good will in time require smaller and smaller sacrifices of other
goods,
X) an cconomy will automatically obtain full emplovment of its resources, _
if all the resources of an economy are in use, more of one good can be produced only if less of another
good is produced.
D) an economy's capacity to produce increases in proportion to its population size.

6. Which of the following will no? produce an outward shift of the productlon possibilities curve?
A: an upgrading of the guality of a nation' s human resources o

the reduction of unemployment - .~ ; N
) an increase in the quantity of a society's labor force 3\
D) the improvement of a society's technological knowledge e '
M -3 A nation's production pog mlhties curve is "bowed out from the origin because:
L resources are ni‘t;éﬂy efficient in pro ucmg“é?’ery good.
B) the originator of the idea drew it this way and modern economists follow this conventzon
() resources are scarce.
D) wants are virtually unlimited.

Use the following to answer questions 8-10:

Answer the next question(s) on the basis of the data given in the following production possibilities table:

Preduction possibilities (alternatives)
B ~-¢C_— D—"E~ E

A
Capital goods 5 4 @] 2 I 0
Consumer goods 0 5 S 14 13

(

Page 1



8. Refer to the above table. A total output 05 nits of capital goods 4 uhits of consurmer goods:
A) is irrelevant because the economy is capable of producing a Iarger otal output.
will result in the maximum rate of growth available to this economy.
@ would involve an. inefficient use of the economy S SCATce reSources.

D) is unobtainable in this economy.

9. Refer to the above table. For this economy to.produce a total output of 3 units of capital goods and 13 units
of consumer goods-it-must:.. e
“A) -achisve cconommﬂgrewﬂl

B}\&s&m&&esnurces more efficiently than the.data in the table now indicate.
C) allocate its available resources most efficiently among alternative uses.
achieve the full employment of available resources.

10. Refer to the above table. For these data the law of increasing opportunity costs is .reﬂected in the fact that:
A) the amount of consumer goods that must be sacrificed to get more capital goods diminishes beyond a

point.
(3)

larger and larger amounts of capital goods must be sacrificed to get additional units of consumer goods.
D) the economy's resources are presumed to be scarce.

the product:on possibilities data would graph as a straight downsloping line.

—=> Use the following to answer questions 11-12: e e

E
®
[ 5]
=4 :
e ;
> | D
;0
=
-
S ;
0 i3

Consumer goods.

11. Refer to the above.diagram. Other things.equal, this economy will achieve the mo
A) the ratio of capital to consumer goods is minimized.
B) it chooses point C,

it chooses point B.
@ it chooses pomng

12. Refer to the above diagram, This economy will experience unemployment if it produces at point:
A) A
B) B.

B,

13. When the price of a product i increases, a consumer is able 1o buy less of it with a given money income. This
describes:

A) the cost effect,
B) the inflationary effect. (\\\

rapid rate of growth ift

C)} the income effect,
D) the substitution &ffect.

Page2 .



14. Inpresenting the idea of a demand curve economists presume that the most important variable in
termining the guantity demanded is:
the price of the product itself.
B) consumer income.
C) the prices of related goods. ' .
D) consumer tastes.

15. Anincrease in the price of a product wﬂl rqduce the amount; of it mxrchased_because
A) supply curves are upsloping..
B) the higher price means that real mcomé:s have risen.
C) consumers will substitute other products for the one whose pnce has risen.
_consumers substitute relatweéj:;h;pﬁéed for relatively low-priced products.

16. Which of the following will #of cause.the demand for preduct K to change?
A) achange in the price of close-substituté product J
B) an increase in consumer income
a change inthe price of K .~
D) achange in consumer tastes

17. An economist for a bicycle company predicts that, other things equal, a rise in consumer incomes will
increase the demand for bicycles. This prediction is hased on the assumption that:
A) there are many goods that are substitutes for bicycles. e A
B) there are many goods that are complementary tobicycles. -1 " -~ |

C) there are few goods that are substitutes ?rszcycles-. e l 3 l \\ _;}
bicycles are normal goods. S R
@ y g N f ; ’/

18. A rightward shift in the demand curve for product C might be caused by: e e e T
an increase in income if C is an inferior good.™
a decrease in income if C is 2 normal good.
a decrease in the price of a product that is a close substitute for C. /3\.

a decrease in the price of a product that is complementary to C.
i

f the price c@'ﬁeclmes the demand curve for the compiementarv product J will:
@ shiff 1o the left. = Ma\\_ﬂs \ =
B) decrease. P o i
shift to the right. ﬁf ‘ o~ \ e A ‘
D) remain unchanged. |, | A i B

o 4 \ | 4’”\( PRt

20. By an "increase in demand” we mean that : . :
product price has fallen so consumers move down to anew poWamd curve.
the quantity demanded at each price in a set of prices is greater.

) the quantity demanded at each price in a set of prices is smaller.
a leftward shif of the demand curve has occurred.

¥
21. A leftward shift of a productsu £ might be caused by; &
an improvemént in the relevant technique of production, /
% a decline in the prices of needed inputs.
an increase in consumer incomes.
Y some firms leaving an industry,




Use the following to answer questions 22-24:

Supply
$60
& 40
&
20
| Demand
0 b—d : 1
50 lwg 150, 200 x%"
N Quantity

G, Qp

22, Refer to the above diagram. A price of $2 fh this market will result in:
A) ashortage of 50 units.
B) a surplus of 50 units.

a surplus of 100 units.
} a shortage of 100 units.

23. Refer to the above diagram, The highest price that buyers will be willing and able to pay for 100 units of

this product is: ;/ o -
A) $30. . .

se0. (7 I

C) $40. .

@) s2o.

24. Refer to the above diagram. Ifthisis a competmve market, price and quannty will mave toward:
A) $60 and 100 respectively. - / 1

360.and.200 respectively. o L’ ; :.?{

@ and 150 especnvcly y v

D) $20and 150 réspectively.

25. An effectjvé price floor on wheat will: -
A) fopce otherwise profitable farmers out of business.
esult in a shortage of wheat.
result in a surplus of wheat.
D) clear the market for wheat.

Page 4




26. The larger the positive cross elasticity coefficient of demand between products X and Y, the:
A) stronger their complementariness.
greater their substitntability. i
é smaller the price elasticity of demand for both products.
D) the less sensitive purchases of each are to increases in income.

27. pose the income elastlcxty of demand for toys is 6(2% ThlS means that:
@ a 10 percent increase in incote wilk increase the\ﬁu?réhase of toys by 20 percent.
)} a 10 percent increase in income will increase the purchase of toys by 2 percent. -
C) a 10 percent increase in income will decrease the purchase of toys by 2 percent.
D) toys are an inferior good.

28. Suppose that the price of prcduc@‘ises b@percent and the quantity suppiied of X increases by 15 %’
percent. The coefficient of price elasticity of supply for good X is: —
A) negative and therefore X is an inferior good.
B) positive and therefore X is a normal good.
@ less than 1 and therefore supply is inelastic. ¢,

more than 1 and therefore supply is elastic.

29. Suppose the supply of product X is perfect]y melastxc If there is an increase in the demand for this pr{-duct,

equilibrium price: — o
A} will decrease but.equilibrium quantity will increase. Y M:,%??
B} and quantity will both decrease. %“*‘*%
C) will increase but equilibrium quantity wili decline. | ) Q

will increase but equilibrium quantity will be unchanged. "»,_K ‘%\

’ ' e

30. The main determinant of elasticity of supply is the:
A} number of close substitutes for the product available to consumers.
6 amount of time the producer has to adjust inputs in response to a price change,
} urgency of consumier wanfs for the product.
D) number of uses for the product.

31 Pu\ce elasticity of demand is generally:
@) greater in the long run than in the shortrun,
B} greater in the short run than in the long run.
C) the same in both the short run and the long run.
D) greater for "necessities” than it is for "luxuries.”

32. Which of the following is correct?
If demand is elastic, an mcrease in price will increase total revenue. .
ﬁlf demand is elastic, a decrease in price will decrease total revenue.
C) JIf demand is elastic, a decrease in price will increase total revenue.
D) I demand is inelastic, an increase in price will decrease total revenue.

Page 5



33. Suppose the price elasticity of demand for bread 1@ If the price of bread falls by 10 percent, the
quantity demanded will increase by: .
A) Z percent and total expenditures on bread will rise. . g:‘;{ e i
2 percent and total expenditures on bread will fall. Tl £
20 percent and total expenditures on bread will fall. : 3
20 percent and total expenditures on bread will rise. ’

e

K&

W ) —
34. Suppose the price elasticity ceefficients of demand are 1.43,@, 1.11, and 0.29 for products W, X, Y, and
Z respectively. A 1 pereent decrease in price will increase total revenue in the Tase(s) of: :
A) Wand Y.
B) Yand Z.

(9 Xand Z.
) Zand W. ) . 1
'}f(‘éudr\c'

35. When the percentage change in E ce is greater than the rcsultmg percentage change in quantity demanded:
A) adecrease in price will increase total revenue.
demand may be either elastic or inelastic.
an increase in price will increase total revenue.
D) demand is elastic.

P y
36. The pnce elastxc:ty of demand for beef is abo Other things equal, this means that a 20 percent - . :
increase in the price of beef will cause the quantxy of beef demanded to: %Qﬁf
@ increase by appreximaelyt2-pereen X’% 5
et D By defease by approximately 12 percent. ‘ 4:
oty appracimtty 32 percet=" ‘
D) decrease by approximaicly 26 percent. O T

37. Suppose we find that the price elasticity of demand for a product is 3.5 when its price is increased by 2
ent. We can conclude that quantity demanded: ——
increased by 7 percent,

B) decreased by 7 percent.
C) decreased by 9 percent.
D} decreased by 12 percent.

w .
- pvd o
38 f roduct X, X is reduced fron SIDO t‘ (Vand, as a result, the quantity demanded increases from

~Y é/A) has declined.

B} is of unit elasticity.

is inelastic.
is elastic.

39, e price elasticity of demand of 2 straight-line demand curve is:
AY elastic in high-price ranges and inelastic on low-price ranges. ‘ o
B) elastic, but does not change at various points on the curve.
C) inelastic, but does not change at various points on the curve.

— e

bl
{'M e
D) 1 at all points on the curve. ;o e
" . é

7.5

A

[

N
D)
'\‘h




40.

41.

p—

-9
S

44.

D) increase the quantity of X demanded by less than 4 percent.

The price elasticity of demand for widgets is 0.80. Assuming no change in the demand curve for widgets, a

16 percent increase in sales implies a:
A) 1 percent reduction in price.
B) 12 percent reduction in price.

C) 40 percent reduction in price.
DY) 20 percent reduction in price.

A perfect}ym demand schedule: o
A) rises upward and to the right, but has a constant slope. :

can be represented by a line parallel to the vertical axis. . !
C) cannot be shown on a twe-dimensional graph. e,
D) canbe repzﬂsented by a line parallel to the horxzonta] axis. e \ )

,v\l

If a firm can selk3,000 bmits of product A a,(v er unit and 5,000 a SS hen: \;_};‘2
A) the price elasticify of demand is 3.3. o atil

B) A is a complementary good. L// — \ \

the price elasticity of demand is 2.25.
D) A is an inferior good:

1f the demand for product X @, 2 4 percent increase i m the price of X will: {[g it
A) decrease the quantity of anded by more than 4 percent. T T

decrease the quantity of X demanded by less than 4 percent.
C) increasethe quamtity of X demanded by more than 4 percent.

If the price elasticity of demand for a product if 2 ?; then wﬁm@ m@wm
pe

A) increase the guantity demanded by about 2 Teent,

B) decrease the quantity demanded by about 2.5 percent.
@ increase the quantity demanded by about 25 percent.

D) increase the quantity demanded by about 250 percent.

™
o

“;\.\' - d

! Assuming competitive markets with typical si.lgp_ly and demand cur curves, which of the following statements

is correct?
p4) An increase in supply with a decrease in demand will result in an increase in price.
B} An increase in supply with no change in demand will result in an increase in price.
An increase in supply with no change in demand will result in a decline in sales,
@ An increase in demand with no change in supply will result in an increase in sales.

46. 1f the supply of a product decredses and the demand for that product simulitanéously increases, then

eguilibrium:

@J price must rise, but equilibrium quantity may either rise, fall, or remain unchanged.
} pnce must rise and equilibriim guantity must fall.
C) price and equilibrium quantity must both increase.
D} price and equilibrium quantity must both decline.
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Part iz Multiple Cholees (2.5 points each) _
Choose the one alternative that best completes the statement or answer the questtcn

1. Which one is not a factor of production:
— (A) Labor
(B} Land
 {CV Money
{D) Capital

2. The two general types of economic systems that exist today are:
-~ (A} Market systems and capitalism. '
{B) Socialism and central planning.
@ Market systems and command systems.
-{D)} Laissez faire systems and pure command systems.

@ If a price floor above the equilibrium price is imposed (<= % )by government in a market
(A} Shortages of the commodity feladwill appear (Leks)
The guantity demanded wili exceed (_S)) the guantity supplied
-j\"}”!“ V@%The quantity supplied wiil exceed the quantity demanded
} The free-market equ;hbnum price and guantity will be realized

4. Capital goods, as economists use the term
~ A {A ) is the money the firm spends to hire resource
_ ¥
- refers to things that have already been produced that are in turn used to produce other goods and services

o {Q) refers‘to the process by which resources are transformed (Js=4) into useful forms
(D) is money the firm raises from selling stock

5. _As your income decreased, the demand for X increases, the X is J ),Lca "”‘\L/ —_— D ,f

/ » an inferior good

(B) anormal good
(C} aluxury good
{D} an income-neutra! good

7( 6. When we move along the supply curve of good X,
: (A} Price of good X change onlyl
(B) Quantity demand of goodX changes on}

(C) Quantity supply of goodX changes only
dncome does not changey

7. Which of the foliowmg is a positive statement?
oL {A) My eronomics class should last for two terms because it is my favorite class.
_AB} The government must lower the price of a pizza so that more students can afford to buy it (sl Gis ),

{C) The best)levei of taxation is zero percent because then people gat to keep everything they earn.
D} Anincrease in tuition (‘uuhdi s 1) will cause fewer students to apply to college.

8. The fundamenta! problem of economics is:

_—{A} To establish a democratic political framework (b} for the provision of social goods and services.

(B) The establishment of prices that accurately (282 refiect the relative scarcities of products and resources.
CV The scarcity of productive resources relative to economic wants,

(B} To achieve a mare equitable distribution {Ji= &5 of money income in order to mitigate poverty (33 (e sl

RS



g Eb_e straight-line production possibilities curve implies
(A} Decreasing opportunity costs
{B)_ Increasing opportunity costs
Constant opportunity costs
(D} None of the above is correct
Lowg Fin —8 tnors  €lasdls
10, The absolute value ({ilked Lol of the short-run elasticity of demand for bread has been estimated for 0.15. its long-
run elasticity of demand is =

{A) uncertain wighout more information
more than 0,15

{(C) lessthan 0.15

(D)£.15

11. A barber (3%~ raises the price of haircuts and finds that the volume of business declines. This indicates:
¢ (A} A decrease in demand.

{B} anincrease in demand _
(€Da decrease in quantity demanded

N y
{D) an increase in quantity demanded C LJL _
0

12. Which of the following statements about the price elasticity of demand is true?
- (AY Along a linear demand curve, the price elasticity of demand increases as price falls .
{B) Given a vertical demand curve, the price elasticity of demand is equal to infinity at every price. & z -z
{€) Given a horizontal demand curve, the price elasticity of demand is equal to zero for every output. O

(D&A!ohg a linear demand curve, total revenue is maximized when the price elasticity of demand equals 1,/
(=

. ' e
13. In the circular flow model: | F/‘/[i 7)—@-3 D
_ﬂ _ Hq}gseholds are buyers of resouices. Fi

) 'Busi}esses are sellers of final products.

{C) Households are sellers of final products.
(D) There are real flows of goods, services, and resources, but not money flows.

%

14, The branch of economics that examines the functioning of aggregate economy is
{A} positive economics

{B} normative economics
A€ macroeconomics
(D)} microeconomics

15. A decrease in demand fo:;%neras would likely be caused by
(A} an increg‘fe in the price of a substitute good '
a decrease ;Lgthe price of cameras
n increase in the price of a complementary good
{D) anincrease En;che.price of cameras

16. The demand for textbooks is price. Which of the following would explain this?
/' (A} Many alternative textbooks can beUsed as substitutegy

(B) Students have a ot of time to adjust to price changes

(C) Textbook purchases consume 3 jarge portion of most students’ income.

D)/The good is a necessary good



. F o L

17. Suppose the supply curve of good X is perfect&y elastic. if there is an increase in demand for good X, then the
equitibrium price:

A) The equilibrium price and quantity will both igcrease
@ ' %7) he equilibrium price will remain unchanged but equilibrium guantity will increase
C) The equilibrium price will increase but equilibrium quantity will unchanged
(D) The equilibrium price and quantity wifl bot}z decrease.

18, if the absolute value of the price elasticity of demand for a product is equ%}to 0.5, then a 10 percent decrease in
/pr:ce will o 5 B0H '
@!ncrease quantity demanded by 5 percent ‘ o)
(B) Decrease quantity demanded by 5 percent
(C) Increase quantity demanded by 0.5 percent
{D) Decrease guantity demanded by 0.5 percent

19. Refer to the figure; the production is currently operating at Point A. The best explanation T\

for this is that 'g \\\
{A) the economy has very poor technology ~ o .
.the economy's resources are being used inefficiently % \\
{C) the economy has very few resourcesz (‘3 @ \
{D) the economy operates as an efficient market A AN
3 “ff ‘57 ‘9] RS 5
. 20._An increase in excise taxes on ci gare te w;!l P / *"5!”7) Consumer goods

{A) Increase the supply of cigarette through movement along the supply curve to the right
Increase the supply of cigarette through shifting the supply curve to the right

( } Decrease the supply of cigarette through movement along the supply curve to the left
;&}rease the supply of cigarette through shifting the supply curve to the left

Part B: Essay Questions (4 questions, 50 Q@Engs in total)
Write your answer in the paper provided. Show your calculations and justifications to your answer

uesﬁ@n #1 {6 noints

Starting from an equilibrium condition-for fish, suppose that there is an announcement {«wel) that fish decreases
cholesterol {Js. 580 (&), Explain its effect on equilibrium price and quantity in the fish market. Draw a graph which

. demonstrates (~>2) your answer,

Tis amovicen—</ Wil ﬁ‘H"f{‘}C 'y .'efif‘ﬂ’;l"‘"‘”“vvl. CS A L)f Tv cvmger O
dowand (B $54) @ deconse Hre Commmer predeon b Fil F b s qﬂ.«wi‘;fﬁ‘)
Sﬂ o A %ﬁu«w{ .iu'mu-« ?}b‘v/{//(kffb l) C’awc}qvﬂ M"‘l{y

fwﬁf’r’!:/m\"w f’r’f’aﬁ w\’\l T Cvrp 4 (f)
/'mw/l 5§M{9V‘4M‘j,étc1n}%/b-/;zf1i %AIJ» T cvrmer [f)

i




@uestsoﬁ #2 (15 points)

Consider the market for Pizza. The figure below shows how many Pizza consumers demand and how many Pizzas fir
- supply at different prices. Given this information, answer the following questions

15 e
12.5
o 104
L]
&
[
T
5-
R 7 TR R 1V
Cuantity

A. Determine the equilibrium price and quantity?.(2poinis)

F;Mlﬂ;h\ f}’x .............. Ko
z,ia(em‘j % ’:,‘

B. Suppose that government imposed a price ceiling of $7.5, would there be a shortage or a surplus at this
e price? Why? How much is the size of this shortage or surplus? (4points)

{more K ha
TR TAL - Jl;,,z}-e -~ ity B hliankihy.. brmﬁﬂcj’f/ <o £ T - M/

%mﬂm&"§ J&;ff‘ﬁ'&/ C&d SZV) [Cp.f if&)

Jl«gayhg—r - @fj i gt 4 o ]5;3 REAIY,
C. Calculate the midpomt price elasticity of demand (Ed) betiween the equilibrium price and the prlce of 57 5
Is the demand elastic or inelastic? (5poznfs) ( P; e-*/ %); Zuo

) .
E&Q C?L q)“ 43’( P‘ipl i %2@ "2rias<=~ el \:‘h

Q@;\‘Qi . p'z,-*]?i

33‘@ X T W '"?7»‘5 T = 2 S

D. Suppose that @Wes t&ﬁe:n show its effect on demand, supply, equilibrium price, and
- equilibrium quantity of Pizza? (4points)

— #as— ﬁ)-n/,r
Demand: __
Supply:
Equilibrium price: __
Equilibrium quantity: __t

rs



U
Cuestion #3 (15points) ¢ ot \\

Consider the following possible combinations of T-shirts and CDs that

coulid be produced per year.
I Alternative T-shirt CDs | Opportunity
cost of one
more T-shirt
A o 105 s
B 10 100 ¢ .5
C 20 90 1,
2D 230 470 5 /
4 CE 40 Lao
F 50 0 / U ;
o +

1o 20 30 R et
)/Draw the ‘production possubthty curve (PPC) Put T-shirt on the horizontal axis { <l ,uu) and CDs on t;}r;é””’
vertical axis. (3 points)

/ Complete the above table by caiculating the opportunity costs of producing more T-shirts. (4points)

~C. If the society is currently producing at point E. What is the opportunity cost of producing one more CDs?

Show your answer (3points) T
) 0L (m; T {,/( . bbb Tt

D. Suppose that the technology used inlﬁroducingﬁ -shﬁgﬁmproveg while (L )@of the CDs does not cha@

/ ‘Draw a2 possible new production possibility curve on the same picture showing the effect of the change in
technology. (Spoints)

/“{ 7 .‘.f').f"ﬁiff.ffﬁfﬁfi.fIﬂfffﬁﬁﬁffﬁf.‘ffﬁ.'f.'if.'ff.'.'"ffff.'..iff'f.'fffffﬁ:.f
WJ Jd I

y
avtavmIraarans fenobimenatrravralerarnaernnsanrtasabns pharFhurssraarrata

Tk, v L
‘?< E. Explain why the society cannot produce a combination of 40 T-shirts and 70 CDs. (Zpoints)

Lh» b 7 fm nt. Ma s ‘:fa) U ma(:};f/(—( a} J’)ﬁ .. FPC e &’n.// '—w'a.JlJ
o LRI, L. % el kal-ej} (‘m/m-,# mJa bt s CRNL J- ST P— ,J—
./j Jras. o ihrl’ P }Trf,{ qy{yﬂkﬁm-r b e f\fmfagj w—-;'> FAm ﬁ?ffwy/g,&dy o ’D

B il it T w«w% il Pl

kol QL .

4 : . :
ffvcl%c -y / ¢ \:L:}awcu. 3. regel Ay f’mu
U, (“‘P}b be qble = [

2 W, )

Fifl.ok(j],\ 3‘» , b‘}‘(‘:b)
]
(I’G’a(wt

Fo w8 CY)



Question #4 (14 points)

- Consider the following combinations of prices and guantities of shoes:

Price of shoes | Quantity of shoes | Total Revenue Q PJ?@}
M "ti{j}.{(. 20 26 526 = tewls
240 22 N o, T I
60 18 lpFo s &t
80 14 1./20 570 X ih
ko, 100 10 - (oo / »_hmw
W™ V120 6 S0 | - 1e

lculate the total revenue TR for each price level. (3 points)

B. Calculate the price elasticity of demand when the price of.shoes increases from $20 to
elasticity). (4 points) 226/ Qa2 j Piz20/ Po sits)

e

v 218 _
ﬁ-"]’lg Yo ~Te ":}3;"% 7! t é%?@ g’?;é
R 0(»‘5 fﬂﬁA
/\ Yne (asd

C. Calculate the price elastr(gxty of demand when the price of shoes increases from SlOO t0 $120 usmg pomt v '

elasticity). (4 points) Proioe — Py = .*24) C@ = o / G2

ol - ;f;.*.m , 2357

}?;’[HM’?/( il}\ e {ashvi,
e

D. What happens to total reverue as price increases? (3 points) - 1 |
By v ff{\uﬁg L evrva— Sron b”@ &, Lu,) Ahe Todw \":,Zﬂ )
< n t5
Ai"" Il" Cvpiiy &fav\ ( fg% ‘:‘:@ ‘g}f”) ) Pf - } R — J’ Cling &

welasd e dlis
Pevon

bwd  ben ™ Cncmeac &0 (_i"d v /Zv) i TR e vy

_07*"’”‘ Ll&da & :f?/w/ *‘_—:) PF/E/\L' —:ﬁtﬁéw‘m/ i elg il

fw dhi) fow/vﬂ.
T Ey( } iloa . ] ]
A ke ﬁj_u ke 5’?’\.}4; 53 lf\{jl’l-i ;'tﬁ Wy ¥ rd'_j}?f;
e - < < 10\4/ 9 ir\-\c’faf}*“‘)
o 7
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PART I: (40 POINTS)

Q1.
Answer each of the following questions in the space provided: Shosg your work

1- The following table shows the different combinations of consumer goods and capital

goods that can be produced in a country with its fixed recourses & technology

Combination 1 Capital Consnmer goods
Goods ( tons }

s A 0 80 R

/ B 1 75 |

{ C 2 65 |

A\ D 3 (25)% S0V
B 4 25
F 5 0

Answer the following questions based on the above information

a~ Draw the production poss:tbﬂmes curve (ppc) for this country (Iabel the axes)

\\:E\} QODGS\

<, s‘%ﬁﬁ 11‘9(01 L B pC@%QM%Dﬁ%O:mEb
b- Suppose this ry 18 currentl?r (%SL) producmg 2 units of capital goods, and 65

tons, of consumer goods and wants to increase the production of consumer good, by

one ton, what 1 18 the opportunity cost of this extra ton of consumer goods? Show your

buwiky ok & ova extio bon cbgoveimal geads = .ﬁ%

work.

o?’eof

= 0.06 = \g-cis__——i M%ka&




c- If this country is currently producing at combination A and decided to produce at

combination D. what is the opporiunity cost of producing 3 units of capital goods.

| . e §

§ oo el = CRaA0e b {ovnglitng{ Ooos

DD Fi.-"-,é"is,iidi (oo = DMAIARE LA SO i ==
V5 o

3 T £ . -
e by iz g "_‘f‘i}_‘a o
Chang s Logiias o
¥ # /

d- Suppose that new technology.allows country to produce doubles («2=l=5) the capital

goods, it can produce with the available resources, what will happen to the (ppc),

explain and show that graﬁyhically’on the same above graph. " ( ‘ )

Eq @‘m&;émﬁ. tho @_?-:E-c doeds o counby % il Mﬁ%’? a:{ P{pﬁ\ *ik&iﬁ e

e e Sudue nesse Yo ouadolde ond e cot %Sgbgsgfd R
d dulls Jo e m:dkér, WCHGaghng e

Waddd
Whhele  cufve  indeas  om
. ; de. puallalole rghufes ks
oo alatny ek Mﬂ e S U )

; \ ~ y
Copteh e AT~ NNAsE manleang

\““‘5\\\{ > Gfta. '\&i\%&" g ?Vwiwﬂf-“;}
o gpods thab e WOu€ 000

/i/e d - {\% N us,e\g’”% Ll empianpand dred €11

: !
' 1 T i

*/’A -\\ ol regounles,
(E— ’

1 2
- . 1 zow 30 U 50 64 76 B Cornsus
e- If'this country is currently profucing 3 units of capital goed and 35 tons of consumer

goods, 1s this combination of production; efﬁc;ent, or unattainable?
e,

Explain you answer ' o
%\z CQLAH; LIS aifépﬁg URing 3 waiks. a&ﬁ% W@&; i.;g

* | sty D s VS Bt Theavis ‘
\&M%@@g%j; afPhought ks abaneldebuk c‘cayg{&&@aﬁ’
g.em od Moavs he dacled uge ke cupllablePecides efbieniy ov
ok wodo pfodace less onoioble wgodies

@f&dé\k\g\

T RSN E W

[ ongungs’
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Q2

Suppose the total demand for wheat and t7ie total supply of wheat per month are shown in the

following table:

" Suppose that the government sets a.price at 3 /70 fop-1i

- Quantity demanded Price per 3 Quantity supplied
(000 kg) R | (000kg)

85 72
80 7

EN s
76 77
65 79 T
60 81 i

4T =

What 1s the equilibrium price of wheat?

P
e o

What is the equilibrium quantity of wheat

At price equal 4.60 W be a surplus or shortage of wheat in the
market < {4 (;x\w?\__ 7

Howmuch 738 _45- / show your calculatoions.
L
i :

—y

R o T

price floor? it waoidd . ‘02\3“’59- % ‘A

Suppose the government give a subsidy'to. wheat farmiers
What would be the effect of that on the following ( write: increase, Decrease, or not

change):

- Demand for wheat \r O

- Supply of wheat__ jw\¢

- Equilibrium price of wheat _clec feas.

- Equilibrium quantity of wheat
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PAR? . ) e DA A
Multiple Choice - R

1. Which of the following would Not shift the supply curve of good X to the right? %
a- An increase in the number of seilers of X«
b- A reduction in the taxes on producers of X. »
¢~ A reduction in the price of resourses used in producing X. %
@ An increase 1n the price of X7
e- Animprovement in technology affecting the production of X«

2. which of the following is Not considered economic resources? y
AN a- Machines used by faciery (x3s) prodeciag shirs. X flans
T B)Output produced by business firm. %L‘"‘ﬁ ol ahilhy
/\/" . 7 Worker employed by government.y, enbrepreiass ?
d- Oil deposits (hish 5 35) located in a comntry. 4 ”/@F‘l'ﬁ)’

e- The professors of economic (Lamyi x\ul) at Birzeit University.

3. The idea that the desires of resource suppliers and producers to further their own self-
interest will automatically further the public interest is known as:
a- consumer sovereignty
@ the invisible hand
c- derived demand
d- Profit maximization

4. Both supply and demand decrease, the decrease mn demand, however, is greater than the decrease
i supply, then
a- ‘both equiiibﬂum quantity and equihbrmm prcewillincieass.

' both equilibrinm quantity and equilibriurn price will decrease o/
c-  equilibrivm quantity will decrease but equilibrium equilibrium price will increase.
d- equilibrium guantity will increase but equibbrinm price will decrease.
e- equilibrium quantity and equilibnum price will stay constant.

-

5. The key economic concept that serves as the basis-for the study of economics is:

a- Inflation.
b- Unemployment.
c- Money,
- JScarcity .

6. When supply decreases while demand is fixed, then
a- both equilibrinm quantity and equilibrium price will increase.
b- both equilibrivm quantity and equilibrium price will decrease. &
¢~ Jequilibrium quantity will decrease but equilibrium price will increase..”
d- equilibrium quantity will increase but equilibrium price will decrease .y,
e- equilibrivm quantity and equilibrium price will stay constant.y

Plhiee tearease




7.

10.

6

Which of the following 1s a normative economic statement about the cigareite market? ... ..
a- taxing (oo A s xa: ) cigarettes makes people buy fewer cigarettes.-» '
b- taxang cigareties will raise the price of cigarettes:y,
¢~ atax on cigarettes will place a higher burden { 5 tue ~o=3) on consumers if their demand
becomes more melastic. «
d- taxes on cigareltes will generate (L—*A:u il 53) more revenue 1o government. %
gfej\a tax on cigarettes 1s a good idea \;_x; & 53) because the government should dlscouragmo (Bl

"‘jeu) bad habits (R 5is) /

A sha1p increase (= ¢4 ,0) in the price of coffee (which is a substitute for tea) Wﬂl result i, .
@:\ An increase in the demand of tea.” D /i\ @O} C\!,/ D L '{\

b= a decrease in the demand of tea

¢c- an mnecrease in the quaniity deinand of teay

d- adecrease in the quantity demanded of tea.y
e~ an increase in the quantity demanded of coffee 4

if the demand for a good 15 perfectly inelastic then the demand curve for that good i3

a- downward - sloping. } \

T

(\:Dj vertcal (goses). »‘ :
&~ horizontal {%) L‘L—’_‘
d- upward - sloping: ) ' . ;

e~ concave {<8e). - -

OPEC(dJs_ bl s nuadl U8} 1.ki) countries try to increase the price of petrolenmn because this
mcrease in the price will results in increase in their total revenues. This is troe if the demand for
petroleum Is ' ”YR’T‘__ P/’? ¥,

a~ Unit elastic ~ T U 0

b- Elastic=

f@ Inclastic
= Perfectly elastic™™

Nine of the above since there is no relationship between the price and total revenue.,

eloghic. TRV | P 1
melglic. - e P A

[
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Refer to the above figure. If box A represents businesses and flow (7) represents goods and
Esg;vices, then:
{a~ Box D is the product market and box B is the resource market
5~ Box D is the product market and box B is households
¢- Box B is the product market and box C is households
d- Box C is the product market and box B 1s the resource market

Loan 21 R A T S  ka Sa aTSEPSE PEY.p

a- An efficient allocation of resources =
b- Egquality in the distribution of income %
o- Personal freedom

(3-) The use of money

13. ‘When the demand curve is honzontal (%,5355), we can say that demand is

a- clastic. 7

b- inelastic. : 7 . é@{ y

c- completely {perfecily ) inelastic. -
completely {perfectly) elastic. o : P

e- none of the above

14. demand is elasiic, then
@a decrease in price will canse an increase in total revenues,
b- a decrease in price will cause a decrease in total revenues.
¢- am increase in price will make total revenues at maximum. &
d- an increase in price will not cause any change in total revenuesy

e- none of the above. 4

= Py
.- PxQ@

) W

5

[
e,
=
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15. When the percentage change in quantity demand 1s less than the percentage change in price, then
a- demand completely (perfecily) inelastic. .
b- demand is completely (perfecily}.elastic. ) gﬂi :%_Z;@“.n i‘ J
c- demand is elastic. 7 A D /?
d- demand is unitary elastic. E’CA P !
S

demand 15 inelastic

16. The economic problem in concerned (zllas <2 ASywith
a- how society uses its hmited recourses to satisfy its limrted wants
b- how society uses its unlimited resources fo satisfy its Iiré’ted wars.
c- how soctety uses its unlimited resources to satisfy its unhimited wants.
£ d- j bow society uses its limited recourses to satisfy its onlimited wants.
e- how to buy stocks (pe=l) in the capital market (el sy @)

17. Consumer’s income increases, as a result, the demand curve for good X shifts to the Iefta'then

good X 1s TN

a- anormal good. / _ Woweg ’f\ NOANAY
an inferior good.

c- a substitute good./

d- & complement good./

e- none of the above.

18. An increase in the price of an input (cost of production) will lead to (is2%)
a- an increase in demand. ' AP gﬁ?&}r
b- “ar'increase in supply. '
c- a decrease in supply.
d-_a decrease in demand .

none of the above,

19. All economic systems must answer certain fundamental economic questions. Which is
not one of these questions?
a- Which actions should governnzent take to reduce inflation?
= How will the goods and services be produced? '
¢~ What goods and services will be produced?
d~ Who 1s to receive the output?

20. the quantity of new cars incréases by 10 percent. If the price elasticig of demand for new cars is
’%rﬂtlm‘pri'ce of a new car should have., EA ~ LQ/ — 0

T Fallen by 20 percent — —
- b. Fallen by 10 percent 7 m\ T :'
@«Eaﬂen by 5 percents#®” ‘ iéff @
_ Fallen by 2 percent =8 =/ !
e. None of the above_ istrue Vf/ 2 — /»E‘-—Q‘“"’ :
‘ P
—.-)V-
..—»—--* - — ®
K
Y 7
o . e
S S
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1. The prige elasticity of demand coefficient indicates (_ws):
&) buyer responsiveness to price changes.
b. how far business executives can stretch their fixed costs.
c. the slope of the demand curve.
d. the extent to whizh a demand curve shifts as incomes change.

2. Macroeconomics approaches the study of economics from the viewpoint of:
~ a. the operation of specific product and resource markets.
/20l S h )y b, individual firms,
d. governmental units. W9
Lo ly CuDy
3. The law of increasing opportunity costs states that:
.. ifthe prices of all the resources used to produce goods increase, the cost of producing any
particular good will increase at the same rate, '
b. _if the sum of the costs ol producing a particular good rises by a specified percent, the
price of that g&ad L;nust rise !1_32 ﬁ grea%iqtymﬁgmoym_. " lﬂ‘J‘l@ 94
c. th&Sum of the _ﬂéoéts of prgducmg a parficular good Sannot rise above the current market
- Pricgof l’chatc g(jec‘l. ) _ASH g_&& < T t);\pi .
@ if ociety wants to produce more ofa ;?artlcuiar good, it M sa_n_r{f_ig:: larger and larger ‘

—— s

amounts of other goods to do so. - b =3
: g T - =
E G o I L R »'_p_J“‘
Use the following to answer question 4: s
., A E
@
5
& ‘ B
) D
© Q
= c
T
i \\

0

Consumer goods
4, Refer to the above diagram. This economy will experience uremployment if it produzes at point:
ay A.
b) B.
c) C.
AV D
o
e)
5. An improvement in production technology will: .
(21;7 shift the supply curve to the right.
b.  shift the supply curve to the left.
c. shift the demand curve to the left.
a)  increase equilibrium price.



Use the following to answer question 6:

................................... 8 RTINS FOTOTRITRTRON e S (VSO
: RESOURCE | :
: :b‘" MARKET . )
— e ) .......‘;..‘.-.f:?;'g‘{fec
i v ’
IV | BUSINESSES HOUSEHOLES—J sixlig)t
{ -
: . |PRODUCT
i i
oW emamer |
(4)

6 . Refer to the above circular flow model of the economy. In the diagram flow (1) represents:

a. consumer expenditures. FITE . )
b. goods and services. 5
c. land, labor, capital, and ertraprencurial ability.

@‘ wage, rent, interest, and profit income. ,}.\

¢ sger alu))ap _o)) e

7. The concept of opportunity cost is based vpon ((_.,-‘n L) the prlllclp]l:: of
—_— R e
a. Need.
b. Consumption.
= /‘
(&> Scaucity. S ad)

d. Profit. :‘_}\S_/g\ TATE o \fp

. Which of tLe following is NOT considered as major factors of pmdu:uon‘?

ek

ay Labor.
b) Capital.
¢) Land. i, - & ,
; : e
Ca s o
Ly

9. The basic coordinating mechanism in a free market system is ¢ ol L‘"{’ L
——

L]

d) the corporation.
10 . An increase in consumer incomes will:

a.increase the demand for an inferior good.
b.increase the supply of an infzrior good.
“&increase the demand for a normal good.
d.deccease the supply of a normal good.



11. Which of the following is a distinguishing feature 5 e 4ba

of a market system?

a.

b

B
d.

central planning.

private ownership of capital.
public ownership of all capital.
all of the above

12."Productive efficiency" refers to:

J'-lr
).\.DJL._'L—

fD
the use of the least-cost method of production.

b. production at some pomt inside of the production pDSSlblIltleS curve.
c. the production of the product-mix most wanted by society.
d. the partial employment of all available resources.
13. At the point where the demand and supply curves intersect:
e
a. the buying and selling decisions of consumers and producers are inconsistent with one

!a.(.o),e

another. o f-”—‘~\\
the market is in disequilibrium.
there is neither a surplus nor a shortage of the product.

—

14. In which instances will total revenues decline?
———

a.
b.
c.

(€%

N .
Price rises and@quals 4l dok. /Aﬂ\)\z};
Price riges and demand is of unit elasticity
Price fe?ﬂs and (}emalw

Price rises and Eq equais ?él RS A £ ?
[ o

$2.001 | S
$1.50

$1.00 |-

Price (per gallon)

0 200 272830 35
Millions of Gallons of Milk Per Week

2 3, f'-(*\\u
¥ _o QQ < CQS SuAR
3



15 Refer to the above diagram. If the price were $2 per gallon, theiz would be a:

a. Shortage of & million gallons
b. Shortage of 10 million gallons
@ Surplus of 10 million gallons
. Surplus of 8 million gallons Which is not a determinant of demand?

16.  Suppose the price elasticity of supply for crude oil i How much would price have io rise to
= o - .

increase production by 20 percent? & }9_ . B wpq -2s

i ° G
@ 8 percent i \'y 9__’!‘?_'_*

b. 12.5 percent o | XY '

c. 20 percent

d. 45 percent Y -«’i\

17.  "When thdprice of a product jfalls, the purchasing power of our money incomd rises and thus

permits consumers to purchase more of the product.” This statement describes:

a. an inferior good.
@ the income effect.
o. () the rationing functior of prices.

. the substitution effect.
18. The law of demand states that:

price and quantity demanded are directly related.

the larger the number of buyers in a market, the lower will be nroduct price.
. consumers will buy more of a product at high prices than at low prices.

@ price and quantity demanded are inversely related.

/
||

PP

~
9. Suppose the income elasticity of demand for toys is +2.00. This means that: -
- e la=nG
2} a 10 perecent increase in income will increase the purchase of toys by 20 percent.
b. toys are an inferior geod.
c. a 10 percent increase in income will d~crease the purchase of toys by 2 percent.
d. a 10 percent increase in income will increase the purchase of toys by 2 percent.

: 2
20 Suppose that as the price of Y falls from $2.00 tohe quant’ty of Y demanded increases

ﬁ'omj 110)to Then the price elasticity of demand is:
. 3ok F MR oW
. e T 18s

= -o40 o he3

\.,"-,?13
Q.00 s &Y 5
B, 80
e




21. A rightward shift in the demand curve for product C might be caused by: i

". a decrease in the price of a product that is complementary to C. —_—

a decrease in the price of a product that is a close substituie for C. V& &
a decrease in income if C is a normal good. . » <
an increase in income if C is an inferior good. ¢

o o =(F)

Use the following to answer question 22:

Hice

Quantity

it

22 . An increase in quantity supplied (as distinct from an increase in supply) is depicted by a:
- - -

a.  ashift from 81 to S2.
b. shift from S2 to S1.

%3“’% move from point x to point y.
d

move from point y to point x.

23. A -positive. income elasticity of demand coefficient indicates () Ji) that:

a. A product is an inferior good
@ " A product is a normal good
c. Two products are substitute goods
d. Two products are complementary goods

24. The main function(Ruhys) of the entrepreneur is to:

a. create market demand.

b imnovate.

¢. purchase capital.

d. make routine pricing decisions.



PART 1i: (40 pts.)

1. Given the following production possibilities table:

PRCDUCTION ALTERNATIVES

Product A B Lo
Pizza 0 1 2
(hundred
thousands)
Robots 10 8 5 1 0
| (thcusands)
» R
a. If the economy is at point C, what is the cost of one more pizza? Show your work oW §
(3pts.) JE e P bets / Na b e

; it Ces
gl OFPet b o (029 =57 N

(Genl3-2) oo
p

A~

b. If the economy is at point C, what is the cost of one more robot? Show your work

(3 pts.) :
P / é_;% = Q -~ ZJEH«W&‘@O %!"9"'50““0

Gz ; o =
i . ﬂ,—"!‘ .';'., C@zf: ,£>m. * E
:«f’a{g-i.m} (}Pﬂ-if“”" / ""'zé_ W@& (8—9) rfs:%'lﬁwjt:‘w@a
-Ef__ 2 w\/ , e T L bindd = ”“j_,;fi.
&R L= ™ 3 . -
s = % \ \)\(\\Y‘fb$ fc)(i \

RS ot

i

—
P 2 33.3 Prezn
= 2 bg \ 23 })
2. What happens to price and quantity when: {3 pts.each)
( Fill in the bianks and show with graph)

0
=

a. Supply increases and demand decreases

»"

Price: __dle clease
Quantity: _iacdetetu «QQQ/




e X
§ wh ,
b. Demand increases and supply decreases

Price: _ lncyRoac

Quantity: Ty Agi:Qrev:t\}Q;/

¢. Demand increases and supply decreases

Price: S

Quantity:

Pe b
v el
d. Demand decreases and supply decreases equally

Price: Inrﬁeﬁieﬁn‘.«g@é‘

~ Quantity:_decre f
73 e o) ai;/

\

VY

Y
/ v at

AR
e. Demand increases and supply increases equally

/
Price: 1. ,ﬂgi: ggﬁﬁlx&%\

Quantity:___inclease.

3. How would the following changes in price affect tctal revenue(TR)? Does TR

increase, decrease, or stay unchanged? (2 pts. each;

P Ea X\

a. Price falls and demand is inelastic. "ﬂ? -2 de Cfr:f*-}g""

S S
% Zzue
P

b. Price rises and supply is elastic. T R - wcfeas e
. o ’_;::—— I
ENPI s =RV B T
& Pri‘ce rises an TR » cge_c@,jaf{e
Drmaﬂo{——s ¢ lasti(c =

\ \ Y
(nelashé /JL{;_\)
UMK e \aone I ser

" \of‘DHb
e




7\
® |
d. Price rises and@ inelastic TR 'w\,d'@:(g/

Py

~J g

e. Price falls and demand IS@ R mc{fy
Bl g[% '

4. True or False ; circle the correct answer ( 3 pts. each)
(D) B \ y {
épkg) s = o, L U )

M elasticity coefficient of zero suggests that the two goods ars

substitute goods. @\05"\“’“ ===
True @
Cs\,=o! U5, fotes

b. "A positive cross elasticity coefficient means the two goods are
complementary gopds. '

True @
@ O\ SO Ve Jolee U
¢. A negative income eiasticity coefficient means the good is an inferior goo...
Trﬂg) ﬁalse :
/

7

o
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Answer Part I (the multiple-choice questions) here,
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Put mark (X) on the letter that corresponds to the best answer as in the following example:

_ A(} R 3 LS il Ala Yl Jiay 630 s pall e (X) 5L g
Q. @® (b) % (@ ©)
1. (@) (b) (©) @ e d
2. 154 e © @ ©
3. (@) (b) © o (©)
4. @ = (© (@ ©
s. (a) ) © @ e q
6. 3= (b) © @ (©)
7. @ ® D " ©
8, P () () (d) ()
9. (a) ) (©) ™ (©)
10. W (b) (© (d) (e)
11, 8 ) © (@ ®)
12. @® ¥ © @ (&)
13, @ (b © @ ™
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s @ e © S © | T
16. g X0 TR () ©)
17. (@) (b) © ){ ()
18. (@) = (c) (@ (©)
19, @® ®) e @ (©)
2. (@) ® © @ =




BIRZEIT UNIVERSITY
ECONOMICS DEPARTMENT

First Hour Exam
Student Name: Student No.:
Section No.:
Economics 131 : Miss. Shireen Al Basha (Section 1)
First Semester 2014/2015 Dr. Mohamed Nasr (Section 2)

Miss. Sama’ Atari (Section 3)
Dr. Rivad Musa (Section 4)

PART I Multiple-choice questions (50 points),
Circle the best answer for each of the following guestions:

1. Which of the following is NOT a characteristic (uailaa) of market system?
a. Private property of resources.
b. Freedom of enterprises and choices.
c. Competition in product and resource markets.
d. Price mechanism in achieving (Js=3¥) society’s goals.
Government ownership of the major industries (e il Slalially |

2. For inferior goods
@ income elasticity of demand is positive
incote elasticity of demand is negative
¢. cross elasticity of demand is positive
d. cross elasticity of demand is negative
e. .price elasticity of demand is pesitive

3. Which of the following is a land resource in economics?
@ atractor (Us 0580 used by a farmer,
b, seads planted by a farmer {£ el ten e A 130
¢. abuilding used by a farmer to store {cu )33 seeds (L)
{@) natural gas (bl Jal)
e. pipes (w247 used to transport (U%) natural gas from one country to another.

4. The cross elasticity of demand between Pepsi-Cola and Coca-Cola is

a. negative
(@) positive
€. ZEro

d. infinity (e ¥ L)
e. can be negative, positive, or zero

5. Whlch of following statements applies (u-‘f- Gaki) to microeconomics?
- The inemployment rate (Wlad) J5) in Palestine exceeded ( 53 25 percent last year.
National income (s Jaalf) in Palestine has decreased sharply during the last few years.
In Jordan, average price level (inflation rate a3t J1e<) did not change much this year.
High interest rate (330 =) caused private investment to drop sharply (s JSSy iai),

(ﬂppvw

6. Ifthe price of shirts increased by 50%, then

neither the demand curve nor the supply curve will shift

the demand curve for shirts will shift to right, but the supply curve will not shift

the demand curve for shirts will shift to left, but the supply curve will not shift

the demand curve for shifts will shift to right and the supply curve will shifi to left at the same time
the demand curve for shifts will shift to left and the supply curve will shift to right at the same time

.‘“P—PP‘@

Bad weather (is2,! w4ikl) in Palestine caused (4 w4 the price of olive oil (052 <u 3) to increase this year.




;._,,,7 A productmn—posmblhtles curve is bowed out (concave) from the origin bacause
a. the economy is growing over time
b. the economy is not producing efficiently.
c. of the law of increasing costs.
FESOUrces are scarce.
e. resources are not scarce.

8. Suppose Tea and Coffee are substitutes, while Tea and Sugar are complements. Which of the following will cause
(& i) the demand for Tea to decrease?
An increase in the price of Sugar.
. An increase in the price of Coffee.
c. An increase in the cost of producing Tea.
d. An increase in the price of Tea.
e. Anincrease in consumer incomes.

9. If the price elasticity of supply for freezers is equal to 4, then a 10% increase in price of freezers will cause the quantity
supplied to

a. decrease by 2.5%

b. increase by 2.5% 0 = Q ‘

¢. decrease by 40% 47,
increase by 40%

e. increase by 0.25%

10. The demand for a product is more elastic
in the long run compared (4 i<} with the short run.

b, if there are few or no close substitutes for the product.

c. if it represents small proportion (L= ¢ =) of consumer'’s budget.
d. ifitis a necessary product.

e. if its price is very low.

11. In the circular flow modél,
businesses are sellers of final products.
5. households are buyers of resources,
c. households are sellers of final products.
d. both businesses and households are sellers of final products.
e. both businesses and houscholds are buyers of resources.

12. Total revenue of sellers would increase if
a. Price rises and demand is elastic.
Price rises and demand is inelastic.
Price falls and demand is inelastic.
d. Price falls and demand is unitary elastic.
¢. Price rises and demand is unitary elastic.

.13, Consider_the following. statemeni:.“Demand increases, causing-prices-to- rise. Higher prices cause demand-to fall.
Therefore prices fall back to their original levels cha¥! o] fue N Jlau¥l 3
a. This statement is correct (fu=a) always.
b. This statement is correct only if demand is inelastic.
¢. This statement is correct only if demand is elastic.
d. This statement is wrong because when demand increases, prices do not rise.
This statement is wrong because when prices rise, demand does not fall

14. The econormizing problem is concermed with (= &35
a. how society uses its unlimited resources to satisfy its unlimited wants.
b. how society uses its unlimited resources to satisty its limited wants,
(c) how society uses its limited resources to satisfy its unlimited wants.
d. how society uses its limited resources to satisfy its limited wants.
e, how to get a good grade in your economic courses.



~—
Figure 1 Figure 2 Figure 3 Figure 4 Figure 5
15, Which of the above figures represent perfectly inelastic demand curve?
a. Figmes
£, Figure 4
¢. Figure3
d. Figure2
e. Figure 1

16. If the supply and demand curves for a product both decrease, we can say that:

. equilibrium price must decrease, but equilibrium quantity may either rise, fall, or remain unchanged.
equilibrium price must increase, but equilibrium quantity may either rise, fall, or remain unchanged.
equilibrium quantity must decrease, but equilibrium price may either rise, fall, or remain unchanged.
both equilibrium quantity and equilibrium price must decrease.
both equilibrium quantity and equilibrium price must increase.

o 5o BN

17. Interms of a production-possibilities curve, economic growth may be represented {Ji<h) by
a. d point inside the production-possibilities curve.
b. apoint on the production-possibilities curve.
a point cutside the production-possibilities curve.
@ a shift of the production-possibilities curve to the right.
e. ashift of the production-possibilities curve to the left.

18. Ifthe price of cheese is expected to increase in the future, this will
a. decrease the demand for cheese now
5) increase the demand for cheese now
c. decrease the quantity demanded now
@ increase the quantity demanded now
make cheese an inferfor good ,
iz ﬂe‘;,,,z
19. The money income of Miss Amal has increased last month, She now buys more of product X and less of product Y. s
Assuming other things remain unchanged, it can be concluded (giiad) that
a. Products X and Y are substituie goods.
b. Products X and Y are complementary goods.
Product X is a normal good and product Y is an inferior good.
d. Product Y is a normal good and product X is an inferior good
..&.... Products X and Y.are independent goods. -

20. Which of following statements is a4 normative statement?
a. The price of vegotables (<l 5 a4 increases during the month of Ramadan (Sbiae y e,
b. If the price of cheese (i) decreases, the demand for eggs will increase.
¢.  Other things equal, higher interest rates (3583 =) reduce the total amount of borrowing (L' 531,
- d.  According to the law of demand, the increase in tuition (fsall 5y will cause a decrease in the number of ;
. students attending universities (xelall | laa),
) We should boycott (=4 Israeli products to encourage (z2+5) Tocal products (sl cilaioally |




PART II: Essay questions (50 points)

Answer the following questions-iri fhe ¥page provided. SHOW YOUR WORK!
1 (56 points) [ (/i

(Y
Answer the next questions on asis of the data given in the following production possibilities table for a given country:
Capital Consumer
Alternatives Goods Goods
A 5 0 w
=]
L_ B 4 15 5
C 3 27 > 5o
= D 2 .36 E G A
E 1 ) 2 ENFREN
S 3
F 0 45 © g
29 i
o T A
P23 s

Capital Good

a. Draw the production possibilities curve (PPC) for this country on the graph above.

- b. Ifthe economy is producing at production alternative (D} in the above table, what is the opportunity cost an exira unit
In Fhe  (R&u=)3: ) of consumer goods? Show your calculations!

Mearapive 72 Pf"‘@olu.{‘e akh eXEVYy U, b of C@n;umuf(?&mi; i foses /b‘ufl + of

D ccwpff‘ Goods P =+ £ L
(D) Cortel §oos BT NELTT consumer gonds
: NS T Tcapiief g00d ¢

c. Ifthe economy is producing at production alternative (C) in the above table, what is the opportunity cost an exira unit
(‘mha* 82 5) of capital goods? Show your calculations!

] Ae DPPQVIL%y]f,LD cosfy OF pf@c(mC(kwf) G =X FYE Wt of QC«P(}‘CL/‘

| ggma in Alternative (C) /)rs Jo,wj 8 ltmits oF CPMSilmer 500 s
- 2% Qj_: S = szC ﬁ c
d.” Can this country produce 12 units of consumer goods and 2 uni i ? B’ 5//
X goods an g}tﬁ(qiﬁcap11:211 goods? C,_

m Show this combination on the above graph and label it as (L)
_- What is the opportunity cost of one extra unit of consumer goods in this case? Why?

The cppe Mt iy @ost s losing Lk of C@a?r'i’“{ 3@04’3
- /5190 ConsSe Vegowrges dg SCcoy Ce

e. Compare alternatives (C) and (E) in the above table, which alterative tends to generate (s «z34) a more rapid (a)
growth rate in the future? Why?

N‘Lefmh?mgs o jensule o move V(,\/Pj,gf@“/’li

Vedg )

L (_1& n ot CCAJ"‘WE_.. be Cams g Ti“i C@Iyﬁmd )
JE’OA Fhat Can Be ‘help ‘4 TLA‘{ 5

ﬁﬁ?D’f/z 70 9’“5\(

Conjhmwﬁ@ocfj




2 {25 points)

Consider the following m and supply curves for Chickens. Quantities are in tons and prices in dollars.

p 52
‘4‘3\ —
44— S

4 O e 5 st - 7._1

36 ’a_.mz""'
2 T [
28 =
20 = =
16 S el
12
8
4 et :
0 13

v
n A 1 nn 1 =N ~ 0N L - W R YsY

o r’
a. What is the equilibrium quantltyQ(-{%nd price? .

b. Suppose that government lmposed {u=5) a price ceiling of 24 dollars, would there be a shortage or a surplus at this
price? Why? How much i the size of this shortage or surplus? (Show your calculation)

Shoyr E:J&\Co%kg@ bt b F’i"i Ce Now 7 /e,uw’ £ ] g-g.
\\ Flg %W(h,p}] will bR Sofd @ d Fhete f«ds” B Sonitmeps. w@w%_%;hj
" Cf?ickw bt do:n}’ Cy\«éf Qﬂ“QS :__,355““1’%2,-'_\" ‘

] —_— ﬂ({é’d

7] \\
™

—— I 5

~ ¢ Calculate the midpoint price elastncnty of supply when the price ranges (¢ ' %) between $20 and $24. (Show your
- o= . : SR 0 5
calculation) [s supply elastic, inelastic or unit elastic in this price range? Why? th P, Yy - 003

£, = 220 - Yo, A e D
/ZQ. o - b 7 - =
2 j/ g‘ijp‘ / ZL@ 5u¢oP/v rs e las echse Eg > |
) \

~ d. Calculate the midpoint price elasticity of demand when the price ranges (75! J4) between $32 and $40. (Show your
a!culatlon) Is demand elastic, inelastic or unit elastic in this price range‘? Why?

Yo~ 2 _ E N
mﬁ = S <02 j

a-"/ _2 )
ALD%%A ;5 Lu;,,,}-— WM;Q E
e. Suppose that the cost of raising chickens h-ﬂi A g has increased. What is the likely effect of thls increase in the

price of ratsmg ch1ckens on the market for chickens? (Wr1te trease, decrease, or no change).

o The demand of chickens: #%® l’k‘!’vx/{, j Q

/h ey t@m

//77 e The equilibrium price of chickens: d e eq _g_%

» The equﬂlbrlum quantity of chickens: d € e e S

Show this effect mi the ABOVETngﬁ"} Iabel the new curves as D’- or 8"

o The supply of chickens:
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Part iz Multiple Cholees (2.5 points each) _
Choose the one alternative that best completes the statement or answer the questtcn

1. Which one is not a factor of production:
— (A) Labor
(B} Land
 {CV Money
{D) Capital

2. The two general types of economic systems that exist today are:
-~ (A} Market systems and capitalism. '
{B) Socialism and central planning.
@ Market systems and command systems.
-{D)} Laissez faire systems and pure command systems.

@ If a price floor above the equilibrium price is imposed (<= % )by government in a market
(A} Shortages of the commodity feladwill appear (Leks)
The guantity demanded wili exceed (_S)) the guantity supplied
-j\"}”!“ V@%The quantity supplied wiil exceed the quantity demanded
} The free-market equ;hbnum price and guantity will be realized

4. Capital goods, as economists use the term
~ A {A ) is the money the firm spends to hire resource
_ ¥
- refers to things that have already been produced that are in turn used to produce other goods and services

o {Q) refers‘to the process by which resources are transformed (Js=4) into useful forms
(D) is money the firm raises from selling stock

5. _As your income decreased, the demand for X increases, the X is J ),Lca "”‘\L/ —_— D ,f

/ » an inferior good

(B) anormal good
(C} aluxury good
{D} an income-neutra! good

7( 6. When we move along the supply curve of good X,
: (A} Price of good X change onlyl
(B) Quantity demand of goodX changes on}

(C) Quantity supply of goodX changes only
dncome does not changey

7. Which of the foliowmg is a positive statement?
oL {A) My eronomics class should last for two terms because it is my favorite class.
_AB} The government must lower the price of a pizza so that more students can afford to buy it (sl Gis ),

{C) The best)levei of taxation is zero percent because then people gat to keep everything they earn.
D} Anincrease in tuition (‘uuhdi s 1) will cause fewer students to apply to college.

8. The fundamenta! problem of economics is:

_—{A} To establish a democratic political framework (b} for the provision of social goods and services.

(B) The establishment of prices that accurately (282 refiect the relative scarcities of products and resources.
CV The scarcity of productive resources relative to economic wants,

(B} To achieve a mare equitable distribution {Ji= &5 of money income in order to mitigate poverty (33 (e sl

RS



g Eb_e straight-line production possibilities curve implies
(A} Decreasing opportunity costs
{B)_ Increasing opportunity costs
Constant opportunity costs
(D} None of the above is correct
Lowg Fin —8 tnors  €lasdls
10, The absolute value ({ilked Lol of the short-run elasticity of demand for bread has been estimated for 0.15. its long-
run elasticity of demand is =

{A) uncertain wighout more information
more than 0,15

{(C) lessthan 0.15

(D)£.15

11. A barber (3%~ raises the price of haircuts and finds that the volume of business declines. This indicates:
¢ (A} A decrease in demand.

{B} anincrease in demand _
(€Da decrease in quantity demanded

N y
{D) an increase in quantity demanded C LJL _
0

12. Which of the following statements about the price elasticity of demand is true?
- (AY Along a linear demand curve, the price elasticity of demand increases as price falls .
{B) Given a vertical demand curve, the price elasticity of demand is equal to infinity at every price. & z -z
{€) Given a horizontal demand curve, the price elasticity of demand is equal to zero for every output. O

(D&A!ohg a linear demand curve, total revenue is maximized when the price elasticity of demand equals 1,/
(=

. ' e
13. In the circular flow model: | F/‘/[i 7)—@-3 D
_ﬂ _ Hq}gseholds are buyers of resouices. Fi

) 'Busi}esses are sellers of final products.

{C) Households are sellers of final products.
(D) There are real flows of goods, services, and resources, but not money flows.

%

14, The branch of economics that examines the functioning of aggregate economy is
{A} positive economics

{B} normative economics
A€ macroeconomics
(D)} microeconomics

15. A decrease in demand fo:;%neras would likely be caused by
(A} an increg‘fe in the price of a substitute good '
a decrease ;Lgthe price of cameras
n increase in the price of a complementary good
{D) anincrease En;che.price of cameras

16. The demand for textbooks is price. Which of the following would explain this?
/' (A} Many alternative textbooks can beUsed as substitutegy

(B) Students have a ot of time to adjust to price changes

(C) Textbook purchases consume 3 jarge portion of most students’ income.

D)/The good is a necessary good



. F o L

17. Suppose the supply curve of good X is perfect&y elastic. if there is an increase in demand for good X, then the
equitibrium price:

A) The equilibrium price and quantity will both igcrease
@ ' %7) he equilibrium price will remain unchanged but equilibrium guantity will increase
C) The equilibrium price will increase but equilibrium quantity will unchanged
(D) The equilibrium price and quantity wifl bot}z decrease.

18, if the absolute value of the price elasticity of demand for a product is equ%}to 0.5, then a 10 percent decrease in
/pr:ce will o 5 B0H '
@!ncrease quantity demanded by 5 percent ‘ o)
(B) Decrease quantity demanded by 5 percent
(C) Increase quantity demanded by 0.5 percent
{D) Decrease guantity demanded by 0.5 percent

19. Refer to the figure; the production is currently operating at Point A. The best explanation T\

for this is that 'g \\\
{A) the economy has very poor technology ~ o .
.the economy's resources are being used inefficiently % \\
{C) the economy has very few resourcesz (‘3 @ \
{D) the economy operates as an efficient market A AN
3 “ff ‘57 ‘9] RS 5
. 20._An increase in excise taxes on ci gare te w;!l P / *"5!”7) Consumer goods

{A) Increase the supply of cigarette through movement along the supply curve to the right
Increase the supply of cigarette through shifting the supply curve to the right

( } Decrease the supply of cigarette through movement along the supply curve to the left
;&}rease the supply of cigarette through shifting the supply curve to the left

Part B: Essay Questions (4 questions, 50 Q@Engs in total)
Write your answer in the paper provided. Show your calculations and justifications to your answer

uesﬁ@n #1 {6 noints

Starting from an equilibrium condition-for fish, suppose that there is an announcement {«wel) that fish decreases
cholesterol {Js. 580 (&), Explain its effect on equilibrium price and quantity in the fish market. Draw a graph which

. demonstrates (~>2) your answer,

Tis amovicen—</ Wil ﬁ‘H"f{‘}C 'y .'efif‘ﬂ’;l"‘"‘”“vvl. CS A L)f Tv cvmger O
dowand (B $54) @ deconse Hre Commmer predeon b Fil F b s qﬂ.«wi‘;fﬁ‘)
Sﬂ o A %ﬁu«w{ .iu'mu-« ?}b‘v/{//(kffb l) C’awc}qvﬂ M"‘l{y

fwﬁf’r’!:/m\"w f’r’f’aﬁ w\’\l T Cvrp 4 (f)
/'mw/l 5§M{9V‘4M‘j,étc1n}%/b-/;zf1i %AIJ» T cvrmer [f)

i




@uestsoﬁ #2 (15 points)

Consider the market for Pizza. The figure below shows how many Pizza consumers demand and how many Pizzas fir
- supply at different prices. Given this information, answer the following questions

15 e
12.5
o 104
L]
&
[
T
5-
R 7 TR R 1V
Cuantity

A. Determine the equilibrium price and quantity?.(2poinis)

F;Mlﬂ;h\ f}’x .............. Ko
z,ia(em‘j % ’:,‘

B. Suppose that government imposed a price ceiling of $7.5, would there be a shortage or a surplus at this
e price? Why? How much is the size of this shortage or surplus? (4points)

{more K ha
TR TAL - Jl;,,z}-e -~ ity B hliankihy.. brmﬁﬂcj’f/ <o £ T - M/

%mﬂm&"§ J&;ff‘ﬁ'&/ C&d SZV) [Cp.f if&)

Jl«gayhg—r - @fj i gt 4 o ]5;3 REAIY,
C. Calculate the midpomt price elasticity of demand (Ed) betiween the equilibrium price and the prlce of 57 5
Is the demand elastic or inelastic? (5poznfs) ( P; e-*/ %); Zuo

) .
E&Q C?L q)“ 43’( P‘ipl i %2@ "2rias<=~ el \:‘h

Q@;\‘Qi . p'z,-*]?i

33‘@ X T W '"?7»‘5 T = 2 S

D. Suppose that @Wes t&ﬁe:n show its effect on demand, supply, equilibrium price, and
- equilibrium quantity of Pizza? (4points)

— #as— ﬁ)-n/,r
Demand: __
Supply:
Equilibrium price: __
Equilibrium quantity: __t

rs



U
Cuestion #3 (15points) ¢ ot \\

Consider the following possible combinations of T-shirts and CDs that

coulid be produced per year.
I Alternative T-shirt CDs | Opportunity
cost of one
more T-shirt
A o 105 s
B 10 100 ¢ .5
C 20 90 1,
2D 230 470 5 /
4 CE 40 Lao
F 50 0 / U ;
o +

1o 20 30 R et
)/Draw the ‘production possubthty curve (PPC) Put T-shirt on the horizontal axis { <l ,uu) and CDs on t;}r;é””’
vertical axis. (3 points)

/ Complete the above table by caiculating the opportunity costs of producing more T-shirts. (4points)

~C. If the society is currently producing at point E. What is the opportunity cost of producing one more CDs?

Show your answer (3points) T
) 0L (m; T {,/( . bbb Tt

D. Suppose that the technology used inlﬁroducingﬁ -shﬁgﬁmproveg while (L )@of the CDs does not cha@

/ ‘Draw a2 possible new production possibility curve on the same picture showing the effect of the change in
technology. (Spoints)

/“{ 7 .‘.f').f"ﬁiff.ffﬁfﬁfi.fIﬂfffﬁﬁﬁffﬁf.‘ffﬁ.'f.'if.'ff.'.'"ffff.'..iff'f.'fffffﬁ:.f
WJ Jd I

y
avtavmIraarans fenobimenatrravralerarnaernnsanrtasabns pharFhurssraarrata

Tk, v L
‘?< E. Explain why the society cannot produce a combination of 40 T-shirts and 70 CDs. (Zpoints)

Lh» b 7 fm nt. Ma s ‘:fa) U ma(:};f/(—( a} J’)ﬁ .. FPC e &’n.// '—w'a.JlJ
o LRI, L. % el kal-ej} (‘m/m-,# mJa bt s CRNL J- ST P— ,J—
./j Jras. o ihrl’ P }Trf,{ qy{yﬂkﬁm-r b e f\fmfagj w—-;'> FAm ﬁ?ffwy/g,&dy o ’D
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kol QL .

4 : . :
ffvcl%c -y / ¢ \:L:}awcu. 3. regel Ay f’mu
U, (“‘P}b be qble = [
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Question #4 (14 points)

- Consider the following combinations of prices and guantities of shoes:

Price of shoes | Quantity of shoes | Total Revenue Q PJ?@}
M "ti{j}.{(. 20 26 526 = tewls
240 22 N o, T I
60 18 lpFo s &t
80 14 1./20 570 X ih
ko, 100 10 - (oo / »_hmw
W™ V120 6 S0 | - 1e

lculate the total revenue TR for each price level. (3 points)

B. Calculate the price elasticity of demand when the price of.shoes increases from $20 to
elasticity). (4 points) 226/ Qa2 j Piz20/ Po sits)

e

v 218 _
ﬁ-"]’lg Yo ~Te ":}3;"% 7! t é%?@ g’?;é
R 0(»‘5 fﬂﬁA
/\ Yne (asd

C. Calculate the price elastr(gxty of demand when the price of shoes increases from SlOO t0 $120 usmg pomt v '

elasticity). (4 points) Proioe — Py = .*24) C@ = o / G2

ol - ;f;.*.m , 2357

}?;’[HM’?/( il}\ e {ashvi,
e

D. What happens to total reverue as price increases? (3 points) - 1 |
By v ff{\uﬁg L evrva— Sron b”@ &, Lu,) Ahe Todw \":,Zﬂ )
< n t5
Ai"" Il" Cvpiiy &fav\ ( fg% ‘:‘:@ ‘g}f”) ) Pf - } R — J’ Cling &

welasd e dlis
Pevon

bwd  ben ™ Cncmeac &0 (_i"d v /Zv) i TR e vy
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Section 1: Multiple Choices (60 points)

1. The economizing problem is one of deciding (=3 how to make the besT use Of (e sl Jumil 383 448)
) unlimited resources to satisfy (#8) unlimited wants.
C(t}) limited resources to satisfy unlimited wants.
} limited resources to safisfy limited wants.
(D) unlimited resources to safisfy imited wants.

2. In the simple circular flow model:
(A)] households are buyers of resources, X
businesses are sellers of final products.
(C) households are sellers of final products.
(D) there are real flows (&g <iis) of goods, services, and resources, but not money flows, X

Which is one of the main characteristics of the market system?

(A) central economic planning

(B) ,Jlmn’rs on freedom of choice (DYl 4= Je a4

(C) $he right to own private properly (il sl 3=

(D) an expanded role for government in the economy (su=@il b LaSall )5 )

SJJ

— A\ b
4. By definition, an inferior good is a < ,L \ >\A
{A) normail substitute good. =
@ good for which demand decreases when ifs price rises.
(CLGood for which demaind unchanged (&4 Y) when price increase.
C/bood for which demand decreases when income increases.

&

It the quantity demanded exceeds (o= yﬁi the quantity supplied, then there is
(A) a shortage and the price is above the equilibrium price. - \_ 5 C‘r" ,
B) a surplus and the price is below the equilibrium price. ‘
@u shorfage and the price is below the equilibrium price.
a surplus and the price is above the equilibrium price.

(28

The more substitutes avdilable for a product [ ddull dilal e 5N 45), 4 G i
(A) the larger is its income elasticity of demand. Q)'ZD C\Q Ecj)
(B) the smaller is its income elasticity of demand. — q 9.~ '(\ /
(C) the smaller is its price elasticity of demand. Z;CJ - e \9

@the larger is it's the price elasticity of demand <

7. When the price of oil is $’>0 a barrel (del), 25 mtlhoq_!gﬁc@_g;rgggmanded each day, buf when the price of
oil is $30 a barrel, only 20 20 million barrels are demanded. We can conclude that the demund for ¢ oil is
{A) perfectly inelasiic '

(B) elastic g 20 56 2 B Qo 4 P_ﬁij—l“
1CYinelastic. "*Z%? LP ’ / Qo © ‘ f) & \
CrD) unit elastic o T e £ 'A\’\ 5_‘_ e )

- ix” 3 = e

ok x T =

8. When the producey of milk increase ) ’fhe price of n‘s milk from $2 per bottle ’fo $2 5 per bottle, the result is
(A) a decrease in demand for milk = T -

B) increase in demand for milk «

(C) decrease in quantity demand for milk ,:

B) increase in quantity demand for milk 2 q\
/

9. A iechnologrca! improvemenf(u=ss saw o) lowers the cost of producing coffee. At the same time,
consumers' preferences {Hlghud! &) f??% offee increase. The equrhbnum price of coffee will

@nse fall, or stay the same, depentiing 6n the relative size of The s shifts in the demaind and supply curves.
(B) remain the same {ut (i),

(C) fall. B
{D) rise. [V{W'\t_(‘f}é'b




10. Which of the following could explain (. o ¢S the shift in the production possibilities frontier shown in Figure
from AC to AB?
(A) Technical improvements in both petroleum and clothing production A<
(B} A productive improvement|is=tsyi s in clothing production that has no effect
on petfroleum production
(C) A decrease in the size of the labor force (Ll g4)) that can produce either

j petroleum products or clothing

Clothing
-3

Technical improvements in petroleum production that has no effect on
clothing production

¢ B
11. The income elasticity of demand for Jewelry is 2 Other things equal, g 1 rgﬁ@@man’r Fatraieum
increase in consumer income will: e

{A) decrease the quantity of jewelry purchased by 20 percent. E >> ‘2_ PKQ

(B} increase the quantity of jewelry purchased by 10 percent.
C

decrease the quqnhty of jewelry purchased by 10 percent o \ o

12. Let Qa stand for the quantity demanded, Qs for the quantity supplied, and P stand for price. If Qq = 20-2P
and Qs = 5+ 3P, then the equilibrium price is

Af$2 P< =
(j‘j: $4
(D) $! /“é = 2

13. If arise in the price of good! decreases the quantity of good 2 demanded,
the cross elasticify of demcsnd is negmiv\,
good 1 is an inferior good. B w» - >

(C} good 2 is an inferior good. j A E%\ % =" -
{D} the cross elasticity of demand is DOJII’IVE} '

w supply for a good is elastic, nAN Q /]\

a 5% increase in price resulfs in a 5 % increase in total revenue. ’ ,75

(B) Supply elasticity is less than 1. !

{C) a5 %increase in price results in a 5 % decrease in total revenue.

(D) a 5% increase in price does not change total revenue.

15. When a societly cannot produce all the goocdls and seivices people wish 10 have [ lale dpasll G ws ), it is said
ihat the economy is experiencing(o- =) '
@ Scarcity
(B} Shortages
{C) Inefficiencies
{D} Unemployment

16. The markei system’s answer fo the fundamental question "What will be produced?” is essentially:
( A)) Goods and services that are profitable {:) "i\%> \C
Low cost gocds and services.

{C) Goods and service that can be produced using large amounts of capital, -

(D) Goods and services that possess lasting value (L ). N
= -\:\Q\f v

17. Statement One "The govemmen% should intervene to preven’r f i dmm) further increcises in oil prices."”

(A) Statement one s positive and s‘ro’remen’f two is normative. 5‘3 . B

(B) Statements one and two are both positive

C } Statement one is normative and statement two is positive

) Statements one and two are both normative




18. An efficient economy is an economy
(A) that distributes (z5%) output equally (ssdll) among all consumers.
(B)in which output is steady (<) or growing (s<i) and there is low inflation.
fthat produces what consumers demand and does so (¢ ) at the least possible cost.
(D) in which there is a fair distribution of wealth {350 dile &),

19. Good A and good B are substitutes in production. If the price of good A decrease then,
(A) increases the demand for good B.

(B) decreases the demand for good B. P{/A ! DB\'\/ 3 /\>
[C) increases the supply of good B. vV o /
(D) decreases the supply of good B. 67@:?}
Z/ Ty B
20. If good A s Gn/lfnfertor good . Good A and good B are comglemerﬁs which of the following will causes the

demand curve for good A o shift totheright 2 bh"ﬁ
(A} Anincrease in N the consumer income P b ¥ \gh

B) A decrease'in the price of good A
A decrease in the price of good B
)

An increase in the price of good B

—

(/—“"\.

21. Suppose that the demand for Toothpasfe increases by 38%, when consumer w@é decreases from ‘3)2 qOO
m 2 0()0 What is the pnce elashcnty of demcind for toothpaste? :
{ p

; 2 AL 99 2220
(C) 7.98 9, /éé/ e M

—_— e R e

(D) 798 C)O\\ (L{J Voo
;/ o
22. Which is characteristic (i;mu—_) of a product whose demand is elastic? 2/
(A) The price elasticity coefficient (Jd) is less than 1 X _—
{B) Total revenue decreases if price decredses.

(C] The product has fewer substitutes (i i),
QD )} The percentage change in quantity is greater than (o= ,8)) the percentage of change in price.
J .

23. Which of the following would be ¢ microeconomic fopic?
(A} an increase in total production in the Palestine >
(B} a drop in the unemployment rate [l Jae. jmtezs)
—han increase in the price of the Volkswagen Golf to the demand for Golf
) a drop in inflation {a=i) %

24. Refer to the production possibiliies frontier in the figure below. Which point indicates (s bad )
unemployment and inefficient point2
{A) Points A, and D
(B) Points B, C, and E

?Poim‘ A
) Poinis A, and E

an
Capital goous

30 a0
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Section II: Short Answer Questions (40 points) ¢show your work

Question # 1( 24 points)

Based on the following graph which represents the supply and demand schedule for one seller tmd Jéne buyer mf coffee

answer the questions below. LIS
[ e G TR (0

, 5o
§ g'fﬂL;.._«%E'i"’;‘i‘.‘gi!"ﬁ_i . g Supnly ; -y e 50@ 1 \Z.B;l \:QL(’::
: " - oo
- = A b IR s vEN - £
- e @ T¢. \SS 1o fo
P 7 3 ,__,?3 \ | Q 200 QP \DD LR
\ s o . e o 250 %5‘“’ o\ L2-o5%

50 100 180 doo qu\ 500 350
st Quonlily

Part A: Fillin the Blanks (J= & )l oy 000 et il Jesh)

a. Whatis the equilibrium price?u% éw% /. What is the equilibrium guantity @ S‘%%
b. Suppose that government set a price of $4, Is this price is c@é’e?@ﬁor price ﬂoo?ﬁ \5_ i/fé _C,,ggi\ V1%

At this would there be a shortage or a surplus? Q’\@ ﬂ%/#ﬁy« ;
How much is the size of this shortage or surplus? L — = joo < wa

T/‘\b = —#%c_) ?@1 o

c. Suppose that consumer income incredse, ’rhq-ﬁedds tme demand for coffeéd i by 100 units cﬁ
—f—"'_-__——"—.-—‘—‘—_\ B

— == /—-_»—"'_“"‘-""-\ﬁ

each price level, thﬂ is the new equilibrium price and quantity 2

Equilibrium price = @W Y KRs Cy QB
J Fioy > o

s s ty 2 . f q 2 B> 2D

Equilibrium quantity | da - s

/ %@,MSC’
d. if the price equals $10, what is the excess supply ‘2 5‘9 Gl ““\LH 2> E

g e
%

H

s %
&. Calculate total revenue when price of coffee is $613_S_§-\( P 7
s g )Q \5 O '
f. Suppose thatt g
ppose tha h@re GrWnd Mn coffee market. What is fhe market equilibrivm price?

’,v"‘
) (jﬁ \/ijd what is the market equilibrium quantity 5%«%565;7,
\ [ =

v

)




Pcirt B: Complete the table (J a1l Js))

Each of the evenls listed in the fable has an impact on the market for Coffeé. For each event, indicatle

incregse, decrease unchanged or uncertpin for coffee. (s LS s sxusTE5Ny QBT e Ts 56 aas 46 Lol gall e S
#

] '\/ 1> \l S ’Q Demand Supply Equilibrium price | Equilibrium quantity

A decrease in ThewTea c\-e(..«gé&—ﬁh& ol | d&%L \gh[ﬁyﬁﬁ\{\

The governmen?jn?g;m?toxes o =7 . ] '

fluscon i) ON p@dwcers of | N0 g K CL\EQ‘ ’ %\’\Cyél&; d Yeade.
bl :

coffee _

The expectation that the price & Lo

of coffee wil be rise%\s in the C“W\% @é& ?“Q\%/ LY V\E‘K)S\&f\

future % )g A L " L
/—Vr =R i )

= &4

Part C: Calculate the following based on the above fighier { show your work)

Jal A8k ol aa I A ce Gant 5ol Jlo o gl callall adl Siludt JSEN e slaieyl

a. Calculate e price elasticity of demand for the price increase from $4 to $6. Is 4 e demcmd MGS’(IC on

\l\k:ashc;? R u/———/——\—/m T o
Q, ot /

; @9/ X (L"’(P\ Lot ¢\ | 7()

@Q;\"Q ?q/ P |

. | g o
15000 x Uko /= —

\ Bo~+ Q00 ‘ %/é Q}g&&/

b. Using total revenue test to lndlca’r,a,{AAA), is demond elastic, inelastic or units elcsshc if pnce
increase from $2 to $4 A A PR S WL, Ve VY

PG«J

6



Question # 2( 16 points) \\\-V/\

i

The below table shows production combinations on a country's production possibilities frontier

Type of product Production Alternative
A B M E F
Banana 0 20 40 60 80 100
Camera 70 (&5 55 38 18 0
b S

a. Draw {eJl) a production possibility frontier with Banana on the horizontal axis ( &% s~ and Camera
0 . w
Chyee Q) the vertical QXIS (gl psaadll)  Comnpviin

- @m,mé‘g: O W

= Je D =
A

=510 O
L
13 ‘*'f‘\—r..

1. Can the Country produce 60 Carnera and 40 pounds of Banana? Is production this point is efficient?

. TS B e ) e cuve

po

If the Country producing at alternativ B) what is the opporiunity cost of producing one more
Camera®e

3. Whatis the opportunity cost of increasing the output of Banana f{@(ﬁbﬂ_o@poundse
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1. The basic coordinating mechanism in a free market system is

a)

-

——  —————

quantity »

price.

a central government authority.x”
the corporation.

2. The law of c_iemand states that:

a.
h
e

C

price and quantity demanded are directly related.

the larger the number of buyers in a market, the lower will be product price.

consumers will buy more of a product at high prices than at low prices.
price and quantity demanded are inversely related.

3. The main function(3&k s) of the entrepreneur is to:

a.

d.

create market demand&”
innovate.

purchase capital. L~ ’
make routine pricing decisions.X

\ L.

4. Suppose that as the price of Y fzlls from $2.00 to $1.90 the quantity of Y demanded increases

fro

a.
b.
c.

m 110 to 118. Then the price elasticity of demand is: L AQ 2. 68

304l 2 Qy- @, - o - ig=le o 3LOP-CH

2.09. = =3 ¥z U = 1 - By
| LR\ \ A0

4.00. QRN R .

137. ‘ Py & _n —O:

1. T 3.q

5. "When the price of a product falls, the purchasing power of our money income rises and thus

permits consumers to purchace more of the product." This statement describes:

a.

@

(i
d.

an inferior good. . P
the income effect. O Q?DE) i 6.6 256
C) the rationing function of prices.
the substitution effect.

Q@f‘"}] nlesly ¢

6. In which instances wil] total revenues decline? \\;

a.
b

4

Price rises and E4 equals .41

Price rises and demand is of unit elasticity
Price fzlls and demand is elastic

Price rises and E, equals 2,47

——



Use the following to answer question 7:

Fice
<

Quantity

7 . An increase in quantity supplied (as distinct from an increase in supply) is depicted by a:

/ a shift from S1 to S2.
shift from S2 to S1.
c. move from point X to point y.
move from point y to point x.

8. The price elasticity of demand coefficient indicates (i)
a. buyer responsiveness to price changes.;”
b. how far business executives can stretch their fixed costs. X
@ the slope of the demand curve, x
d. the extent to which a demand curve shifts as incomes change.

9. Suppose he mco\@i@;&gﬂmﬁaemand for toys is +2.00. This means that:
./ a 10 percent increase in income will increase the purchase of toys by 20 percent.

toys are an inferior good. !
c. a 10 percent increase in income will decrease the purchase of toys by 2 percent.

a 10 percent increase in income will increase the purchase of toys by 2 percent.

Use the following to answer question 10:

........................... T A

RESOQURCE

MARKET :

ooy :

: v E \ 4
BUSINESSES [ HOUSEHOLDS |

: ? ) N

“|PRODUCT
MARKET

(4)




10. Refer to the above circular flow model of the economy. In the diagram flow (1) represents:

a. consumer expenditures.
b. goods and services.
c. land, labor, capital, and entrepreneurial ability.

Wagc, rent, interest, and profit income.
11. A positive income elasticity of @mgfnd coefficient indicates (! ) that:
a5 H e

a. A product is an inferior good

B) A product is a normal good

c. Two products are substitute goods

d. Two products are complementary goods

; 1‘7
&é:: The law of increasing opportunity costs states that:
P( b. ifthe prices of all the resources used to produce goods increase, the cost of producing any
particular good will increase at the same rate.
¥ c.  ifthe sum of the costs of producing a particular good rises by a specified percent, the price of
that good must rise by a greater relative amount.

the sum of the costs of producing a particular good cannot rise above the current market price

Cd
of that good.

ﬁ@ if society wants to produce more of a particular good, it must sacrifice larger and larger
amounts of othsr goods to do so.

13.  An increase in consumer incomes will;

a.increase the demand for an inferior good.

b.increase the supply of an inferior good.
crease the demand for a normal good.

d.decrease the supply of a normal good.

14, Macrceconomics approaches the study of economics from the viewpoint of?

a. the operation of specific product and resource markets.
b. individual firms.

the entire economy.
d. governmental units.

15."Productive efficiency" refers to:

the use of the least-cost method of production.
b. production at some point inside of the production possibilities curve.
¢. the production of the product-mix most wanted by society.
d. the partial employment of all available resources.



—>
16. A rightward shift in the demand curve for product C might be caused by: \ll
a. adecrease in the price of a product that is complementary to C.
)
a decrease in the pnce of a product that is a close substitute fof C.)

“a decrease in income if C is a normal good.
% an increase in income if C is an inferior good.

Use'the following to answer question 17:

Capital goods

b Consumer goods

17. Refer to the above diagram. This economy will experience unemployment if it produces at point:
b) A o
c) B.
d) C.

O>

18. Which of the following is a distinguishing feature 5 s 2ba

of a market system?

a._ central planning. >
private ownership of capital e~

¢. public ownership of all capital N
d. al of the above

19. An improvement in production technology will: . o D
@ shift the supply curve to the right.
shift the supply curve to the left.
c.  shift the demand curve to the left.
b. increase equilibrium price.

20. Suppose the P@W for crude oil is 2.5. How much would price have to rice to
increase production by 20 percent? i SR

@ 8 percent (Z jZD

12.5 percent
20 percent
45 percent

fu, €




21. Which of the following is NOT considered as major factors of production?

a. Labor.

b. Capital.

c. Land.
Money

4
7?y
22. Atthe point where the demand and supply curves intersect: /T

a. the buying and selling decisions of consumers and producers are inconsistent with one
another.
(b.  the market is in disequilibrium.
@ there is neither a surplus nor a shortage of the product.
d. quantity demanded exceeds guantity supplied.

$2.00]

Price (per gallon}

0 2 20 27 28 30 35
Millions of Gallons of Milk Per Week

23. Refer to the above diagram. If the price were $2 per gallon, there would be a:

a. Shortage of § million gallons
b. Shortage of 10 million gallons
c... Surplus of 10 million gallons
Surplus of 8 million gallons Which is not a determinant of demand?

24. The concept of opportunity cost is based upon (e Lix) the principle of

a. Need.

b. Consumption.
c) Scarcity.

d. Profit,



PART i PARL L1 (40 pts.)

1. Given the following production possibilities table:

PRODUCTION ALTERNATIVES

[ Product | A IE c B E
| Pizza Ts 1 > A ] > ”

(hundred ’ [Q"’j[/ . ;T-\d

thousands) =

Robots 10 g 5 1 5
Lthousands} J [ (7'\ »_(wll B T 7

If the economy is at point C, what is the cost of one more pizza? Show your work

a. ift i ,
T ————.

(3pts.) AQQ\)AS ) 5 ’__\4— ﬂ‘u‘

b. If the economy is at point C, what is the cost of one more robot? Show your work

(3 pts.)

2. What happens to price and quantity when: (3 pts.each)

{ Fill in the blanks and show with graph) %

a.fSuppéy increases and demand decreases™d,

Price: _m?@e olﬁd Cﬂ\bé%

Quantity: NLeol e

\

y



b. Demand increases and supply decreases

Price: °5§ Ydease S V/
Quantity: 1O i:&»_\‘;i

AN

c. Demand increases and supply decreases

—

Price: Uﬂgk!ﬂf““s9§ﬁ” U
Quantity: A \fﬁgc 5.

d. Demand decreases and supply decreases equally

-

Price: wuh gl!@y%&l"‘\,ﬁ:f_du
Quantity: de cleases .
v

e. Demand increases and supply increases egually

Price:__ () @gﬂ%@eﬁ L’:";ch

Quantity: Vd{ense S

e

3. How would the following ciianges in price affect tetal revenue(TR)? Does TR
increase, decrease, or stay unchanged? (2 pts. each) ? i

Price falls and demand is inelastic. | A %ol %&)emwe Oﬂ‘ﬁ C(E@

=l ——

oy

Al

) )
7 Price rises and supply is efastic ),O\d_l ﬂ\w@ﬂwe_ i C[QA/S‘(J/
c. Price rises and demand is elastic o LDJZ R eveme Oﬁe lgpsk

o




{, Price rises and demand is jnelastic \ronsl feum

, ineceer”

)7 e -
o~ 'y \*’\(—’ ‘i
&. Price falls and demand is elastic X/okvﬂ Aeden L/

S

A

4
4, True or False ; circle the correct answer ( 3 pts. each)

a. A cross elasticity coefficient of zero suggests that the two goods are

substitute goods.

True /

b. A positive cross elasticity coefficient means the two goods are
complementary goods.

c. A negative income elasticity coefficient means the good is an inferior good.

False
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1. The price e}léegticity of demand coefficient indicates (Lsk):
(@ buyenra%gaonswe &ss to price changes.
b. how far business executives can stretch their fixed costs.

c. the slope of the demand curve.
d. the extent to which a demand curve shifts as incomes change.

2. Macroeconomics approaches the study of economics from the viewpoint of:
a. the operation of specific product and resource markets.
b. individual firms. |
& st Fgeomn
@ governmental unifs.

t one
@ The law of increasing opportunity costs states that:
WE /@) ifthe prices of al! the resources used to produce goods inerease, the cost of producing any

particular good will increase at the same rate.
b. if the sum of the costs of producing a particular good rises by a specified percent, the

price of that good must rise by a greater relative amount.
¢. the sum of the costs of producing a particular good cannot rise above the current market

price of that good.
j @ if society wants to produce more of a particular good, it must sacrifice larger and larger
amounts of other goods to do so.

Use the following to answer question 4:

Capital goods

Consumer goods

4. Refer to the above diagram. This economy will experience@if it produces at point:
2} A. -
b) B.
o) I
D.
€)
5. An improvement in production technology will: .
{3 shift the supply curve to the right.
b.  shift the supply curve to the left.
c.  shift the demand curve to the left.
d) increase equilibrium price.




Use the following to answer guestion 6:

Ed
<

........................... Lo im‘%@w

------------------

: RESOURCE :
;1 MARKET \§1
in () . W/ )

£y

: = .
BUSINESSES HOUSEHOL?_J
i )

: PRODUCT ;
: MARKET ;

---------------------------------------------------------------------------

(4)

6 . Refer to the above circular flow model of the economy. In the diagram flow (1) represents:

consumer expenditures.

goods and services.

land, labor, capital, and entrepreneurial ability.
wage, rent, interest, and profit income.

ST

O /|
7. The concept of oppon Tity cost is based u upon (= hi-.tﬂ) the principle of

(@wp o P

Need.
Consumption.

AR
[¥a]
8
g,
G

.
v
-y
o
W
et

8. Which of the following is NOT considered as majo:mm@i V'

a) Labor, &
b) Capital.
¢} Land
/d)) Money
(D Moneyy
e
\ @ The basic coordinating mechanism in

free market systeny is

a} quantity.

(bj price.
¢} aceniral government avthority,
d) the corporation.

10 . An increase in consumer incomes will:

a. increase the demand for an inferior good.

b.increase the supply of an inferior good.
@increase the dernand for a normral good.

d.decrease the supply of a normal good.



11, Which of the following is a distinguishing feature 8 jyes dda
of a market system?

a, central planning.

b.\~private ownership of capital,

c. public ownership of all capital.
d. all of the above -

12."Productive efficiency" refers to:

the use of theTeast-cos fyethbd of production.
e B S | . - ag egeye
b. production at some point inside of the preduction possibilities curve.
¢. the production of the product-mix most wanted by society.
d. the partial employment of all available resources.

13, At the point where the demand and supply curves intersect:

a. the buying and selling decisions of consumers and producers are inconsistent with one
another.
b. the market is in disequilibrium.

(€) there is neither a@uéh;? nor a shortage df. tnm

d. quantity demanded exceeds quantity supphed
i f
i
14, In which instances will total revenues decline? @ @B @ I

a. Price rises and By equals 41 mDﬂgq Vo
b. Price rises and demand is of unit elasticity
€. Price falls and demand is elastic

. /[
@Pric_@ rises and By equals 2.47 — elash a 2

S R A T

%

i
!
a
l
i
|

0 28) 27 28<\ 35
7 Millions of Gallons of Mill/Per Wesk

&8s @ @




13 Refer to the above diagram. If the price were $2 per gailon, there would be a:

a. Shortage of 8§ million gallons
b. Shortage of 10 million gallons
(t/ Surplus of 10 million gallons
d. Surplus of 8 million gallons Which is not a determinant of demand?

16.  Suppose th¢price e_lg_s_tic:tj:f of sﬁpply) for crude oil is 2.5. How much would price have to rise to

increase production ‘
L ;.‘ 2)/_ :S B \,-{ bl %
. AL B ) g0 . 170 ”
8 percent AN G ety & ?
b. 12.5 percent : T 1 b
o LA U .

((; [2;2 percen: J A :.-—"‘“c /,/

h percen S it @

u e ifj/ {
17. "When the price of a product falls, the purchasing power of our money income rises and thus

<, PErmits consumers {0 purchase more of the product.” This statement describes:
& & .. = . :

“ a._ an inferior good.
- the income effect.

c. C) the rationing function of prices.

d. the substitution effect.
18. The law of demand states that:

a. price and quantity demanded are directly related.

b. the larger the number of buyers in a market, the lower will be product price.

¢. consumers will buy more of a product at high prices than at low prices.
(42 price and quantity demanded are inversely related. Y

-

. 51— - Ls P
£ S i g S P o —
_ : wegeak (L) (4R F o,
19, Suppose the/income elasticity of demand for toys is(+2.00. This'means that: '}, * :

@ a 10 percentdncreage in income will fncrease the purchase of toys by 20 percent.

b. toys are an inferior good.
¢. a 10 percent increase in income will decrease the purchase of toys by 2 percent.
d. a 10 percent increase in income will increase the purchase of toys by 2 percent.

V% ,
20 Suppose that as the price of Y falls.from $2.00 to $1.90 the quantity of Y demanded increases

a. 3.94.
b, 2.08.
c. 4.00.

D 1.37,




21. A rightward shift in the demand curve for product C might be caused by:

(&) adecrease in ihe@ a product that is complementary to C.
b. adecrease in the price of a product that is a close substitute for C.
c. adecrease inincome if Cisa normal good.
d. an increase in income if Cis an inferior good.

Use the following to answer question 22:

Fice

Quantity @ _;"’*'A ‘
2
22 . An increase in quantity supplied (as distinct from an increase in supply) is depicted by a:

a. ashift from S1 to S2,
b. shift from 82 to S1.
~ ¢. move from point x to point y.
@ move from point y to point x.

L. &
t
23. A positive income elasticity of demand coefficient indicates (M ) that:

a. A product is an inferior good
(B! A product is a normal good
c. T'wo products are substitute goods
d. Two products are complementary goods

24. The main function(*&k 5) of the entreprencur is to:

create market demand.

—

innovate.
purchase capital.
make routine pricing decisions.

poo By p




PART II: (40 pts.)

PP/

1. Given the following production pOSSlb!IEUDS tanle

PRODUCTION ALTERNATIVES

Product A B /C,\}» D E

Pizza 0 1 | 2 3. 4

(hundred Co -'

thousands)

Robots 10 E 5 1 0

(thousands) ' S

a. If the economy is at point C, what is the cost of one more pizza? Show your work e
(Bpts ) ’ : "—y\/

LA Ry = 2 Rs
LU\J&WP\%@F PANEE,
B \ _ 5 . ':—‘ti__ . 'Llyl\\ @»a

\\

i \ .

Z- 1 i\//

b. If the economy is at point C, what is the cost of one {ﬁor_e robot? Show your work

(3 pts.) ,
v e e :
/_.;,”":.'_P/ﬁ—_ﬁ__..,.x‘ -f,,._A-——“-"—-"‘_.» e L )

06@@ (\\'&‘\V“JTU‘ (s #5;\’____-——-; .

3

(Fillin t%‘e h!anks and show wuh greph) ‘
I,
a. Supply mcreases and dem ad decreases

Price: (’5( Ceinle W

Quantity: = (&t / \
1%

-
\
L=



4 0 G ¢ @l

b. Demand increases and supply decreases

/
>

Price: &%—; Seedans / {/ '
Quantity:_ LN e {’\;\ /

C”

c. Demand increases and supply decreases

Price: _ KW {zise
Quantity:_UsanCeafw 7

a <€ \ s
d. Demand decreases and supply decreases equay; \>/I/

Price: \opmEoasan

Quantity:: 7) e lees® /

f/i\r}l;\q (_\19 QU

a. Demand increases and supply mcreasns@

Price: Ussste=man X ,/

_\
Qe fantaty Ty Lo §7 7

<§ | ]

o = ok (1D /o
3. How would the following€hanges in priceaffect totaitevenue(TR)? Does TR

increase, decrease, or stay unchanged? (2 pts. each) /f(
| ' ey A8 C\W\"‘Q\?

EANEY RO

,, aged cl&wJ 3
a. Price falls and demand is meiastlc Lt:@v\‘“ g W\y
\‘J\G k\"—‘d\k\ C}fi’u\‘m\i\ B é\mxﬁqé“ NN Qﬁaf s Lgé (_,(”(ﬁ(ﬂf‘ﬂp 52

< 1 Q i

N b. Price rises and supply is elastic » "B ccnuse B elasXy S
e S we G Ko B Qusesie TQGECe 40 <R A f&S e
o) e

c. Price rises and demand is eia«trc _ o P I ey
i NG g er g¥ ., ":E‘FM
@D ECeaaSe ¥ ﬁk& S'\ TENNs e;'/é‘ \«-‘Qi\‘“‘?-ft k\ \(\‘d e A f

- ___’_,‘;.(_ﬁ;
ﬁ P e o & Q\:\*\\'\Q\f e N(Tew So \ ‘fé"




oAfce
d.

e. Price falls and demand is elasmc KL\“KCL“"S? o

4. True or False ; circle the correct answer ( 3 pts. each)

d.

C.

KO0 (70 e Iw(lase
ij € Y\l\? e © \il-’ Q\l £
Price rises and dernand is inelastic

L W
e\\_&,\—b&s\f( ) cﬂc sV N\

0 QT Se TR snckess
s ) R_: C\\‘cﬁﬁf\c" < ‘-—i \ P
Cﬂ:f@gcﬂﬁ,o W T *

£ =

A cross el t\ﬂ, coefficient of zero suggests that the two goods are
substitute goods '

True a!sj /

A positive cross eiastlcn:v coefficient means the two goods are
caffiplementary goods.

True @é /g @

. . fie: IS i F; . .
A negative-income elasticity coefficient means the good is an inferior good.

/’Trf./@ﬁ False

L e s

e

rEaa e e
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Miss. Shireen Al Basha (Section 1)
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Dr. Riyad Musa (Sec;f:on 4)

PART I': Multiple-choice questions (50 points).
Circle the best answer for each of the following questions:

ci; -,:;h it:"‘

1. The économizing blsm_ls concerned with (- aa.u“) -

how society uses its unlimited resources to sa'tisfy its unlimited wants.

a.
b. how society uses its unlimited resources to satisfy its limited wants. %
c. how society uses its limited resources to satisfy its limited wants. >,
how society uses its limited resources to satisfy its unhmlted wants.
how to get a good grade in your economic courses. A -
&
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2. The mone mcome of Miss Amal has increased last month. She now buys more of proaubhnd less of produc@
AssummU other things remain unchanged, it can be concluded (z4%=3) that

C.

a3 Product X is a normal good and product Y is an inferior good.&=

Product Y is a narmal good and product X is an inferior good.
Products X and Y are substitute goads.

d. Products X and Y are complementary goods.

€.

Products X and Y are independent goods.

3.  Which of following statements is a ormative statement?

The price of vegetables (2l 5 p=3 Thcreases during the month of Ramadan (Ol 5e),

d;
b. Ifthe price of cheese (A=) decreases, the demand for eggs will increase.
c._ Other things equal, higher interest rates (343! J~sf) reduce the total amount of borrowing (U= 1),
C{E/J We should boycott (#=15) Israeli p;oducts to encourage (a+%) local products (‘Uluﬂ Ciladiadly | :
€. According to the law of demand, the increase in tuition (Rsslali 2w ;) will cause a decrease in the number of
students attending universities (Claslad 12 .
Figure } Figure 2 Figure 3 Figurs 4 Figure 5

. TR
4. Which of the above figures represenf éenecﬂy mel&sﬁlefdemand curve?

a. Figure 1 e
b Figure 2 =0
c. Figure3 s
d. Figured DA - e B
e. Figure 5 oy &
. NG
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5. Ifthe supply and dﬁ‘."'lal’ld curves for a product both decrease, we can say that:
a. both equilibrivm quaau‘v and equilibrium price must decrease.
b. both equilibrium quantity and equilibrium price must increase.
/’4."" equilibrium quantity must decrease, but equilibrium price may either rise, fall, or remain unchanged.

d.  equilibrium price must decrease, but equilibrium quantity may either rise, fall, or remain mmhanged
e. equilibrium price must increase, but equilibrium quantity may either rise, fall, cr remain unchanged.

6. Mm@wouid increase if f\f*“ P C( .
a7/ Price rises and demand is inelastic. ; ; ok Ny, elastC
R

b. “Drice s and dernand is inelastic.

c. Price rises and demand is elastic. |/ i ,\C/{G\ s
d. Price falls and demand is unitary elastic. Sk R /T W
e. Pricerises and demand is unitary elastic.
p.p.C Bl _
7. Interms of a production-possibilities curvegeﬁ_@w be represented (i) by
a. apoint inside the production-possibilitics curve. .
b. apoint on the production-possibilities curve. ’% )
c. apoint outside the production-possibilities curve. ‘a’/j/
d. ashift of the production-possibilities curve to the left. i

@ a shift of the production-possibilities curve to the right.

e
g If me: price of cheese is eipected to increase in the future, this will TS5
@) increase the demand for cheess now 3‘”"‘"‘”’&\ @
b. decrease the demand for cheese now 5.
c. increase the quantity demanded now D’?‘
d. decrease the quantity demanded now

&

make cheese an inferior good
{/qu'lnc h of following statements applies (L= G5 to néxcr/oeconemlcs?
The unemplyment rate (33 Ja=s) in Palestine exceeded (Js425) 25 percent last year.
b National mcoﬂ(e (=53 J2a)) in Palestine has decreased sharply during the last few years.
(@ Bad weather {52l 2kl in Palestine caused (- cu=5) the price of olive oil (0543l “u)) to increase this year.
d. InJordan, average price level (mﬂaw{n rate o2 Ja=<) did not change much this year.
e. High interest rate (34l j=w) caused /prwate investment to drop sharply (= JS& (i35,
b B, &
10. If tne@ of shirts tncreased by y 50%, then :
the demand curve for shirts will shift to right, but the supply curve will not shift
the demand curve for shirts will shift to left, but the supply curve will not shift
the demand curve for shifts will shift to right and the supply curve will shifi to left at the same time
the demand curve for shifts will shift to left and the supply curve will shift to right at the same time
~;16uheL tne demaz’d curve nor the SLpp]y curve will shift
Sbs) { AN
deﬂ@_‘Eﬁﬁ%“Ve is bowed out (concave) from the origin because : R ;f

the economy is growing over time

of the law of increasing costs.

the economy is not producing efficiently.
IESOUTCES are Scarce. '
fesources are not scarce.
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12. Suppose Tea and Coffes are substm.tes while Tea and Sugar are complements. Which of the following wil, causs
(st ) the demand for Tea to decrease'i‘,\1
a. Anincrease in the cdst oﬂproducmo Téa. ~
{

b. Anincrease in the pnce of Tea. . AN
¢. Anincrease in the price of Coffee. 2 "

@ An increase in theffice of Sugar, ,— B ST .
€. Anincrease in consumet, incomes. o f%” @ =
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13. iftae Bﬂlcﬁw supply

for freezers is equal to 4, then a 10% increase in price of freszers will cause the quantity

‘supplied’to y ’ /
a. Increase by 0.25% ) /: s »\g) o {5%'
b. increase by 2.5% (/\/HF f' I~ - L e e
(’7 14 increase by 40% ‘“:;:%’;3__ , N {3 -@%
,/"" d. decrease by 2.5% : _{;‘D//? (/j - N
e. decrease by 40% ; : G (
v A

. 14. The demand for a product is fpore glastic. A
a. ifthere are few or no close substitutes for the product. 4
b. ifit represents small proportion (U= ¢ =) of consumer’s budget. X
c. ifitis a necessary product.
if its price is very low. .
@ in the Jong run L compared & JLA)  with the short run. =

a. Private propérty of resources. ¢~ .
3 Government ownership of the major industriss (R i letiall).
Freedom of enterprises and choices..—"
d. Competition in product and resource markets. -~
Price mechanism in achieving (Js=3") society’s goals.

A
16. For h@ 1% | R
. a. price elasticity of demand is positive & [ . > & AY
b. income elasticity of demand is positives_ Kol W
c. Cross elasticity of demand is positive » ST /T“
@) income elasticity of demand is negative .
D €. ~ Cross elasticify of demand is negative
17‘ Whlch of the following is a@csomce in ecmomlcs'?
a tractor (U= <58 5) USed by a farmer.
b. seeds planted by a farmer (g ! el Loe s 3U I
CZ) natural gas (erxbll &) ¢
a building used by a farma to store ((x.35) seeds (U
c. pipes (L.aeb‘z' used to transport (%) natural gas from one country to another. s¢_
jgf e oG A =
18. he cross_elasticity ¢ o?demanﬁew%m IG};)SL k,ola aﬂa Coca—Cola. is
ay positive
negative
Zere
d. infinity (3dei ¥ Ls)
€. can be negative, posiiive, or Zero

£

19. In the circular flow mode],
"a.  households are buyers of resources.
(b businesses are sellers of final products.
¢. households are sellers of final products.
d. both businesses and households are sellers of final products.
» g. both businesses and households are buyers of resources.

72?’3‘! Consider the following statement: “Demangﬂ increases, causing prices to rise. Higher prices cause demand to fall.
h Therefore prices fall back to their original levels (la¥ Wl e (N el 3
£%5 This statement is correct (=s>=) always.

b.  This statement is carrect ounly if demand is inelastic.

c. This statement is correct only if demand is elastic.

d._-This statement is wrong because when demand inereases, prices do not rise.

/. Trins statement is wrong because when prices rise, demand does not fall :Q
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FPART II: Essay questions (50 points) » = . .
Answer the following questions in the space provided. SHOW YOQUR WORK! ’

-

(25 points) - iy
1, 7 /&\
Answer the next questions on the basis of the data given in the following production poss1b)htxes tabul?fc’)r—gﬁ’en counfry:
Capital Consumer iR
Alternatives | Goods Goods i
A 5 0 0
AL Fg I é" ~
E* 4 @:\& é’ = 48| A
AC 3 184/ - ;ﬁf’*m»\ r
&> 2 2 ) G
B AOY g
E 0 30 ) . ol d@]
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a. Draw the production possibilities curve (PPC) for this country on the graph above.

%

B
b. Ifthe economy is producing at production altemativa/@; )in the above table, what is the oppcrmmty cost an extra unit

(Aila] 532 5) of capital goods? Show votr calculations!

C)g( e b Iy ConsSumer Jam‘; l% 2 A ‘ i £ J i
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¢. Ifthe economy is producing at production alternative (B) in the above table, what is the opportunity cost an extra unit

(Failz) 82 5) of COH»HHWUGE_TWOUl calculations! IR Y
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d. Can this country produc;/ 9 Units of consumer goods and 3 units of capital goods? ,1 2.5 T

Show this combination on the above graph and label it as (W), L "

What is the oppoﬁumggf one exfra unit of conswmer goods in this case? Why?

O\C= 26 betammm. ok Uhis punl (559 Dok
[
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c. Compare alternatives (B) and (E) in the abovetable, which alternative tends to generate (=2 i) a more rapid i
,~-“\\°mw‘h (204) rate in the future? Why?
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Consider the following market demand amji/ supply yveﬂcn Chickens /Quantltles are in tons and prices in dollars.
I 3
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a. What is the equilibrium quantifji? G Faps and price? !{j}) 3 ' PO : N

5?:’:»-1 iy
b. Suppose that government lmposed (;_;a_)—fj A pﬁgﬁﬁc of 20 dollars, would there be @or a surplus at this
price? Why? How much is the size of this shottage or surplus? (Show your calculatlon)
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c. Calculate the midpoint price efasticity of supnly when the price ranges (7s'%) between $20 and $25 (Show your
calculation) Is supply elastic, inelastic or unit elastic in this price range? Why? e Ho 3
f P4 & /éf
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d. Calculate the midpaint price elasticity of demand when the price ranges (zs_5%) between ‘Eﬁ and $15. (Show your
calculation) Is demand elastic, inelastic or unit elastic in this price range? Why? 7, - gp //
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e. Suppose the government decided to give s(ﬁtdy SidyP(p=2 digs) to farmers who raise (o) chickeds. What i 15 ﬂ*e hkely

effect of this subsidy on the market for chickens? (Write: increase, decrease, or no change).
/

° The demand of chickens: A, /z.lf‘i;y@%f;f/d
o The supply of chickens: _ja Cr Cace /
¢ The equilibrium price of chickens: _,fe (* (e x (/

o The equilibrium quantity of chickens; Y L Cx e .

Show this effect on the ABOVE sraph (label the new curves/ﬁs’ﬁ‘ S5




